" = 3R R L

—— = — Ningbo YH Hydraulic Machinery Factory =

,,A
d |
- —

Ningbo YH Hydraulic Machinery Factory

Add: Jiangshan Town, Yinzhou District, Ningbo, China
Tel: +86-574-88450192

Mobile: +86-15158322675

Fax: +86-574-88450192

Email: sales@yh-hydraulic.com

Skype: vera201106

Web: www.yh-hydraulic.com




Ningbo YH Hydraulic Machinery Factory

7

SAE 100R1A

& f: REEAKRE. —BENLEARFIMNREHN
B A EFEEREREME, &EMH,
#him, HEH, Ak, BEE,

T{EBE: -40C -+100C -
S Z4r#E: SAE 100R1A TEERSS YH saE 100r1A
M BEHLCR pos322

Ningbo YH Hydraulic Machinery Factory(YH for short) is adjacent to the

Construction: This hose consists of an inner tube of oil synthetic rubber, a single wire braid reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
beautiful Donggianhu Scenic Area, 20km away from Ningbo Lishe International hydrocarbons etc.

Airport, and less than 30km away from Beilun Port. Working Temperature: From --40°C up to +100°C
Reference Specification: SAE 100R1A

YH covers a wide field of the hydraulic system, including hydraulic hoses,

Outer Appearance: Black linen type

hose connectors, transition joints, quick fittings, hydraulic fittings, hydraulic
ferrules, precision high-pressure nuts and bolts, and imported seal parts of
various materials, pressure grades and sizes.. Different processes are used

i i i itti i ial fitti BNER S WeLEER HME 5 =, vz
during manufacturing, such as straight fittings by cold pulling, special fittings by Nominal Inside diameter | Reinforcement |Outside diameter| “orking 401 71 burst St
intermediate frequency electricity heating forging, nuts and bite-type fittings by Diameter A4 Diameter mm AL P2 pressure P2 Rad
cold extruding and machining_ Min Max Min Max Min Max Min Max Max min
YH has a group of highly qualified designers and staffs. Insisted on "Quality > | 3/16 46 >4 8.9 101 119 | 135 210 420 84.0 20

, . ) , 63 | 1/4 6.2 7.0 106 | 117 | 151 | 167 19.2 384 76.8 100
First, Customer First", YH has achieved computerized management of
. . . . _ N 8 | 516 | 77 8.5 121 | 133 167 | 183 17.5 35.0 70.0 115
production and sales, with a series of CNC machine tools and high-precision 10 | 358 93 101 145 | 157 190 | 206 157 314 628 125
lathes. 125 | 1/2 12.3 13.5 175 | 190 | 222 | 238 14.0 28.0 56.0 180
Our products are exported to the Europe and the United States, especially 16 | 5/8 15.5 167 | 206 | 222 | 254 | 270 10.5 21.0 42.0 205
Germany, ltaly, Britain and Russia that are in the field of the automotive 19 | 3/4 | 186 | 198 | 246 | 262 | 294 | 310 8.7 174 34.8 240
. . , . : e 25 1 25.0 264 | 325 | 341 | 369 | 393 7.0 14.0 28.0 300
industry, engineering machinery industry, shipbuilding industry, etc.
o ] . . . 315 | 1.1/4 | 314 330 | 393 | 417 | 444 | 476 43 8.6 17.2 420
With high-quality products, favorable prices, and nices services, YH warmly 8 | 112 | 377 303 | 256 | 480 c08 | 520 35 70 14.0 500
welcomes you, our friends to join us for better future. 51 2 50.4 520 587 | 619 651 | 683 26 5 103 630




IR IE R IR

Ningbo YH Hydraulic Machinery Factory

R i &

’/) Ningbo YH Hydraulic Machinery Factory ’/)

SAE 100R1AT SAE 100R2A

& #: KEANKE. —BRNLELAZIMEEAR . & M REANKE. MENLEAZFINEEAR.
M A ETHXRERENEE, ®EH, M A ETHERERGNE, &IEHH,

#Rid, EEH, I, BRES, gAm, EER, IR, BRESE,

TIERE: -40C -+100TC T1ERE: -40C -+100T

%R SAE 100R1AT SR SAE 100R2A

s M BEHLOR s M BEHLK

YH sae 100R1AT YH SAE 100R2A

Construction: This hose consists of an inner tube of oil synthetic rubber, two wire braid reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc.

Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R2A

Outer Appearance: Black linen type

Construction: This hose consists of an inner tube of oil synthetic rubber, a single wire braid reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc.

Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R1AT

Outer Appearance: Black linen type

suse | pe AREE o | TEED | g e gume | w mamEe | ose | TEED e | BEE ] soem

Nominal Inside diameter [ Reinforcement | Outside teceure DrOG Fecsure be Nominal Inside diameter | Reinforcement [Outside diameter| - o Proo Feceure Min. bend

Diameter mm Diameter mm | diameter mm | P MPa z P MPa 2 Diameter Diameter mm mm P MPa z P MPa Radius
Min | Max Min Max Min Max Max Max . min Min | Max Min Max Min Max Min Max Max . i

5 3/16 4.6 54 8.9 10.1 12.5 21.0 42.0 84.0 90 5 3/16 4.6 54 10.6 117 151 16.7 35.0 70.0 140.0 90
6.3 1/4 6.2 7.0 10.6 117 14.1 19.2 384 76.8 100 6.3 1/4 6.2 7.0 121 133 16.7 183 35.0 70.0 140.0 100

8 5/16 7.7 85 121 133 15.7 175 35.0 70.0 115 8 5/16 77 8.5 137 149 183 19.8 29.7 594 118.8 115
10 3/8 9.3 10.1 145 15.7 18.1 15.7 314 62.8 125 10 3/8 9.3 10.1 16.1 173 20.6 222 28.0 56.0 112.0 125
125 | 172 123 135 175 19.0 215 14.0 28.0 56.0 180 125 | 172 155 135 19.0 20.6 238 254 245 49.0 98.0 180
16 5/8 15.5 16.7 20.6 222 27.7 10.5 21.0 42.0 205 16 5/8 123 16.7 22.2 23.8 27.0 28.6 19.2 384 76.8 205
19 3/4 18.6 19.8 24.6 26.2 28.6 8.7 17.4 34.8 240 19 3/4 18.6 19.8 26.2 27.8 31.0 325 15.7 314 62.8 240
25 1 25.0 26.4 325 341 36.6 7.0 14.0 28.0 300 25 1 25.0 26.4 341 357 385 409 14.0 28.0 56.0 300
315 | 1.1/4 314 33.0 39.3 417 44.8 4.3 8.6 17.2 420 315 | 1.1/4 314 33.0 43.2 45.6 49.2 52.4 113 22.6 45.2 420
38 | 1.1/2 37.7 393 45.6 48.0 52.0 35 7.0 14.0 500 38 | 1.1/2 37.7 393 49.6 52.0 55.6 58.7 8.7 174 34.8 500
51 2 50.4 52.0 58.7 61.9 65.9 2.6 5.2 10.3 630 51 2 50.4 52.0 62.3 64.7 68.3 714 7.8 155 31.0 630




Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

’V/) B IE TR E

7

SAE 100R2AT “DIN ENB53 1SN

% 4 REANKRE. RERNLEREMIMNEAMN . & 1 REANRE. —BERLHEARMINIEHN .

M A ETFRERERENE, &EH, M A ETRERERENE, &EH,

#hid, JEEm, ik, BESE. #hid, @R, ik, BESE

T1ERE: -40C -+100TC Y T1EiRE: -40C -+100C ——

SERA: SAE 100R2AT We W  YH SAE 100R2AT £ %474 DIN EN853 1SN s YH Dinensss 1sN

5 WM BEAHLK ' 5 M BEAHLK

Construction: This hose consists of an inner tube of oil synthetic rubber, two wire braid reinforcement, an oil and Construction: This hose consists of an inner tube of oil synthetic rubber, a single wire braid reinforcement, an oil and
weather resistant synthetic rubber cover. weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc. hydrocarbons etc.

Working Temperature: From --40°C up to +100°C Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R2AT Reference Specification: DIN EN853 1SN

Outer Appearance: Black linen type Outer Appearance: Black linen type

syvEE Pz MUREE g | LIEES Ao | mam ZvEE Rz URER sida RN | aemn | PO | g

Nominal Inside diameter | Reinforcement Outside ressurge Proo ressure | Min. bend Nominal Inside diameter | Reinforcement |Outside diameter ressurge ProG ressure | Min. bend

Diameter mm Diameter mm | diameter mm | P MPa — . P MPa Radius Diameter mm Diameter mm mm P MPa — | P MPa Radius

Pa mm Pa mm

Min | Max Min Max Min Max Max Max i Min | Max Min Max Min Max Min Max Max i

5 3/16 4.6 5.4 10.6 117 141 35.0 70.0 140.0 90 5 3/16 4.6 5.4 9.0 10.0 111 125 25.0 50.0 100.0 90
6.3 1/4 6.2 7.0 121 133 15.7 35.0 70.0 140.0 100 6.3 1/4 6.2 7.0 10.6 116 127 141 225 45.0 90.0 100

8 5/16 7.7 8.5 13.7 149 173 29.7 59.4 118.8 115 8 5/16 7.7 85 121 133 143 15.7 215 43.0 85.0 115
10 3/8 9.3 10.1 16.1 17.3 19.7 28.0 56.0 112.0 125 10 3/8 9.3 10.1 145 157 16.7 18.1 18.0 36.0 720 125
125 | 172 123 135 19.0 20.6 231 24.5 49.0 98.0 180 125 | 1/2 155 135 17.5 191 19.8 214 16.0 32.0 64.0 180
16 5/8 155 16.7 222 238 26.3 19.2 384 76.8 205 16 5/8 12.3 16.7 20.6 222 229 24.5 13.0 26.0 52.0 205
19 3/4 18.6 19.8 26.2 27.8 30.2 157 314 62.8 240 19 3/4 18.6 19.8 24.6 26.2 26.9 285 10.5 21.0 42.0 240
25 1 25.0 264 341 357 389 14.0 28.0 56.0 300 25 1 25.0 264 325 341 34.6 36.6 8.8 17.5 35.0 300
315 | 1.1/4 | 314 33.0 43.2 45.6 49.6 113 22.6 45.2 420 315 | 1.1/4 | 314 33.0 393 41.7 422 44.8 6.3 125 320 420
38 | 112 | 377 393 49.6 52.0 56.0 8.7 17.4 34.8 500 38 | 11/2 | 377 393 45.6 48.0 49.1 52.1 5.0 10.0 20.0 500
51 2 50.4 52.0 62.3 64.7 68.6 7.8 155 31.0 630 51 2 50.4 52.0 58.7 61.7 62.5 65.5 4.0 8.0 16.0 630




Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

“DIN EN853 25N DIN ENG53 15T

& f: REAARE. RENLEARMIMNEAM & f: REAAKRE. —ENLRARFIMNREHR
M A EFmERERENEE, &EHR, B A EFWERERENE, &ER,

ghim, AiEHE, Ik, BEE,
TEBE: -40T -+100C
S%kr4&: DIN EN853 2SN

Bhim, T@EHE, Ik, BEE,
TEBE: -40TC -+100C
SE4R4&: DIN EN853 1ST

YH DIN EN853 2SN YH DIN EN853 1ST

5 WM BEAHLK s M BEIMEK

Construction: This hose consists of an inner tube of oil synthetic rubber, two wire braid reinforcement, an oil and Construction: This hose consists of an inner tube of oil synthetic rubber, a single wire braid reinforcement, an oil and
weather resistant synthetic rubber cover. weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc. hydrocarbons etc.

Working Temperature: From --40°C up to +100°C Working Temperature: From --40°C up to +100°C

Reference Specification: DIN EN853 2SN Reference Specification: DIN EN853 1ST

Outer Appearance: Black linen type Outer Appearance: Black linen type

ominal : Reinforcement | Outside diameter Proof e Nominal : - Reinforcement | Outside diameter ProG Min. bend

Diameter Diameter mm mm prﬁj,;:re pressure prﬁjggre Rad Diameter Diameter mm mm p’ﬁjggre S z pr:jégre Radius
Min | Max Min Max Min Max Min Max Max N min Min | Max Min Max Min Max Min Max Max - i i
5 3/16 4.6 5.4 10.6 116 127 141 415 83 165 90 5 3/16 4.6 5.4 9.0 10.0 119 135 25.0 50.0 100.0 90
6.3 1/4 6.2 7.0 121 133 143 15.7 40 80 160 100 6.3 1/4 6.2 7.0 10.6 11.6 15.1 16.7 225 45.0 90.0 100
8 5/16 7.7 8.5 13.7 149 15.9 17.3 35 70 140 115 8 5/16 7.7 8.5 121 133 16.7 18.3 215 43.0 85.0 115
10 3/8 9.3 10.1 16.1 173 183 19.7 33 66 132 125 10 3/8 9.3 10.1 145 15.7 19.0 20.6 18.0 36.0 72.0 125
125 | 172 155 135 19.0 20.6 214 23.0 27.5 55 110 180 125 | 172 155 135 175 19.1 222 238 16.0 320 64.0 180
16 5/8 123 16.7 22.2 2338 24.6 26.2 25 50 100 205 16 5/8 123 16.7 20.6 22.2 254 27.0 13.0 26.0 52.0 205
19 3/4 18.6 19.8 26.2 27.8 28.5 30.1 215 43 85 240 19 3/4 18.6 19.8 24.6 26.2 294 31.0 10.5 21.0 42.0 240
25 1 25.0 26.4 341 35.7 373 38.9 16.5 325 65 300 25 1 25.0 26.4 325 341 371 39.1 838 17.5 35.0 300
315 | 1.1/4 | 314 33.0 43.2 45.6 471 49.5 125 25 50 420 315 | 1.1/4 | 314 33.0 393 417 444 47.6 6.3 125 25.0s 420
38 | 11/2 | 377 393 49.6 52.0 533 55.9 9 18 36 500 38 | 11/2 | 377 393 45.6 48.0 50.8 54.0 5.0 10.0 20.0 500
51 2 50.4 52.0 62.3 64.7 66.0 68.6 8 16 32 630 51 2 50.4 52.0 58.7 61.7 65.1 68.3 4.0 8.0 16.0 630




Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

DIN EN853 2ST DIN EN857 1SC

& f: REAARE. RENLEARMIMNEAM & f: REAAKRE. —BENLRARFIMNREHR
M A EFmERERENEE, &EHR, B A EFWERERENE, &EHR,

ghim, EEH, AR, BEE
TE2EE: —40°C —+100C TERE: -40C -+100T YH EN857 1SC
S#454E . DIN EN853 2ST B %7 DIN EN853 1SC '
s M: BEAHOK M BEAHSK

#him, A, AR, BEE,

YH DIN EN853 28T

Construction: This hose consists of an inner tube of oil synthetic rubber, two wire braid reinforcement, an oil and Construction: This hose consists of an inner tube of oil synthetic rubber, a single wire braid reinforcement, an oil and
weather resistant synthetic rubber cover. weather resistant synthetic rubber cover.
Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion

hydrocarbons etc.

Working Temperature: From --40°C up to +100°C
Reference Specification: DIN EN853 2ST

Outer Appearance: Black linen type

EVEE M RERE oS THEER

Nominal : Reinforcement | Outside diameter working

pressure

HIEEN

Proof

Ve didan
73 burst
pressure

hydrocarbons etc.

Working Temperature: From --40°C up to +100°C
Reference Specification: DIN EN853 1SC

Outer Appearance: Black linen type

—— ; ey P T1EED VB o
BNERF mE MeLEER MR working A 4 burst =

Nominal Inside diameter | Reinforcement Outside pressure B pressure bend

Diameter Diameter mm mm MPa pressure MPa ad Diameter mm Diameter mm | diameter mm MPa e Mpa S
Min | Max Min Max Min Max Min Max Max M min Min | Max Min Max Min Max Max Max e min
5 3/16 4.6 54 10.6 11.6 151 16.7 415 83 165 90 6 1/4 6.1 6.9 926 10.8 13.5 225 45.0 90.0 75
6.3 1/4 6.2 7.0 121 13.3 16.7 18.3 40 80 160 100 8 5/16 7.7 85 10.9 121 14.5 215 43.0 86.0 85
8 5/16 7.7 8.5 13.7 14.9 18.3 19.9 35 70 140 115 10 3/8 9.3 10.1 12.7 14.5 16.9 18.0 36.0 72.0 90
10 3/8 9.3 10.1 le.l 17.3 20.6 222 33 66 132 125 12 1/2 123 135 159 18.1 20.4 16.0 320 64.0 130
125 1/2 15.5 135 19.0 20.6 23.8 254 27.5 55 110 180 16 5/8 15.5 16.7 19.8 21.0 23.0 13.0 26.0 52.0 150
16 5/8 123 le.7 22.2 23.8 27.0 28.6 25 50 100 205 19 3/4 18.6 19.8 23.2 244 26.7 10.5 21.0 42.0 180
19 3/4 18.6 19.8 26.2 27.8 31.0 32.6 215 43 85 240 25 1 25.0 26.4 30.7 319 34.9 8.8 17.6 352 230
25 1 25.0 264 341 35.7 385 40.9 16.5 325 65 300
315 | 1.1/4 314 33.0 433 457 49.2 524 12.5 25 50 420
38 | 1.1/2 37.7 393 49.6 52.0 55.6 58.7 9 18 36 500
51 2 50.4 52.0 62.3 64.7 68.2 714 8 16 32 630




Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

’V/) B IE TR E

7

DIN EN857 2SC SAE 100R17

Z& #: REAAKE. MENLELHEMIREHRK 2 #: RERARE. —ESFENLERENINREHEHRK
B . BFREmEREmE, mEH, N . @TEexREREWEE, &EH, O {COR 1T
ghim, AiEHE, Ik, BEE, Bhim, TAEHE, Ik, BEE,

T1ERE: 40T -+100T Ve 0. T1ERE: 40T -+100T

S5 DIN EN853 2SC B ol S5 SAE 100R17 S —

5 WM BEAHLK ' s M BEMEK

Construction: This hose consists of an inner tube of oil synthetic rubber, two wire braid reinforcement, an oil and Construction: This hose consists of an inner tube of oil synthetic rubber, a single or two wire braid reinforcement, an
weather resistant synthetic rubber cover. oil and weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc. hydrocarbons etc.

Working Temperature: From --40°C up to +100°C Working Temperature: From --40°C up to +100°C

Reference Specification: DIN EN853 25C Reference Specification: SAE 100R17

Outer Appearance: Black linen type Outer Appearance: Black linen type

ZvERE g RUEEE s | RN FEE | g EVER e MUEER s | CIFED | BE | e

Nominal Inside diameter | Reinforcement Outside Proo Min. bend Nominal Inside diameter | Reinforcement Outside ProG bend

Diameter mm Diameter mm | diameter mm prﬁj,;:re — . prﬁj;:re Radius Diameter mm Diameter mm | diameter mm pr::rs):re T . pr(ﬁ;;tajre Dad
Min | Max Min Max Min Max Max Max = i i Min | Max Min Max Min Max Max Max . min

6 1/4 6.1 6.9 10.6 117 14.2 40.0 80.0 160.0 75 6.3 1/4 6.2 7.0 10.0 11.0 13.2 21.0 42.0 84.0 50
8 5/16 7.7 8.5 121 133 16.0 35.0 70.0 140.0 85 8 5/16 7.7 8.5 11.8 13.0 15.0 21.0 42.0 84.0 55
10 3/8 9.3 10.1 144 15.6 18.3 33.0 66.0 132.0 90 10 3/8 9.3 10.1 13.8 15.0 17.0 21.0 42.0 84.0 65
12 1/2 123 135 17.5 19.1 215 27.5 55.0 110.0 130 125 | 1/2 155 135 174 18.8 21.1 21.0 42.0 84.0 90
16 5/8 155 16.7 20.5 223 24.7 25.0 50.0 100.0 170 16 5/8 123 16.7 22.0 23.6 25.9 21.0 42.0 84.0 100
19 3/4 18.6 19.8 24.6 26.4 28.6 215 43.0 86.0 200 19 3/4 18.6 19.8 26.1 27.7 30.3 21.0 42.0 84.0 120
25 1 25.0 264 325 343 36.6 16.5 33.0 66.0 250 25 1 25.0 264 34.0 35.6 38.6 21.0 42.0 84.0 150




12

7

R i &

Ningbo YH Hydraulic Machinery Factory

GB/T3683.1-2006 12

g #H: REANKRE, NLRAER, SMREHM.

M A EFWmERERE, Wz, KEH,

#hH, TR,

ik, KEE,

T1ERE: -40C -+100C

SEfRkE: GB/T3683.1-2006 1 &
s . BEHmoiR

Construction: rubber hose is composed of inner rubber layer, steel wire braid layer, outer rubber layer.
Applications: it is applicable for conveying the hydraulic fluid such as alcohol, hydraulic oil, emulsion, water and so on.

Working Temperature: From --40°C up to +100°C
Reference Specification: GB/T3683.1-2006 Type 1

Outer Appearance: Black linen type

YH GB/T3683.1-2006 1

MARINE : BB
: THEEHD | RED RAMERIES .
= Reinforcement Min. bend
5 A PP B.P.
diameter radius
mm mm mm MPa MPa MPa mm
6-1 6.3 15 11.6+0.5 20 40 80 100
8-1 8 17 13.6+0.5 17.5 35 70 115
10-1 10 19 15.6+0.5 16 32 64 128
13-1 125 23 19.5+0.6 14 28 56 180
16-1 16 25 22.5+0.6 12 24 48 205
19-1 19 29 25.6+0.6 10 20 40 240
22-1 22 32 28.5+0.6 9 18 36 280
25-1 25 36 31.9+0.6 8 16 32 300
32-1 315 43 39.2+0.8 6 12 24 420
38-1 38 49 45.2+0.8 5 10 20 50
51-1 51 62 58.3+1.0 4 16 630
64-1 64 76 72.0+1.0 2.5 10 800
76-1 76 89 84.0+£1.0 15 6 920

7

R i &

Ningbo YH Hydraulic Machinery Factory

GB/T3683.1-2006 2z

& . REHNRE, NLRAER, IMREHM.

M A EFEERERE, Wz, &EH,

#him, JEEHE, AR, kEE

TERE: -40C -+100T

SEFRME: GB/T3683.1-2006 2 &
5 . BEBLOK

Construction: rubber hose is composed of inner rubber layer, steel wire braid layer, outer rubber layer.

YH GB/T3683.1-2006 2

Applications: it is applicable for conveying the hydraulic fluid such as alcohol, hydraulic oil, emulsion, water and so

on.

Working Temperature: From --40°C up to +100°C

Reference Specification: GB/T3683.1-2006 Type 2
Outer Appearance: Black linen type

MLRME : BBk
: TEED | HEES R/ANERES .
= Reinforcement Min. bend
5 W.P. PP B.P.
diameter radius
mm mm mm MPa MPa MPa mm
6-2 6.3 17 13.4+0.5 35 70 140 100
8-2 8 19 15.4+0.5 32 64 128 115
10-2 10 21 17.4+0.5 28 56 116 128
13-2 125 25 21.3+0.6 25 50 100 180
16-2 16 27 24.0+£0.6 20 40 80 205
19-2 19 31 27.0+0.6 16 32 64 240
22-2 22 34 30.0+0.8 14 28 56 280
25-2 25 38 33.4+0.8 14 28 56 300
32-2 315 45 41.0+£0.8 11 22 44 420
38-2 38 51 47.0+£0.8 9 18 36 500
51-2 51 64 60.0+1.0 8 16 32 630
64-2 64 74 78.0+1.0 5 10 20 800
76-2 76 86 91.0+£1.0 4 8 16 920

13



Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

g #H: REANKRE, NLRAER, SMREHM. % f: REHAKRE, NENLEARFIMIEHM.
M A EFWmERERE, Wz, KEH, M A EFEERERE, Wz, &EH,
#him, A, AR, kEE #him, EEHE, Ak, BEE,

YH GB/T3683.1-2006 3

T/EREE: -40C -+100C By Wy M TIERE: -40C -+100TC - I TR
SE47fE: GB/T3683.1-2006 3 & S%4R#: DIN EN856 4SP

o W BeEmLk s W BEMSUK

Construction: rubber hose is composed of inner rubber layer, steel wire braid layer, outer rubber layer. Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and
Applications: it is applicable for conveying the hydraulic fluid such as alcohol, hydraulic oil, emulsion, water and so on. weather resistant synthetic rubber cover.

Working Temperature: From --40°C up to +100°C Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
Reference Specification: GB/T3683.1-2006 Type 3 hydrocarbons etc.

Outer Appearance: Black linen type Working Temperature: From --40°C up to +100°C

Reference Specification: DIN EN856 4SP
Outer Appearance: Black linen type

= 7 y TEEN IR E
=V0=4 =] S a2/ BNER MLEER Mz - =/ \25
WSS T1EES HIEED B/INBIRE S AT T P e s v Reinforcement | Outside diameter V\Ir(;g;lt?rge Proo j:rjelzgt:i}e hﬁiifﬂ\b%e%d

= Reinforcement : - Min. bend Diameter Diameter mm AL . MP pressure | " Radi

- a MPa adius

Pa mm

P o o diameter UL AR B radius Min | Max Min Max Min Max Min Max Max i

12 | 172 | 155 135 | 194 | 210 | 238 | 254 415 83.0 166.0 230

mm mm mm MPa MPa MPa mm 16 | 5/8 | 123 167 | 230 | 246 | 274 | 290 35.0 70.0 140.0 250

6-3 63 19 15.0£05 45 20 180 100 19 | 3/4 | 186 198 | 274 | 290 | 314 | 330 35.0 70.0 140.0 300

83 8 21 17.0+0.5 40 80 160 115 25 1 25.0 264 | 345 | 361 | 385 | 409 28.0 56.0 112.0 340
10-3 10 23 19.0+0.5 35 70 140 128

31 | 11/4| 314 330 | 450 | 470 | 492 | 524 210 420 184.0 460
13-3 125 26 229+0.6 30 60 120 180

38 | 112 | 377 393 | 514 | 534 | 556 | 588 185 37.0 74.0 560
16-3 16 29 26.0+0.6 23 46 92 205

o3 " . Y 5 v = a0 51 2 50.4 520 | 643 | 663 | 682 | 714 16.5 33.0 66.0 660
22-3 22 36 32.0+0.8 16 32 64 280
25-3 25 40 35.0+0.8 16 32 64 300
32-3 315 47 425408 12 24 48 420
38-3 38 53 4854038 10 20 40 500
51-3 51 66 61.5+0.8 9 18 36 630




Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

DIN EN856 4SH SAE 100R9A

# M. REANKRE, DERNLELAZIMNREHRK. & M REANKE, DERLERAEFINEHY
Jﬁ Fﬁ: ﬁ?ﬁﬁﬁﬁ}iiﬁﬁ:, ﬁuﬁgs ﬁEﬂﬁ ] F—‘IZ Fﬁ: iﬁ?ﬁ%iﬁ}iiﬁﬁ:, juﬁ%, iﬁEiE ’
#hid, JEEm, ik, BESE. #hid, JEEm, ik, BES
TRRE: 40T —+100 RN YH bin Enss6 4sH T1ERE: -40C -+100C YH
_ SAE 100R9A
S 4R : DIN EN856 4SH : &4 SAE 100R9A
o W BEmLR s W BEASUK
Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and
weather resistant synthetic rubber cover. weather resistant synthetic rubber cover.
Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc. hydrocarbons etc.
Working Temperature: From --40°C up to +100°C Working Temperature: From --40°C up to +100°C
Reference Specification: DIN EN856 4SH Reference Specification: SAE 100R9A
Outer Appearance: Black linen type Outer Appearance: Black linen type

TAEED R

RENUE ZFES WLEER MR . =
THEEH RHE H Inside diamet Reinf, t | outside | ™I 5 Aburst | bend
%)\{Efé %Mﬁ%ﬁ?ﬁ . 9M§ working 'Litgﬁf:_tjj jj— burst = o ose nside diameter einrorcemen utsiae — 00 pressure IN. ben
Igligmler]czlr Inside diameter mm Ela‘n;%rf;mrﬁ;t OUtSId(ren?rLameter pressure | Proof | pressure in. bend Size mm Diameter mm  [diameter mm o oressure e Radius
MPa prﬁjsure MPa ad P3 mm
a
Min Max Min Max Min Max Min Max Max min mm Inch Min Max Min Max Min | Max Max
19 3/4 18.6 19.8 27.6 29.2 314 33.0 42.0 84.0 168.0 280 125 1/2 15.5 1355 194 21.0 | 238 | 254 28.0 56.0 112.0 180
25 1 25.0 26.4 344 36.0 37.5 39.9 38.0 76.0 152.0 340 19 3/4 18.6 19.8 26.6 28.8 30.6 | 32.2 21.0 42.0 84.0 240
31 1.1/4 314 33.0 40.9 429 439 471 32.5 65.0 130.0 460 25 1 25.0 26.4 345 36.1 38.5 | 40.9 21.0 42.0 84.0 300
38 1.1/2 37.7 39.3 47.8 49.8 51.9 55.1 29.0 58.0 116.0 560 31.5 1.1/4 314 33.0 433 45.6 492 | 524 17.5 35.0 70.0 420
51 2 50.4 52.0 62.2 64.2 66.5 69.7 25.0 50.0 100.0 700 38 1.1/2 37.7 39.3 49.6 52.0 55.6 | 58.7 14.0 28.0 56.0 500
51 2 50.4 52.0 63.9 66.2 69.9 | 73.0 14.0 28.0 56.0 660




18

Ningbo YH Hydraulic Machinery Factory

SAE 100R9AT

& H: REAARE, NENLEREFIKEAMK,
M H: BETWXEERE, M2, KEH,

#hid, EEH, Ik, BRES,

T/EREE: -40C -+100C

S%EFRHE: SAE 100R9AT

s M BEH/LK

YH SAE 100R9AT

Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc.

Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R9AT

Outer Appearance: Black linen type

TEES B E
RERINE AE WL EER MR : = it
: : . . working 73 burst
Hose Inside diameter Reinforcement Outside Proo bend
. . : pressure pressure
Size mm Diameter mm diameter mm pre ad
MPa . MPa
mm Inch Min Max Min Max Min Max Min
125 1/2 15.5 135 194 21.0 243 28.0 56.0 112.0 180
19 3/4 18.6 19.8 26.6 28.8 319 21.0 42.0 84.0 240
25 1 25.0 26.4 345 36.1 40.5 21.0 42.0 84.0 300
315 1.1/4 314 33.0 43.3 45.6 50.7 175 35.0 70.0 420

Ningbo YH Hydraulic Machinery Factory

SAE 100R9R

& . REAARE, NENLERAEFINREARK.
M A STHEREREK, Wi, &KEH,

BRi, EEH, I, BRES,

T1ERE: -40C -+100T

S%FR4E: SAE 100R9R

s M BEHLK

YH SAE 100R9R

Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc.

Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R9A

Outer Appearance: Black linen type

ﬁgr(n%irﬁ q P Reﬁ%%?cegrﬁnt Outsidgl\g?ameter %gﬁl(:'_tnjg D jljg Q%Et
Diameter [nside diameter mm Diameter mm m pr:j;:re o SOt prﬁ/ls;:re

Min | Max Min Max Min Max Min Max Max .

125 | 1/2 15.5 135 203 21.2 23.8 254 415 83.0 166.0 180
16 5/8 123 16.7 234 24.6 27.7 29.3 39.0 78.0 156.0 225
19 3/4 18.6 19.8 274 28.8 31.2 32.8 35.0 70.0 140.0 280
25 1 25.0 26.4 34.8 35.8 38.5 40.9 31.0 62.0 124.0 355

315 | 1.1/4 314 33.0 424 44.0 46.3 48.7 28.0 56.0 1120 460
38 | 1.1/2 37.7 39.3 48.7 50.3 53.3 54.7 26.0 52.0 104.0 560
51 2 50.4 52.0 62.2 63.8 65.8 68.2 21.0 42.0 84.0 710

19



Ningbo YH Hydraulic Machinery Factory

SAE 100R12

& f: REAARE, NENLEARMIMNREAM
M A EFWmERERE, Wz, KEH,
#him, A, AR, BEE,

TERE: -40TC —+100C T2 L YH saEe 100r12
4R : SAE 100R12

S M BEmLK

Construction: This hose consists of an inner tube of oil synthetic rubber, four spiral wire reinforcement, an oil and
weather resistant synthetic rubber cover.

Applications: Hose range suitable to carry hydraulic fluids such as glycol, mineral oils, fuels lubrication emulsion
hydrocarbons etc.

Working Temperature: From --40°C up to +100°C

Reference Specification: SAE 100R12

Outer Appearance: Black linen type

ﬁc?‘rén%fl R(jl?:%)%egni%nt Outsidzhji%ameter %gﬁ('fnj; j’? g%}it sl

Diameter [nside diameter mm| "o m prﬁ/ls;:re - SO prﬁ/ls;gre o .' ena
Min | Max Min Max Min Max Min Max Max = min
125 | 172 15.5 135 19.9 215 23.0 24.6 28.0 56.0 112.0 180
16 5/8 12.3 16.7 238 254 26.6 28.2 28.0 56.0 112.0 205
19 3/4 18.6 19.8 26.9 284 29.9 315 28.0 56.0 112.0 240
25 1 25.0 264 341 357 36.8 39.2 28.0 56.0 112.0 300
315 | 1.1/4 314 33.0 42.7 451 454 48.6 21.0 42.0 84.0 420
38 | 1.1/2 37.7 39.3 49.2 51.6 51.9 55.0 17.0 35.0 70.0 500
51 2 50.4 52.0 62.5 64.8 65.1 68.3 17.5 35.0 70.0 630

Ningbo YH Hydraulic Machinery Factory

GB/T 10544-2003 4SP

& . REAARE, NENLERAEFINKEAK.
M A STHERERE, N, &EH,

BRi, TEE, LR, KESH,

T1ERE: -40C -+100T

S %R GB/T 10544-2003 4SP

s M BEHLK

YH GB/T10544-2003 4SP

Construction: rubber hose is composed of inner rubber layer, steel wire spiral layer, outer rubber layer.

Applications: it is applicable for conveying the hydraulic fluid such as alcohol, hydraulic oil, emulsion, water and so
on.

Working Temperature: From --40°C up to +100°C

Reference Specification: GB/T 10544-2003 4SP

Outer Appearance: Black linen type

| messe o . Bk
SEIMZ . TIEED | EED =/ANBERESD .
inE= Reinforcement Min. bend
= .D. O.D. _ W.P. PP. B.P. .
diameter radius
mm mm mm MPa MPa MPa mm
4SP-13 13 25.0 20.5+0.7 41.5 83.0 166.0 230
4SP-16 16 28.0 24.0+£0.7 35.0 70.0 140.0 250
4SP-19 19 32.0 28.5+0.7 35.0 70.0 140.0 300
4Sp-22 22 36.0 32.0+£0.8 320 64.0 128.0 320
4SP-25 25 40.0 35.5+0.8 38.0 56.0 112.0 340
4SP-32 32 48.0 43.0+0.9 21.0 42.0 84.0 460
4SP-38 38 54.0 49.0+0.9 18.5 37.0 74.0 560
4SP-51 51 38.0 63.0£0.9 16.5 33.0 33.0 660

21



IR IE iR & H3% INDEX

Ningbo YH Hydraulic Machinery Factory

7

GB/T 10544-2003 4S

5] TYPE K2 PART NO Tk PAGE

SAE100R1AT/EN 853 1SN B & E 00110 23
FERRULE FOR SAE100R1AT/EN 853 1SN HOSE
& A REHARE, WRNLEARMINGREL. SAE 100R2AT/EN 853 2SN BB &R 00210 23
B A BYWEARERE, 08, B, FERRULE FOR SAE100R2AT/EN 853 2SN HOSE
i, iR, AR, KES. L WA SAE100R1AT/SAE100R2AT BRER 03310 24
TAFRE: 40T —+100C . by eyl FERRULE FOR SAE 100R1AT/2AT
%45 GB/T 10544-2003 4SH SAE 100R1AT/EN 853 1SN R ER 00100 24
s W BEmLK SKIVE FERRULE FOR SAE100R1AT/EN853 1SN HOSE
SAE 100R2AT/EN 853 2SN R ER 00200 25
SKIVE FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE
Construction: rubber hose is composed of inner rubber layer, steel wire spiral layer, outer rubber layer.
Applications: it is applicable for conveying the hydraulic fluid such as alcohol, hydraulic oil, emulsion, water and so ROA/ROR, 4P, 4SH/R12 BEER 00400 2
on. FERRULE FOR R9A,R9R,4SP,4SH R12 HOSE
Working Temperature: From --40°C up to +100°C DIN20023 4SH,R12 IREE 00401 26
Reference Specification: GB/T 10544-2003 4SH FERRULE FOR DIN 20023 4SH, R12 HOSE
Outer Appearance: Black finen type DIN20023 4SH, R12 Bt E iR E R 00405 26
INTERLOCK FERRULE FOR DIN 20023 4SH,R12 HOSE
SAE 100R7/R8 #ifg &M E 00018 27
FERRULE FOR SAE 100R7, R8 HOSE
sz | T | e | s | movmmEn | oo FREEER ooTFO “
ifll= Reinforcement Min. bend FERRULE FOR TEFLON HOSE
P " o8 e W o o e R13 B A E SRR 00601 28
INTERLOCK FERRULE FOR R13 STRENGTHEN HOSE
4SH-19 T;n ;f;rg 282::).7 hjza N;Za I\1/|6Ps;a ?sr:; F18 PEREER 00605 e
2SH25 T 387 350207 38 6 15 340 INTERLOCK FERRULE FOR R13 STRENGTHEN HOSE
4SH-32 32 455 420408 325 65 130 460 MR A HISMRES FIRE O BB E 10211 29
4SH-38 38 53.5 48.8+0.8 29 58 116 560 JB METRIC MALE O-RING SEAL
4SH-51 51 67.5 63.2+0.8 25 50 100 700 ERARAHISMEL FEHE O BB 10311 29
JB O-RING METRIC MALE FLAT SEAT
HIRABISMIG T ES O NBBEE 10312 30
JB O-RING METRIC MALE FLAT SEAT FOR SPIRAL HOSE
ABISMEL 740 SMEE 10711 30
METRIC MALE 74° CONE
DNEISMBLL 740 SMEEIELE 10712 31
METRIC MALE 74° CONE FOR SPIRAL HOSE
IAHISMBLL 90° SMETE 10911 31
METRIC MALE 90° CONE
PHISMELL 90° SMNETINK IS 10911L 32

METRIC MALE 90° CONE LONG TYPE




H3X INDEX H3& INDEX

%50 TYPE 5 PART NO TUX PAGE
A SISMELL 740 HEE 1711 32
JB METRIC MALE 74° CONE SEAT
N IRSERE 20111 33
METRIC FEMALE MULTISEAL
A NI SOREE S E 20112 33
METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
45° NI RIRSERE 20141 34
45° METRIC FEMALE MULITSEAL
45° NI NIBEOR L 20142 34
45° METRIC FEMALE MULITSEAL FOR SPIRAL HOSE
90° I NIZLIIKE 20191 35
90° METRIC FEMALE MULTISEAL
90° AHMBLIREELEE 20192 35
90° METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
EHRA S NI T E 20211 36
GB METRIC FEMALE FLAT SEAT
30° EfRAHIRIZLEE 20231 36
30° GB METRIC FEMALE FLAT SEAT
30° ERAHIMIZE P EELEE 20232 37
30° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
45° EHRASINIELEE 20241 37
45° GB METRIC FEMALE FLAT SEAT
45° ERAHINEL FEALE 20242 38
45° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
90° EHFAHINELTE 20291 38
90° GB METRIC FEMALE FLAT SEAT
90° EHFAHINIBY FEESE 20292 39
90° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
EARASINIEL 740 WEE 20711 39
GB METRIC FEMALE 74° CONE SEAT
EARA IR 740 REEEEE 20712 40
GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE
45° EARABINIBS 74° WBE 20741 40
45° GB METRIC FEMALE 74° CONE SEAT
45° ERARINIERL 74° NETEEE 20742 41
45° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE
90° EAFAHINIRS 74° WBE 20791 M

90° GB METRIC FEMALE 74° CONE SEAT

%50 TYPE 5 PART NO TR PAGE
90° EFRAFINIES 74° NEEELE 20792 42
90° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE
Al R IR SR E 30111 42
METRIC FEMALE MULTISEAL
NIl ds A 30112 43
METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
45° LNHIRIESURE 30141 43
45° METRIC FEMALE MULTISEAL
45° NHINIB SR E LS 30142 44
45° METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
90° I FIBLIIKE 30191 44
90° METRIC FEMALE MULTISEAL
90° ZAHIRIBLIR IR 30192 45
90° METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
AR RBLTEE 30211 45
METRIC FEMALE FLAT SEAL
A NIEL T EELEE 30212 46
METRIC FEMALE FLAT SEAL FOR SPIRAL HOSE
30° ERAHINEBLTE 30231 46
30° GB METRIC FEMALE FLAT SEAT
30° EARAHIMIZY T EELEE 30232 47
30° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
45° ERRAHNESTE 30241 47
45° GB METRIC FEMALE FLAT SEAT
45° EIFARNBY FEELE 30242 48
45° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
90° EHRAHIRIBLTE 30291 48
90° GB METRIC FEMALE FLAT SEAT
90° EHRA B MIZLT EELE 30292 49
90° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE
EARA S RIS 740 RSEE 30711 49
GB METRIC FEMALE 74° CONE SEAT
ERRASINIEL 74° REEELEE 30712 o0
GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE
45° ERRABINBE 74° HYEE 30741 50
45° GB METRIC FEMALE 74° CONE SEAT
45° EIRARIKES 74° B EESE 30742 o1

45° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE




H3X INDEX H3& INDEX

%5 TYPE S PART NO TUX PAGE %51 TYPE XS PART NO TR PAGE
90° EHRAHINERL 74° NER 30791 51 NHEINIEL 24° HEE O BEE R 30511 60
90° GB METRIC FEMALE 74° CONE SEAT METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3853(NON-CRIMP)
90° EARAHIMIEL 74° NEEELEE 30792 52 NHEINEEL 24° NEES O REERINELE 30512 61
90° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE METRIC FEMALE 24° CONE H.T. WITH O-RING FOR SPIRAL HOSE(NON-CRIMP)
AHISMESL 24° REERRTI 10411 52 AHIRIZL 24° RHEEERS 30511C 61
METRIC MALE 24° CONE SEAT L.T. DIN3853 METRIC FEMALE MULTISEAL H.T.DIN3853(NON-CRIMP)
AHISMELL 24° RETER R BLEE 10412 53 45° NHINIZE 24° WEEH O WEERS) 30541 62
METRIC MALE 24° CONE SEAT L.T. FOR SPIRAL HOSE DIN3853 45° METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3865(NON-CRIMP)
AHIRIES 24° ETEE O HER R 20411 53 45° ANHIRIES 24° METER O WEERIIBEE 30542 62
METRIC FEMALE 24° CONE L.T. WITH O-RING DIN3853(CRIMP) 45° METRIC FEMALE 24° CONE H.T. WITH O-RING FOR SPIRAL HOSE DIN3865(NON-CRIMP)
45° NHIRIBL 24° REER O HEERT 20441 54 90° AHINIRL 24° REE O HEERT 30591 63
45° METRIC FEMALE 24° CONE L.T. WITH O-RING DIN3853(CRIMP) 90° METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3865(NON-CRIMP)
90° AHIMIZL 24° NEEH O WER R 20491 54 90° AHIMIZS 24° WEEH O WEERIELE 30592 63
90° METRIC FEMALE 24° CONE L.T. WITH O-RING DIN3853(CRIMP) 90° METRIC FEMALE 24° CONE H.T. WITH O-RING FOR SPIRAL HOSE DIN3865(NON-CRIMP)
AHIRIEL 24° RETEH O WERRT 30411 95 AHISMBL 60° RETRABSEAS BHH 10611 64
METRIC FEMALE 24° CONE L.T.WITH O-RING DIN3853(NON-CRIMP) METRIC MALE 60° CONE SEAT WITH BONDED SEAL
45° NHIMIRL 24° NEER O RERERT 30441 %5 AHISMES 60° MEEN A RHEAS REHBLEE 10612 64
45° METRIC FEMALE 24° CONE L.T.WITH O-RING DIN3865(NON-CRIMP) METRIC MALE 60° CONE SEAT WITH BONDED SEAL FOR SPIRAL HOSE
45° NHIMERSL 24° NIEET O BB RIIELE 30442 56 Al RS 60° SMETE 20611 65
45° METRIC FEMALE 24° CONE L.T.WITH O-RING DIN3865 FOR SPIRAL HOSE(NON-CRIMP) METRIC FEMALE 60° CONE(CRIMP)
90° A#INIRL 24° MEEH O HERRTI 30491 6 AHIRIES 60° SMETEEE 20612 65
90° METRIC FEMALE 24° CONE L.T.WITH O-RING DIN3865(NON-CRIMP) METRIC FEMALE 60° CONE FOR SPIRAL HOSE(CRIMP)
90° A%IRIZY 24° MEEH O MERRIIBEE 30492 57 45° EARLABIRIZL 60° SMEE 20641 66
90° METRIC FEMALE 24° CONE L.T.WITH O-RING DIN3865 FOR SPIRAL HOSE(NON-CRIMP) 45° GB METRIC FEMALE 60° FLAT SEAT(CRIMP)
AHIIMBLL 24° REEER RS 10511 57 90° EAFAHIMIZEL 60° SMEE 20691 66
METRIC MALE 24° CONE SEAT H.T. DIN3853 90° GB METRIC FEMALE 60° FLAT SEAT(CRIMP)
DHEIMES 24° WETERRIIELEE 10512 58 AHINIBL 60° SMET 30611 67
METRIC MALE 24° CONE SEAT H.T. FOR SPIRAL HOSE DIN3853 METRIC FEMALE 60° CONE(NON-CRIMP)
AHSMEG 24° WEEELE 10512-SG 8 DHIRES 60° SMETELE 30612 67
METRIC MALE 24° CONE SEAT H.T.FOR SPIRAL HOSE DIN3853 METRIC FEMALE 60° CONE FOR SPIRAL HOSE(NON-CRIMP)
NHIRIRL 24° TS O REERT 20511 59 45° AABINIBLL 60° SMETE 30641 68
METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3865(CRIMP) 45° METRIC FEMALE 60° CONE(NON-CRIMP)
45° AHIRIRGL 24° WEER O MEERY 20541 o9 45° PNHIMIREL 60° SMETBLEE 30642 68
45° METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3865(CRIMP) 45° METRIC FEMALE 60° CONE FOR SPIRAL HOSE(NON-CRIMP)
90° AA#IMERLL 24° T O HEERS 20591 60 90° ARG 60° SMET 30691 69

90° METRIC FEMALE 24° CONE H.T. WITH O-RING DIN3865(CRIMP) 90° METRIC FEMALE 60° CONE(NON-CRIMP)




H3X INDEX

5] TYPE

H3& INDEX

S PART NO

PAGE

3 TYPE £= PART NO TUR PAGE
90° NHINIEL 60° SMETMEE 30692 69
90° METRIC FEMALE 60° CONE FOR SPIRAL HOSE(NON-CRIMP)
FEE R SMELL 13011SW 70
BSPT MALE SWIVEL
B R 13011N 70
BSPT FEMALE
P SMELL 13011 A
BSPT MALE
HEGTIMAGELEE 13012 n
BSPT MALE FOR SPIRAL HOSE
TR RSN 15611SW 72
NPT MALE SWIVEL
g gL 15611N 72
NPT FEMALE
HEEIMEY 15611 73
NPT MALE
T IMNB GBS 15612 73
NPT MALE FOR SPIRAL HOSE
EEIMEL AR 15613 74
NPT MALE INTERLOCK
oSN RS 3R 15613L 74
NPT MALE INTERLOCK STRENGTHEN
HE N IBLKE 22111 75
BSP FEMALE MULISEAL
HE MBI A RS 22112 75
BSP FEMALE MULTISEAL FOR SPIRAL HOSE
45° FERBEKE 22141 76
45° BSP FEMALE MULISEAL
45° BENBLIREELEE 20142 76
45° BSP FEMALE MULTISEAL FOR SPIRAL HOSE
90° HENIBLIKE 22191 77
90° BSP FEMALE MULISEAL
90° HEHIBLIKEBEEE 22192 77
90° BSP FEMALE MULTISEAL FOR SPIRAL HOSE
HEIMEG T EA R AAS BT 12211A 78
BSP MALE FLAT BONDED SEAL
ML TAARBAAS BEHEEE 12212A 78

BSP MALE FLAT BONDED SEAL FOR SPIRAL HOSE

HENELEE 20211 79
BSP FEMALE FLAT SEAT

HENEL FEESE 22212 79
BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

45° HENBLEE 22241 80
45° BSP FEMALE FLAT SEAT

45° BENBELTHELEE 22242 80
45° BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

90° HEEHNIBLTHE 22291 81
90° BSP FEMALE FLAT SEAT

90° EENBYUTEELE 22292 81
90° BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

HESMBL 60° WETMARHEHS BT 12611A 82
BSP MALE 60° CONE SEAT/WITH BONDED SEAL

HEIMEL 60° NEEANAREASETHELE 12612A 82
BSP MALE 60° CONE SEAT/WITH BONDED SEAL FOR SPIRAL HOSE

FERIBL 60° SMEE 22611 83
BSP FEMALE 60° CONE

HENIRG 60° SMETELEE 22612 83
BSP FEMALE 60° CONE FOR SPIRAL HOSE

HERIZL 60° SMETAHIR 22613 84
BSP FEMALE 60° CONE FOR INTERLOCK

45° FEERURL 60° SMEE 22641 84
45° BSP FEMALE 60° CONE

45° FERIZL 60° SMETEELEE 22642 85
45° BSP FEMALE 60° CONE FOR SPIRAL HOSE

45° FEWRIZH 60° SMEE AL 22643 85
45° BSP FEMALE 60° CONE FOR INTERLOCK

90° HEMIBLL 60° SMEE 22691 86
90° BSP FEMALE 60° CONE

90° WENIZL 60° SMEEBLEE 22692 86
90° BSP FEMALE 60° CONE FOR SPIRAL HOSE

90° HERIBLL 60° SMEE MBI 22693 87
90° BSP FEMALE 60° CONE FOR INTERLOCK

BEE RIRLL 60° SMEEN AR 22611D 87
BSP FEMALE 60° CONE WITH DOUBLE HEXAGON

HEENIZL 60° SMERWARELEE 22612D 88

BSP FEMALE 60° CONE WITH DOUBLE HEXAGON FOR SPIRAL HOSE




H3X INDEX H3& INDEX

%5 TYPE S PART NO TUR PAGE %51 TYPE &S PART NO TUX PAGE
90° EHEEMNIRL 60° SMEE 22691K 88 90° ZE#I JIC ML 74° REE AR 26793 100
90° BSP FEMALE 60° CONE COMPACT ELBOW 90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK
90° JEEHEENIBL 60° IMETMBELEE 22692K 89 90° ZE#l JIC RIZL 74° REEABINE 26793L 100
90° BSP FEMALE 60° CONE COMPACT ELBOW FOR SPIRAL HOSE 90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK STRENGTHEN
SAE #f O BBl sMEL 16011SW 89 90° EHEH JIC WIBL 74° NEE 26791K 101
SAE MALE BOSS SWIVEL WITH O-RING 90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW
E%| SAE SMELIHE O BE 16011 90 90° 4E&EH JIC MIEL 74° NEEEEE 26792K 101
SAE MALE WITH O-RING 90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW FOR SPIRAL HOSE
%4 SAE JMBEUH O BIBEEE 16012 91 %4 SAE MBS 90° M 17811 102
SAE MALE WITH O-RING FOR SPIRAL HOSE SAE MALE 90° CONE SEAT
E£4] JIC SMBLL 740 SMET 16711 91 £4) SAE MBS 90° NETELEE 17812 102
JIC MALE 74° CONE SAE MALE 90° CONE SEAT FOR SPIRAL HOSE
£41 JIC SMRLL 74° SMETELE 16712 92 4] SAE SMBSL 90° SMEE 17811L 102
JIC MALE 74° CONE FOR SPIRAL HOSE SAE MALE 90° CONE SEAT LONG TYPE
SEH) JIC MR 74° T 26711 93 ) SAE MIE5L 90° MHEHE 27811 103
JIC FEMALE 74° CONE SEAT SAE FEMALE 90° CONE SEAT
S5 JIC RIBLL 74° WEEBEE 26712 92 4] SAE U2 00° WEEELEE 27812 103
JIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE
45° 4| JIC RIRL 74° WEE 26741 94 45° %4 SAE NIBLL 90° MR 27841 104
45° JIC FEMALE 74° CONE SEAT 45° SAE FEMALE 90° CONE SEAT
45° 41 JIC RIEL 74° REEEEE 26742 96 45° £#l SAE FIBLL 90° MEEELEE 27842 104
45° JIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE 45° SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE
90° ZFE#I JIC MIZL 74° WEE 26791 95 90° ZE#| SAE MUZL 90° HWEHE 27891 105
90° JIC FEMALE 74° CONE SEAT 90° SAE FEMALE 90° CONE SEAT
90° 41 JIC NI 74° NERELEE 26792 96 90° 4] SAE RIBLL 00° MEEELE 27892 105
90° JIC FEMALE 74° CONE SEAT FOR SPIRAL HOSE 90° SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE
£41JIC RIBL 74° AEENAR 26711D 97 %% ORFS SMBLITEE O REZ 14211 106
JIC FEMALE 74° CONE SEAT WITH DOUBLE HEXAGON ORFS MALE O-RING SEAL
41 JIC RIRLL 74° WEFEWA RELEE 26712D 97 £4%1 ORFS SMEGTHE O HERHESE 14212 106
JIC FEMALE 74° CONE SEAT WITH DOUBLE HEXAGON FOR SPIRAL HOSE ORFS MALE O-RING SEAL FOR SPIRAL HOSE
4] JIC REBLL 74° WEEAHR 26713 98 %4) ORFS MBS FHE 24211 107
JIC FEMALE 74° CONE SEAT FOR INTERLOCK ORFS FEMALE FLAT SEAT(CRIMP)
240 JIC MIBLL 74° T RBEME 26713L 98 4] ORFS HIZQ FEELEE 24212 107
JIC FEMALE 74° CONE SEAT FOR INTERLOCK STRENGTHEN ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(CRIMP)
45° £ JIC RIRLL 74° BRI 26743 99 45° %%| ORFS WIZLFE 24241 107
45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK 45° ORFS FEMALE FLAT SEAT(CRIMP)
45° 41 JIC R 74° REFE RS IR 26743L 99 45° %% ORFS WIZG T EELEE 24242 108

45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK STRENGTHEN 45° ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(CRIMP)




H3X INDEX H3& INDEX

%50 TYPE 5 PART NO TUX PAGE %50 TYPE 5 PART NO TR
90° %) ORFS MUBLIEHE 24291 108 45° BAAHINIES 60° NEEBELEE 28642 117
90° ORFS FEMALE FLAT SEAT(CRIMP) 45° JIS METRIC FEMALE 60° CONE SEAT FOR SPIRAL HOSE
90° X#l ORFS MBI FHELE 24292 108 90° BAAHIMIZL 60° WHEE 28691 118
90° ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(CRIMP) 90° JIS METRIC FEMALE 60° CONE SEAT
£ ORFS MIRL FHE 34211 109 90° HALHIMIRS 60° METELE 28692 118
ORFS FEMALE FLAT SEAT(NON-CRIMP) 90° JIS METRIC FEMALE 60° CONE SEAT FOR SPIRAL HOSE
%4 ORFS MBI FEELE 34212 109 B A4 NIBLL 60° M 29611 119
ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(NON-CRIMP) JIS GAS FEMALE 60° CONE SEAT
45° %% ORFS MIZLFHE 34241 110 B IS 60° METEELEE 29612 119
45° ORFS FEMALE FLAT SEAT(NON-CRIMP) JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL HOSE
45° £#%| ORFS NIBL FHELEE 34242 110 45° AAEEHIRIBL 60° MHEE 29641 120
45° ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(NON-CRIMP) 45° JIS GAS FEMALE 60° CONE SEAT
90° 24| ORFS MBS E 34291 m 45° BAZEHIRIEL 60° MEEBLEE 29642 120
90° ORFS FEMALE FLAT SEAT(NON-CRIMP) 45° JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL HOSE
90° 4| ORFS NG FHEELE 34292 111 90° HASEHIPURL 60° MHEE 29691 121
90° ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(NON-CRIMP) 90° JIS GAS FEMALE 60° CONE SEAT
Z4 NPSM R824 60° SMEE 21611 112 90° AAIEH MIRLL 60° MIEEBLEE 29692 121
NPSM FEMALE 60° CONE 90° JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL HOSE
£%) NPSM B4 60° SMETELE 21612 112 Bk L B 88112 122
NPSM FEMALE 60° CONE FOR SPIRAL HOSE JIS FLANGE FOR SPIRAL HOSE
45° | NPSM PIIB4L 60° SMETE 21641 113 45° Bk ZmsE 88142 122
45° NPSM FEMALE 60° CONE 45° JIS FLANGE FOR SPIRAL HOSE
45° | NPSM R#24L 60° SMEEELE 21642 113 90° AHIHEZMEEE 88192 123
45° NPSM FEMALE 60° CONE FOR SPIRAL HOSE 90° JIS FLANGE FOR SPIRAL HOSE
90° 4 NPSM RIZ4r 60° SMETE 21691 114 SAE %2 3000PS| B4 87312 122
90° NPSM FEMALE 60° CONE SAE FLANGE 3000PSI| FOR SPIRAL HOSE
90° 4 NPSM R4 60° S EELEE 21692 114 45° SAE k2 3000PS| 4% 87342 123
90° NPSM FEMALE 60° CONE FOR SPIRAL HOSE 45° SAE FLANGE 3000PSI FOR SPIRAL HOSE
BAAHISMEL 60° SMEE 18611 115 90° SAE 52 3000PSI B4 % 87392 123
JIS METRIC MALE 60° CONE SEAT 90° SAE FLANGE 3000PSI FOR SPIRAL HOSE
BALAHISMEL 60° SMETBLEE 18612 115 SAE %2 6000PS| 5 E 87612 124
JIS METRIC MALE 60° CONE SEAT FOR SPIRAL HOSE SAE FLANGE 6000PSI FOR SPIRAL HOSE
AAAH KIS 60° MEENAR 28611 116 45° SAE 2 6000PS| L 87642 124
JIS METRIC FEMALE 60° CONE SEAT WITH DOUBLE HEXAGON 45° SAE FLANGE 6000PSI FOR SPIRAL HOSE
BAAHIRIZL 60° MEENARELEE 28612 116 90° SAE %2 6000PSI| & 87692 125
JIS METRIC FEMALE 60° CONE SEAT WITH DOUBLE HEXAGON FOR SPIRAL HOSE 90° SAE FLANGE 6000PSI FOR SPIRAL HOSE
45° BAAHIRIZL 60° MEE 28641 117

45° JIS METRIC FEMALE 60° CONE SEAT




H3X INDEX H3& INDEX

%5 TYPE S PART NO TUR PAGE %51 TYPE &S PART NO TUX PAGE
SAE 3% 9000PS| B4 & 87912 125 45° SAE %2 9000PSI izt ng 87943L 134
SAE FLANGE 9000PS| FOR SPIRAL HOSE 45° SAE FLANGE 9000PSI FOR INTERLOCK STRENGTHEN
45° SAE %2 9000PS| B4 87942 126 90° SAE %2 9000PS| Fgiztinig 87993L 134
45° SAE FLANGE 9000PSI FOR SPIRAL HOSE 90° SAE FLANGE 9000PS| FOR INTERLOCK STRENGTHEN
90° SAE 3£ 9000PS| fEL£E 87992 126 I IR Ek B RSk 30011 134
90° SAE FLANGE 9000PSI FOR SPIRAL HOSE METRIC FEMALE WATERWASH INSERTS
SAE %2 3000PS| F#izt 87313 127 AR AR AT Rk 60011 135
SAE FLANGE 3000PSI FOR INTERLOCK MT STAPLELOCK MALE
45° SAE %2 3000PSI Rzt 87343 127 DIN2353 FEXHE 50011 135
45° SAE FLANGE 3000PSI FOR INTERLOCK METRIC STANDPIPE DIN2353
90° SAE ik 3000PSI izt 87393 128 45° FERTE 50041 136
90° SAE FLANGE 3000PSI FOR INTERLOCK 45° METRIC STANDPIPE
SAE %22 6000PSI Rzt 87613 128 90° FEREE 50091 137
SAE FLANGE 6000PSI FOR INTERLOCK 90° METRIC STANDPIPE
45° SAE %2 6000PSI Pzt 87643 129 ek 72011 138
45° SAE FLANGE 6000PSI FOR INTERLOCK BSP BANJO
90° SAE 3% 6000PSI P$izt 87693 129 A#ISEHEEMR DIN7622 70011 139
90° SAE FLANGE 6000PSI FOR INTERLOCK METRIC BANJO DIN7622
SAE %2 9000PSI Rzt 87913 130 XEE S 90011 138
SAE FLANGE 9000PSI FOR INTERLOCK DOUBLE CONNECTOR
45° SAE %2 9000PSI Azt 87943 130 WEEESEEE 90012 140
45° SAE FLANGE 9000PSI FOR INTERLOCK DOUBLE CONNECTOR FOR SPIRAL HOSE
90° SAE %2 9000PSI Rygizt 87993 131 SAE 100 R5 &R ER 00518 140
90° SAE FLANGE 9000PSI FOR INTERLOCK FERRULE FOR SAE100R5 HOSE REUSABLE
SAE %22 3000PS| izt 138 87313L 131 K EE IR AR 13018-R5 141
SAE FLANGE 3000PS| FOR INTERLOCK STRENGTHEN BSPT MALE REUSABLE
45° SAE %2 3000PSI pygizt g 87343L 132 £ 5B IMBGATIR A 15618-R5 141
45° SAE FLANGE 3000PSI FOR INTERLOCK STRENGTHEN NPT MALE REUSABLE
90° SAE %2 3000PSI Pzt insE 87393L 132 HERIBL 60° SMEEWA B ATH 22618D-R5 142
90° SAE FLANGE 3000PSI FOR INTERLOCK STRENGTHEN BSP FEMALE 60° CONE DOUBLE HEXAGON REUSABLE(CRIMP)
SAE %2 6000PS| H =t n3g 87613L 132 24 SAE SMRLL 90° SMETEATIRG 17818-R5 142
SAE FLANGE 6000PS| FOR INTERLOCK STRENGTHEN SAE MALE 90° CONE REUSABLE
45° SAE 352 6000PS| §i= e 87643L 133 24| SAE IR 90° ARG 27818D-R5 143
45° SAE FLANGE 6000PSI FOR INTERLOCK STRENGTHEN SAE FEMALE 90° CONE SEAT REUSABLE(CRIMP)
90° SAE %2 6000PS| Mzt N8 87693L 133 41 JIC SMELL 74° SMERATIRS 16718-R5 143
90° SAE FLANGE 6000PSI FOR INTERLOCK STRENGTHEN JIC MALE 74° CONE REUSABLE
SAE %25 9000PS| Pzt In3g 87913L 133 24 JIC MIBLL 74° RETATHRS 36718-R5 144

SAE FLANGE 9000PSI FOR INTERLOCK STRENGTHEN JIC FEMALE 74° CONE SEAT REUSABLE(NON-CRIMP)




H3X INDEX H3& INDEX

5] TYPE S PART NO TUX PAGE

£4 JIC RIS 74° MEEBS B ATHRS 26718D-R5 144
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON REUSABLE(CRIMP)
90° I JIC WAL 74° WHEEATIFAR 26798D-R5 145
90° JIC FEMALE 74° CONE SEAT REUSABLE(CRIMP)
HHIE MBS 13011-PO 145
BSPT MALE PUSHLOCK
G IMELL 15611-PO 146
NPT MALE PUSHLOCK
HERIBL 60° SMEE 22611-PO 146
BSP FEMALE 60° CONE PUSHLOCK
S SAE MRS 90° WHEE 27811-PO 147
SAE FEMALE 90° CONE SEAT PUSHLOCK
£4) JIC SMBLL 74° SMETE 16711-PO 147
JIC MALE 74°  CONE PUSHLOCK
£ JIC WIELQL 74° WEE 26711-PO 148
JIC FEMALE 74° CONE PUSHLOCK
EARA 6 B EIRE A 2011 one piece 148
GB METRIC FEMALE MULTISEAL INTERGAL FITTING
45° ERRAKINESIKE AR ER 20141 one piece 149
45° GB METRIC FEMALE MULTISEAL INTERGAL FITTING
90° EHRAHIMIELEkE & VER 20191 one piece 149
90° GB METRIC FEMALE MULTISEAL INTERGAL FITTING
ErrAH IR T E A ES 20211 one piece 150
GB METRIC FEMALE FLAT SEAT INTERGRAL FITTING
45° ERRAHIRIZLC P EAR & 20241 one piece 150
45° GB METRIC FEMALE FLAT SEAT INTERGRAL FITTING
90° ERFAHMIELTEARERE 20291 one piece 151
90° GB METRIC FEMALE FLAT SEAT INTERGRAL FITTING
ERARIRIRE 74 HETARLES 20711 one piece 151
GB METRIC FEMALE 74° CONE INTERGRAL FITTING
45° EFRARINIES 740 NETARER 20741 one piece 152
45° GB METRIC FEMALE 74° CONE INTERGRAL FITTING
90° EHFABIRIRLE 74° AEEARER 20791 one piece 152
90° GB METRIC FEMALE 74° CONE INTERGRAL FITTING
HEMIBGEKE A ER 22111 one piece 153
BSP FEMALE MULTISEAL INTERGRAL FITTING

153

45° FEENELERE A ER
45° BSP FEMALE MULTISEAL INTERGRAL FITTING

22141 one piece

%50 TYPE 5 PART NO Tk PAGE

90° RENBLYKEANER 22191 one piece 154
90° BSP FEMALE MULTISEAL INTERGRAL FITTING
HERIELE 60° SMEE AR ER 22611 one piece 154
BSP FEMALE 60° CONE INTERGRAL FITTING
45° FENIEL 60° SMEEANER 22641 one piece 155
45° BSP FEMALE 60° CONE INTERGRAL FITTING
90° WEMIEL 60° IMEEARER 22691 one piece 155
90° BSP FEMALE 60° CONE INTERGRAL FITTING
EH JIC Mg 74° HEEMARER 26711 one piece 156
JIC FEMALE 74° CONE SEAT INTERGRAL FITTING
45° £l JIC MBS 74° REEANER 26741 one piece 156
45° JIC FEMALE 74° CONE SEAT INTERGRAL FITTING
90° E#JIC MIZL 74° HEEATER 26791 one piece 157
90° JIC FEMALE 74° CONE SEAT INTERGRAL FITTING
NEIREELL 24° $HES O BER RS — — BiEfiEL 30411 one piece 157
METRIC FEMALE 24° CONE L.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING
NHEIRERL 24° HEH O RBR AT MEEFEL 30412 one piece 158
METRIC FEMALE 24° CONE L.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING
45° NEIRIRL 24° #EE O BIER RS — R EdiE L 30441 one piece 159
45° METRIC FEMALE 24° CONE L.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING
45° NHIRIRL 24° #ET O BER RSN EE L 30442 one piece 159
45° METRIC FEMALE 24° CONE L.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING
90° NHIMIBL 24° #HEH O MEHR RS — RS 30491 one piece 160
90° METRIC FEMALE 24° CONE L.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING
90° AHIRIRL 24° T O BER R ME E ML 30492 one piece 160
90° METRIC FEMALE 24° CONE L.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING
AHIRIBL 24° FEH O BB RYI—— Bk 30511 one piece 161
METRIC FEMALE 24° CONE H.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING
ABIRIRE 240 T O BIEE R 5N E kL 30512 one piece 161
METRIC FEMALE 24° CONE H.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING

162

45° NEIMRLG 24° #EH O BEERTI——EiEfFiEsk

45° METRIC FEMALE 24° CONE H.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING

30541 one piece




H% INDEX ’V/) ENE R E

Ningbo YH Hydraulic Machinery Factory

X5 TYPE 2 PART NO 1% PAGE

45° AHIANELG 24° WM O HEERTINREEFEL 30542 one piece 162
45° METRIC FEMALE 24° CONE H.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING
90° NHIMIELL 24° EEH O MEE R — B &ML 30591 one piece 163 N
= SAE 100R1AT/EN 853 1SN iR EER
90° METRIC FEMALE 24° CONE H.T.WITH O-RING ONE OR TWO-WIRE INTERGRAL FITTING
‘ : 7 FERRULE FOR SAE 100R1AT/EN 853 1SN HOSE
90° AHIMIEL 24° HEET O BB ERFI MR iEMdEEL 30592 one piece 163 Z
7
90° METRIC FEMALE 24° CONE H.T.WITH O-RING FOUR-WIRE INTERGRAL FITTING
SAE 2 3000PS| —= Btk 87311 one piece 164 L
SAE FLANGE 3000PSI FOR ONE OR TWO-WIRE INTERGRAL FITTING —
, 164 %2 & HOSE BORE R~} DIMENSIONS
SAE ;%2 3000PS| U = i #E k 87312 one piece PART NO. \FRAE DN 17 2 DASH D L
SAE FLANGE 3000PS| FOR FOUR-WIRE INTERGRAL FITTING 00110-04 6 04 19 30
45° SAE % 3000PS| —Z Bk 87341 one piece 165 00110-05 8 05 20.5 32
45° SAE FLANGE 3000PS| FOR ONE OR TWO-WIRE INTERGRAL FITTING 00110-06 10 06 23.2 32
165 00100-08 12 08 27 35.3
45° SAE 7*: 3000PSI Eﬁﬁ:&* 87342 one piece 00100-10 16 10 305 38
45° SAE FLANGE 3000PSI FOR FOUR-WIRE INTERGRAL FITTING 00110-12 20 12 34 442
90° SAE %2 3000PS| — = B ki 87391 one piece 166 00110-14 22 14 37 45
00110-16 25 16 42.6 52
90° SAE FLANGE 3000PSI FOR ONE OR TWO-WIRE INTERGRAL FITTING
00110-20 32 20 50.8 57
90° SAE % 3000PS| MU E & #Ek 87392 one piece 166 00110-24 40 24 58 60
90° SAE FLANGE 3000PSI FOR SPIRAL HOSE FOUR-WIRE INTERGRAL FITTING 00110-32 50 32 72 75
SAE 3% 6000PS| —— Bk 87611 one piece 167
SAE FLANGE 6000PSI FOR ONE OR TWO-WIRE INTERGRAL FITTING m
SAE 32 6000PS| 48455 U 2 i (A i 3k 87612 one piece 167
SAE FLANGE 6000PS| FOR SPIRAL HOSE FOUR-WIRE INTERGRAL FITTING
45° SAE %2 6000PS| — = Bk 87641 one piece 168
45° SAE FLANGE 6000PS| FOR ONE OR TWO-WIRE INTERGRAL FITTING = ) ) SAE 100R2AT/EN 853 2SN iREER
45° SAE 3% 6000PS| B4 U R sk 87642 one piece 168 - FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE
45° SAE FLANGE 6000PS| FOR SPIRAL HOSE FOUR-WIRE INTERGRAL FITTING 2
90° SAE %2 6000PSI — =B ik 87691 one piece 169 .
90° SAE FLANGE 6000PSI FOR ONE OR TWO-WIRE INTERGRAL FITTING
0 sz =T 5 ; 169
90° SAE £ 6000PSI| JE45 %5 MU R & ik 87692 one piece e, B HOSE BORE R~} DIMENSIONS
90° SAE FLANGE 6000PSI FOR SPIRAL HOSE FOUR-WIRE INTERGRAL FITTING PART NO. LFRPAZ DN 1% = DASH D L
00210-04 6 04 20.5 30
00210-05 8 05 22 324
00210-06 10 06 25 32
00210-08 12 08 28.6 35
00210-10 16 10 32 38
00210-12 20 12 36 442
00210-16 25 16 45 52
00210-20 32 20 56 57
00210-24 40 24 62.5 60.5
00210-32 50 32 75 75




24

7

Ningbo YH Hydraulic Machinery Factory

SAE 100R1AT/SAE 100R2AT B HE
FERRULE FOR SAE 100R1AT/2AT

e
re fE HOSE BORE R~ DIMENSIONS
PART NO. NFRAIZ DN % = DASH D L
03310-03 5 03 19 24
03310-04 6 04 23 30.2
03310-05 8 05 24 313
03310-06 10 06 26 32
03310-08 12 08 29 34
03310-10 16 10 33 375
03310-12 20 12 37 43
03310-16 25 16 46 51
03310-20 32 20 59 57
03310-24 40 24 67 60
03310-32 50 32 80 75
00100
- SAE 100R1AT/EN 853 1SN ZIEE
SKIVE FERRULE FOR SAE100R1AT/EN853
7 1SN HOSE
P
e fx& HOSE BORE R~ DIMENSIONS
PART NO. \FRII4E DN #% = DASH D L
00100-02 4 02 17 26
00100-04 6 04 19 30
00100-05 8 05 21 322
00100-06 10 06 23 32
00100-08 12 08 28 34
00100-10 16 10 31 39
00100-12 20 12 36 435
00100-16 25 16 43 50
00100-20 32 20 51 57
00100-24 40 24 57 60.3
00100-32 50 32 70 75

Ningbo YH Hydraulic Machinery Factory

i

D

SAE 100R2AT/EN 853 2SN FIFEER
SKIVE FERRULE FOR SAE 100R2AT/EN

853 2SN HOSE

-
\ Lrrr
L
Ks & HOSE BORE R~ DIMENSIONS

PART NO. ZAFRAE DN #= S DASH D L
00200-02 4 02 20.6 27
00200-04 6 04 21 30.2
00200-05 8 05 24 32
00200-06 10 06 24.5 32
00200-08 12 08 30 34
00200-10 16 10 334 39.2
00200-12 20 12 38 434
00200-16 25 16 46 50
00200-20 32 20 56 57
00200-24 40 24 62 60
00200-32 50 32 75 75

R9A/RIR, 4SP, 4SH/R12 KREER
FERRULE FOR R9A,R9R,4SP,4SH R12

HOSE
.
L
e f& HOSE BORE R~} DIMENSIONS
PART NO. AFRAFE DN #% 2 DASH D L
00400-08 12 08 29 422
00400-10 16 10 32,5 43
00400-12 20 12 38 50.5
00400-16 25 16 46 62
00400-20 32 20 57 70.9
00400-24 40 24 65 75
00400-32 50 32 79 80

25



7

Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

TEAE R E ‘!’I) TEE TR R

00018

N B &S
FERRULE FOR DIN 20023 4SH, R12 HOSE FERRULE FOR SAE 100R7/ R8 HOSE
- LT 7]
L
L
re EXE HOSE BORE R DIMENSIONS e B HOSE BORE R DIMENSIONS

PART NO. AFRAIEE DN % = DASH D L PART NO. AFRIIE DN % S DASH D L
00401-20 32 20 53 70 00018-03 5 03 14 25
00401-24 40 24 61 75 00018-04 6 04 17 30
00401-32 50 32 77 80 00018-05 8 05 19 30
00018-06 10 06 21 30
00018-08 12 08 25.5 34.2
00018-10 16 10 29 38.5

00405 00018-12 20 12 33 43

00TFO
L DIN20023 4SH, R12 B Rt & &
INTERLOCK FERRULE FOR DIN 20023 | _ S
ML 4SH,R12 HOSE ARREEE

b

FERRULE FOR TEFLON HOSE

L
L
(=1 & HOSE BORE R~ DIMENSIONS
e TPV DN .S DASH P L reE fiX& HOSE BORE R~ DIMENSIONS
. = % 05 4 PART NO. ZAFRPYE DN % 5 DASH D L
00405-12 20 12 40 55 00TFO-04 6 04 14.5 31
00405-16 25 16 49 64 00TFO-05 8 05 16.5 305
00405-20 32 20 56 70 00TFO-06 10 06 19 32
00405-24 40 24 64 82.5 00TFO-08 12 08 24 35
00405-32 20 32 80 834 00TFO-10 16 10 27 372
00TFO-12 20 12 301 44
00TFO-16 25 16 38 53




7

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

00601

R13 AHIRXKEINEER
INTERLOCK FERRULE FOR R13

AR AHI MBS finE O BERE
JB METRIC MALE O-RING SEAL

7 STRENGTHEN HOSE
] 2 re 1247 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAZ DN #% 2 DASH C S
10211-14-04 M14X1.5 6 04 11 17
10211-16-05 M16X1.5 8 05 11 19
10211-18-06 M18X1.5 10 06 11 22
re R HOSE BORE R DIMENSIONS 10211-22-08 M22X1.5 12 08 12 27
PART NO. AFRAZE DN #% 2 DASH D L 10211-27-10 M27X1.5 16 10 13 32
00601-20 32 20 59.5 87 10211-30-12 M30X1.5 20 12 14 36
00601-24 40 24 71 100 10211-36-14 M36X2 22 14 16 41
00601-32 50 32 87 109 10211-39-16 M39X2 25 16 18 46
10211-45-20 M45X2 32 20 20 55
10211-52-24 M52X2 40 24 22 60

00605
S

R R13 AHIRXKEER
INTERLOCK FERRULE FOR R13 ‘f
STRENGTHEN HOSE i

AR HISMEL T EF O 2
JB O-RING METRIC MALE FLAT SEAT

28

L
re 184 E & HOSE BORE R~} DIMENSIONS

PART NO. THREAD E AFRAE DN #% 2 DASH C S

10311-14-04 M14X1.5 6 04 11 17

10311-16-05 M16XL1.5 8 05 11 17

re iz HOSE BORE R DIMENSIONS 10311-18-06 M18X15 10 06 11 19
PART NO. NFRAEE DN #x S DASH D L 10311-22-08 M22X15 12 08 12 24
00605-08 12 08 33 46 10311-27-10 M27X1.5 16 10 13 30
00605-12 20 12 40 55 10311-30-12 M30X1.5 20 12 14 32
00605-16 25 16 49 64 10311-36-14 M36X2 22 14 16 41
00605-20 32 20 61 70 10311-39-16 M39X2 25 16 16 41
00605-24 40 24 70 82.5 10311-45-20 M45X2 32 20 20 46
00605-32 50 32 85 83.2 10311-52-24 M52X2 40 24 22 55
10311-64-32 M64X2 50 32 28 65

29



R i & ’V/) R i &

Ningbo YH Hydraulic Machinery Factory Ningbo YH Hydraulic Machinery Factory

10712

C S C
EBFR/A I SMBLUPE S O REELEE | . DNESMBL 74° SMETELEE
r JB O-RING METRIC MALE FLAT SEAT METRIC MALE 74° CONE FOR SPIRAL HOSE

FOR SPIRAL HOSE

e iy B¥& HOSE BORE R~} DIMENSIONS
e iy E & HOSE BORE R DIMENSIONS PART NO. THREAD E ZAFRAIE DN #5 5 DASH C S
PART NO. THREAD E ’/_\\ffj"\liil?é DN % = DASH C S 10712-22-08 M22X1.5 12 08 19.5 22
10312-22-08 M22X15 0 08 7 24 10712-27-10 M27X1.5 16 10 20.5 27
10312-27-10 M27X15 16 10 3 30 10712-30-12 M30X1.5 20 12 23 32
10312-30-12 M30X1.5 20 12 14 32 10712-36-14 M36X2 22 14 26 41
10312-45-20 M45X2 32 20 20 46
10312-52-24 M52X2 40 24 22 55
10312-64-32 M64X2 50 32 28 65
C s & 5
/\ \ Y o \ &6
| INEISMNRLL 74° SMETE - INEISMELT 90° SMETE
a | . METRIC MALE 74° CONE % LU A TR )
L5 METRIC MALE 90° CONE
%ﬁjﬁ;}jﬁj}}y/fﬁliifffffffflff/tfli!ftﬂt.- ;
s 12y £ A¥& HOSE BORE R~ DIMENSIONS e I d f¥& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA12 DN ¥R 2 DASH C S PART NO. THREAD E NFRA1R DN ¥r 2 DASH C S
10711-12-02 M12X1.5 4 02 15.7 14 10911-16-05 M16X1.5 8 05 19 19
10711-14-04 M14X1.5 6 04 18 17 10911-22-08 M22X1.5 13 08 195 24
10711-16-05 M16X1.5 8 05 19 17 10911-33-12 M33X1.5 20 12 26 36
10711-18-06 M18X1.5 10 06 19 19
10711-22-08 M22X1.5 12 08 195 22
10711-27-10 M27X1.5 16 10 20.5 27
10711-30-12 M30X1.5 20 12 23 32
10711-36-14 M36X2 22 14 26 41
10711-39-16 M39X2 25 16 27.5 41
10711-45-20 M45X2 32 20 28.5 46




\/

R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

10911L E

5
c . 8
Jeelll . DNHISMEL 900 SMETTK IS M IRECKE
- :
_ Wzmxmﬂmyxmm METRIC MALE 90° CONE LONG TYPE %@I ___ ‘ METRIC FEMALE MULTISEAL
N
C
RS 124 E A& HOSE BORE R DIMENSIONS re #86 E fx& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAIFE DN R S DASH C S PART NO. THREAD E NFRP4E DN % 2 DASH C S
10911L-12-04 M12X1.5 6 04 35 14 20111-12-02 M12X15 7 02 5 17
10911L-14-04 M14X1.5 6 04 37 17 20111-14-04 M14X15 6 04 5 19
10911L-16-06 M16X1.5 10 06 38 19 20111-16-05 M16XL5 3 05 6 22
10911L-18-06 M18X1.5 10 06 40 22 20111-18-06 M18X1.5 10 06 5.5 24
20111-22-08 M22X1.5 12 08 5 27
20111-27-10 M27X1.5 16 10 45 32
11711 20111-30-12 M30X1.5 20 12 55 36
20111-36-14 M36X2 22 14 5.5 41
20111-39-16 M39X2 25 16 5.5 46
g 20111-45-20 M45X2 32 20 6.5 55
R 20111-52-24 M52X2 40 24 5.5 60
N || AR SMBLL 740 MHEE
= il ' JB METRIC MALE 74° CONE SEAT
FFTEFLREFIIFFIFIIFTIFERFFE
e iy & HOSE BORE R~ DIMENSIONS AH MBI EESEE
PART NO. THREAD E 4SFRPIAZ DN #% S DASH C S < : - METRIC FEMALE MULTISEAL FOR
11711-14-04 M14X1.5 6 04 8 14 J\ SPIRAL HOSE
11711-16-05 M16X1.5 8 05 8.5 17 %%
11711-18-06 M18X1.5 10 06 8.5 19
11711-22-08 M22X1.5 12 08 9 24 C
11711-27-10 M27X1.5 16 10 8.5 30
11711-30-12 M30X1.5 20 12 8 32 = #8e E Y& HOSE BORE R+ DIMENSIONS
11711-36-14 M36X2 22 14 9 41 PART NO. THREAD E AFRAAR DN #% S DASH C S
11711-39-16 M39X2 25 16 9 41 20112-22-08 M22X1.5 12 08 5 27
11711-45-20 M45X2 32 20 9 46 20112-27-10 M27X1.5 16 10 45 32
11711-52-24 M52X2 40 24 9 55 20112-30-12 M30X1.5 20 12 5.5 36
11711-64-32 M64X2 50 32 12 65 20112-36-14 M36X2 22 14 5.5 41
20112-39-16 M39X2 25 16 5.5 46
20112-45-20 M45X2 32 20 6.5 55
20112-52-24 M52X2 40 24 5.5 60
20112-64-32 M64X2 50 32 8.5 75




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

ey FTT = ' 90° M MR LI BKE
o I ky
45° RHIMBLIKE 90° METRIC FEMALE MULTISEAL
45° METRIC FEMALE MULITSEAL [
E f
e, i E BX& HOSE BORE < DIMENSIONS
. o PART NO. THREAD E ZNFRPIE DN #% = DASH C S H
s BRI E e HOSE BORE fJ DIMENSIONS 20191-14-04 M14X15 6 04 5 19 38.2
PART NO. THREAD E RHRPAE DN xS DASH c 5 H 20191-16-05 M16X15 8 05 6 22 415
20141-14-04 M14X1.5 6 04 5 19 214 20191-18-06 M18X15 10 06 55 24 453
20141-16-05 M16X1.5 8 05 6 22 226 20191-22-08 M22X1.5 12 08 5 27 526
20141-18-06 M18X15 10 06 55 24 241 01912710 ML S e 0 s > 55
20141-22-08 M22X1.5 12 08 5 27 27.2 20191-30-12 M30X1.5 20 12 55 36 68.7
20141-27-10 M27X15 16 10 45 32 296 50191.36.14 360 > ” o i 5
20141-30-12 M30X1.5 20 12 55 36 335 01913916 M39% = 6 o o 3t
20141-36-14 M36X2 22 14 55 41 341 01914520 Moy - 0 s o o
20141-39-16 M39X2 25 16 55 46 36.1 01915224 MEax 20 o o % 100
20141-45-20 M45x2 32 20 6.5 55 39 20191-64-32 M64X2 50 32 85 75 130.8

/’ﬂﬂmﬂﬂmj
o N / 90° Al PRSI E RS E
45° NHEIRBE IR EESR S T 90° METRIC FEMALE MULTISEAL
45° METRIC FEMALE MULITSEAL FOR oo R FOR SPIRAL HOSE

34

SPIRAL HOSE
s /1
E
r= 9847 E & HOSE BORE R DIMENSIONS re PB4 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA12 DN ¥r 2 DASH C S H PART NO. THREAD E NFRA1R DN ¥x 2 DASH C S H
20142-22-08 M22X1.5 12 08 5 27 27.2 20192-22-08 M22X1.5 12 08 5 27 52.5
20142-27-10 M27X1.5 16 10 4.5 32 29.8 20192-27-10 M27X1.5 16 10 4.5 32 58.8
20142-30-12 M30X1.5 20 12 5.5 36 335 20192-30-12 M30X1.5 20 12 5.5 36 68.5
20142-36-14 M36X2 22 14 5.5 41 326 20192-36-14 M36X2 22 14 5.5 41 69
20142-39-16 M39X2 25 16 5.5 46 34.2 20192-39-16 M39X2 25 16 5.5 46 73.6
20142-45-20 M45X2 32 20 6.5 55 384 20192-45-20 M45X2 32 20 6.5 55 85
20142-52-24 M52X2 40 24 5.5 60 43.5 20192-52-24 M52X2 40 24 5.5 60 100
20192-64-32 M64X2 50 32 8.5 75 130.6

35



R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

=
E R N IRESCEE 30° EfRAHl MR FEESE
L
7 — GB METRIC FEMALE FLAT SEAT 30° GB METRIC FEMALE FLAT
s SEAT FOR SPIRAL HOSE
_lc
prem, W b K& HOSE BORE Rt DIMENSIONS

PART NO. THREAD E NFRA1R DN ¥ 2 DASH C S
20211-12-02 M12X1.5 4 02 8 17 e P ds f¥& HOSE BORE R~ DIMENSIONS
20211-12-04 M12X1.5 6 04 8 17 PART NO. THREAD E /FRAAE DN #7 = DASH C S H
20211-14-04 M14X1.5 6 04 2 19 20232-22-08 M22X15 12 08 95 27 242
20211-16-04 M16X1.5 6 04 95 22 20232-27-10 M27X15 16 10 105 32 264
20211-16-05 M16X1.5 8 o 95 22 20232-30-12 M30X1.5 20 12 125 36 305
20211-16-06 M16X1.5 10 06 95 22 20232-39-16 M39X2 25 16 135 46 315
20211-18-05 M18X1.5 8 05 9.5 24 20232-45-20 M45X2 32 20 155 55 365
20211-18-06 M18XL.5 10 06 9.5 24 20232-52-24 M52X2 40 24 17.5 60 365
20211-18-08 M18X15 12 08 95 24
20211-22-08 M22X15 12 08 95 27
20211-27-10 M27X15 16 10 105 32
20211-27-12 M27X15 20 12 105 32
20211-30-12 M30X15 20 12 125 36
20211-36-16 M36X2 25 16 135 41
20211-42-20 M42X2 32 20 155 50
20211-45-20 M45X2 32 20 155 55
20211-52-24 M52X2 40 2 17.5 60

45° ERRAHINBL TR
45° GB METRIC FEMALE

FLAT SEAT
30° EtRAHI MBS TEH
30° GB METRIC FEMALE FLAT SEAT
Rre 1847 E R HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥r 2 DASH C S H
re 1847 E k& HOSE BORE R~ DIMENSIONS 20241-14-04 M14X1.5 6 04 9 19 18.8
PART NO. THREAD E AFR1Z DN = 2 DASH C S H 20241-16-05 M16X1.5 8 05 9.5 22 20.2
20231-14-04 M14X1.5 6 04 9 19 18.8 20241-18-06 M18X1.5 10 06 9.5 24 21.8
20231-16-05 M16X1.5 8 05 95 22 20 20241-22-08 M22X1.5 12 08 9.5 27 24
20231-18-06 M18X1.5 10 06 95 24 21.4 20241-27-10 M27X1.5 16 10 10.5 32 26.5
20231-22-08 M22X1.5 12 08 95 27 24.2 20241-30-12 M30X1.5 20 12 125 36 30
20231-27-10 M27X1.5 16 10 105 32 26.8 20241-39-16 M39X2 25 16 13.5 46 31
20231-30-12 M30X1.5 20 12 125 36 30 20241-45-20 M45X2 32 20 15.5 55 36.5
20231-39-16 M39X2 25 16 13.5 46 31
20231-45-20 M45X2 32 20 15.5 55 36.5
20231-52-24 M52X2 40 24 17.5 60 36.5




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

90° EHRAFINIEN FHESE
90° GB METRIC FEMALE FLAT
SEAT FOR SPIRAL HOSE

45° ERRAHI MBS EEELEE
45° GB METRIC FEMALE FLAT
SEAT FOR SPIRAL HOSE

re $26E i HOSE BORE R DIMENSIONS PA{I:'CI'F?\IO TH%?/&E E A gj—i% o BO—RZ i PIMENSIONS
PART NO. THREAD E ANFRAIZ DN 5 2 DASH C S H : AFRATR DN xS DASH C S H
20242-14-04 MIAXLS 6 04 9 1 187 20292-22-08 M22X1.5 12 08 9.5 27 48
e e : = o5 > o 20292-27-10 M27X1.5 16 10 10.5 32 54.4
20242-18-06 M18X1.5 10 06 9.5 24 218 20292-30-12 M30X1.5 20 - 2 % =
20242-22-08 M22X1.5 12 08 9.5 27 24 20292-36-14 M36x2 22 - 23 g ®
20242-27-10 M27X1.5 16 10 105 32 264 20292-39-16 M39x2 25 16 135 46 70
20242-30-12 M30X1.5 20 12 125 36 30.2 20292-45-20 MASX2 32 2 >3 > e
B s = r e e S 20292-52-24 M52X2 40 24 17.5 60 88
20242-45-20 M45X2 32 20 155 55 36,5 20292-64-32 Moax2 >0 32 235 & =
20711
EZE ;
/ e ) ‘ o = o ; GB METRIC FEMALE 74° CONE SEAT
. 90° E#rAHI MRS T E \ B
= 90° GB METRIC FEMALE FLAT SEAT \/“/ Z
&
LT .
E AL 2 s e B HOSE BORE R<F DIMENSIONS
- PART NO. THREAD E AFRIYE DN #% = DASH C S
20711-12-02 M12X1.5 4 02 8 17
- o e HOSE BORE = DIMENSIONS 20711-12-04 M12X1.5 6 04 8 17
s RRE PO = oacH c < . 20711-14-04 M14X1.5 6 04 9 19
20711-14-05 M14X1.5 8 05 9 19
20291-12-02 M12X1.5 4 02 8 17 26 20711-14-06 M14X15 0 06 9 19
20291-14-04 M14XL5 6 04 9 19 326 20711-16-05 M16XL5 8 05 95 22
20291-16-05 M16X1.5 8 05 95 22 36 20711-16.06 M1EXLE 10 06 95 22
20291-18-06 M18X1.5 10 06 95 24 38 20711-18.06 M18XLE 10 06 95 24
20291-22-08 M22X1.5 12 08 95 27 426 20711.20-06 M20XLE 10 06 10 27
20291-27-10 M27X1.5 16 10 105 32 >0 20711-20-08 M20XL1.5 12 08 10 27
20291-30-12 M30X1.5 20 12 125 36 58 0711-22-08 M22X15 o 08 95 27
20291-36-14 M36X2 22 14 135 41 61 20711-27-10 M27X15 16 10 105 32
20291-39-16 M39X2 25 16 135 46 68 2071130-12 M30XL5 20 ™ 125 36
20291-45-20 M45X2 32 20 155 55 78 207113314 M33X2 > 1a 135 a1
20291-52-24 M52X2 40 24 175 60 88 20711-33.16 V332 75 16 135 a1
20291-64-32 M64X2 50 32 235 75 118 20711-42-20 MA2X2 3 20 155 50




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

EFRAEI RIRL 74° NHEEESE
GB METRIC FEMALE 74° CONE SEAT

I
/W
= FOR SPIRAL HOSE

45° ERRATINERL 740 NERESE
45° GB METRIC FEMALE 74° CONE
SEAT FOR SPIRAL HOSE

®e 1R E fRE HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRPEE DN 17 = DASH C S re B E fix& HOSE BORE R<F DIMENSIONS
20712-22-08 M22X1.5 12 08 9.5 27 PART NO. THREAD E \FRAFZE DN #% = DASH C S H
20712-27-10 M27X1.5 16 10 10.5 32 20742-22-08 M22X1.5 12 08 9.5 27 23
20712-30-12 M30X1.5 20 12 12,5 36 20742-27-10 M27X1.5 16 10 10.5 32 26.5
20712-33-14 M33X2 22 14 135 41 20742-30-12 M30X1.5 20 12 125 36 30
20712-33-16 M33X2 25 16 135 a1 20742-33-14 M33X2 22 14 135 41 30
20712-39-16 M39X2 25 16 135 46 20742-33-16 M33X2 25 16 135 41 31
20712-42-20 M42X2 32 20 15.5 50 20742-39-16 M39X2 25 16 135 46 31.8
20712-52-24 M52X2 40 24 17.5 60 20742-42-20 M42X2 32 20 15.5 50 36
20712-64-32 M64X2 50 32 235 75 20742-52-24 M52X2 40 24 17.5 60 40
20742-64-32 M64X2 50 32 235 75 66

I
z Z% 00° EAFAHINIRL 74° RER

45° ERRAHINIRES 74° NEE
90° GB METRIC FEMALE 74° CONE SEAT

45° GB METRIC FEMALE 74° CONE SEAT
s 0 -
E )
—.40
A= 124 E fix& HOSE BORE R~ DIMENSIONS re 1BLE A& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRARAZR DN #% £ DASH C S H PART NO. THREAD E /AFRAE DN 15 2 DASH C S H

20741-14-04 M14X1.5 6 04 9 19 184 20791-10-02 M10X1 4 02 6 14 30.5
20741-16-05 M16X1.5 8 05 9.5 22 20 20791-14-04 M14X1.5 6 04 9 19 31
20741-18-06 M18X1.5 10 06 9.5 24 214 20791-16-05 M16X1.5 8 05 95 22 36.2
20741-22-08 M22X1.5 12 08 9.5 27 24 20791-18-06 M18X1.5 10 06 9.5 24 38.5
20741-27-10 M27X1.5 16 10 10.5 32 26.4 20791-22-08 M22X1.5 12 08 95 27 48
20741-30-12 M30X1.5 20 12 125 36 30 20791-27-10 M27X1.5 16 10 10.5 32 53
20791-30-12 M30X1.5 20 12 125 36 58
20791-36-14 M36X2 22 14 135 41 61
20791-39-16 M39X2 25 16 135 46 68
20791-42-20 M42X2 32 20 155 50 76
20791-52-24 M52X2 40 24 175 60 88




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

yNGIISEYog s diE e R
METRIC FEMALE MULTISEAL
FOR SPIRAL HOSE
00" EFABINEE 740 PETRLE G
90° GB METRIC FEMALE 74° CONE SEAT )
[
FOR SPIRAL HOSE G
Rre 9847 E K& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFR4Z DN ¥r £ DASH C S
30112-27-10 M27X1.5 16 10 45 32
— 30112-30-10 M30X1.5 16 10 4.5 36
s IR E ArE HOSE BORE R DIMENSIONS 30112-30-12 M30XL5 20 12 45 36
PART NO. THREAD E KHPEDN | f5 S DASH ¢ > H 30112-36-12 M36X2 20 12 5 41
20792-22-08 M22X1.5 12 08 9.5 27 48 30112-36-14 M36X2 22 14 5 41
20792-27-10 M27X1.5 16 10 10.5 32 534 30112-42-14 M42X2 22 14 5 50
20792-30-12 M30X1.5 20 12 125 36 58 30112-36-16 M36X2 25 16 5 41
20792-39-16 M39X2 25 16 135 46 68.2 30112-42-16 M42X2 25 16 5 50
20792-42-20 M42X2 32 20 155 50 76 30112-45-16 M45X2 25 16 5 55
20792-52-24 M52X2 40 24 175 60 88 30112-45-20 M45X2 32 20 5 55
20792-62-32 M64X2 50 32 28.5 75 118 30112-52-24 M52X2 40 24 5 60
30112-64-32 M64X2 50 32 8 75

N B S ERTE 45° N R SERTE
27 METRIC FEMALE MULTISEAL 45° METRIC FEMALE MULTISEAL
7,
Hed
we 480y E & HOSE BORE R~} DIMENSIONS
PART NO. THREAD E NFRAZ DN 5 2 DASH C S - e
30111-14-04 M14X1.5 6 04 4 19 PAE“T%T\]O TH%?;E E e BBk HOSE BO_RE R DIMENSIONS
: AFRP?E DN #% 2 DASH C S H
30111-16-05 M16X1.5 8 05 4.5 22 30141-14-04 M14X1.5 6 04 4 19 21.5
30111-18-06 M18X1.5 10 06 4.5 24 30141-16-05 M16X1.5 8 05 45 22 22
30111-22-08 M22X1.5 12 08 > 27 30141-18-06 M18X1.5 10 06 45 24 24
30111-27-10 M27X1.5 16 10 4.5 32 301412208 M22XL 5 08 c > o8
30111-30-12 M30X1.5 20 12 45 36 30141-27-10 M27X1.5 16 10 45 32 29.7
30111-36-14 M36X2 22 14 > 41 30141-30-12 M30X1.5 20 12 4.5 36 334
30111-39-16 M39X2 25 16 > 46 30141-36-14 M36X2 22 14 5 41 32.7
30111-45-20 M45X2 32 20 > >5 30141-39-16 M39X2 25 16 5 46 34
30111-52-24 M52X2 40 24 > 60 30141-45-20 M45X2 32 20 5 55 384
30141-52-24 M52X2 40 24 5 60 445
30141-62-32 M64X2 50 32 8 75 66.2




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

45° NHEINBLIKEESRE
45° METRIC FEMALE MULTISEAL
FOR SPIRAL HOSE

90° NI RIRA BRI E SR T

= 7 - 90° METRIC FEMALE MULTISEAL FOR SPIRAL HOSE
E
PA@I’FI?\IO TH%I?ZIED E A Hﬁg — BO_R.E: ] DIVERSIONS RS 424y E A& HOSE BORE R DIMENSIONS
: LFRPYE DN 7.5 DASH ¢ ° H PART NO. THREAD E ZAFRPYEE DN #7 5 DASH @ s2 H
30142-22-08 M22X1.5 12 08 > 27 27 30192-22-08 M22X1.5 12 08 5 27 53
30142-27-10 M27X1.5 16 10 4.> 32 29.7 30192-27-10 M27X15 16 10 45 32 5.5
30142-30-12 M30X1.5 20 12 4> 36 334 30192-30-12 M30XL5 20 12 45 36 68.5
30142-36-14 M36X2 22 14 5 41 32.7 30192-36.14 360 » 14 c a1 s
30142-39-16 M39X2 25 16 > 46 34 30192-39-16 M39X2 25 16 5 46 74
30142-45-20 M45X2 32 20 5 55 384 301924520 Ma5xo > >0 c e %
30142-52-24 M52X2 40 24 5 60 44.5 30192.52-24 ME2%0 20 -4 c 0 100
30142-62-32 M64X2 50 32 8 75 66.2 30192.64.32 ME4X2 P 2 g T 12
S
o4
_ | Ty
/ 90° A NEELIEKTE AHI AR S FEE
. 90° METRIC FEMALE MULTISEAL - ] METRIC FEMALE FLAT SEAL
W&JL
e
82 | o L
£ e iBy B HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1Z DN ¥ 2 DASH C S
RS 12U E & HOSE BORE SJ DIMENSIONS 30211-14-04 M14X1.5 6 04 8 19
PART NO. THREAD E AFRAEE DN 1% S DASH C S H 30211-16-05 M16X1.5 8 05 8 22
30191-14-04 M14X1.5 6 04 4 19 39 30211-18-06 M18X1.5 10 06 8.5 24
30191-16-05 M16X1.5 8 05 45 22 415 30211-22-08 M22X1.5 12 08 10 27
30191-18-06 M18X1.5 10 06 45 24 455 30211-27-10 M27X1.5 16 10 105 32
30191-22-08 M22X1.5 12 08 5 27 52.5 30211-30-12 M30X1.5 20 12 115 36
30191-27-10 M27X1.5 16 10 45 32 55.5 30211-36-14 M36X2 22 14 13 41
30191-30-12 M30X1.5 20 12 45 36 68.6 30211-36-16 M36X2 25 16 13 41
30191-36-14 M36X2 22 14 5 41 69 30211-39-16 M39X2 25 16 13 46
30191-39-16 M39X2 25 16 5 46 74 30211-42-16 M42X2 25 16 15 50
30191-45-20 M45X2 32 20 5 55 85 30211-45-20 M45X2 32 20 15 55
30191-52-24 M52X2 40 24 5 60 100 30211-52-20 M52X2 32 20 17 60
30191-64-32 M64X2 50 32 8 75 124 30211-52-24 M52X2 40 24 17 60
30211-64-32 M64X2 50 32 23 75




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

NHRNBY FEESE
L : - METRIC FEMALE FLAT SEAL 30° ERASI MBS EEESS
MLLL.{ML/.‘/. s )
- ZZ FOR SPIRAL HOSE 30° GB METRIC FEMALE FLAT SEAT
- FOR SPIRAL HOSE
| |
e, 194y fEs HOSE BORE R~ DIMENSIONS -
. & HOSE BORE <+ DIMENSION
PART NO. THREAD E ABRPI4Z DN # 5 DASH C s oahis ERE _ EE'DN T . RY : SIONS I
30212-22-08 M22X15 12 08 10 27 1093925 63 LS “wfgl e
30212-30-12 M30X1.5 20 12 115 36 30232'2 '10 27X 1'5 1 (1)3 11005 Z 1;5
30112-36-14 M36X2 22 14 13 41 30232'3(7)'12 1. 20 T 1 .
30112-36-16 M36X2 25 16 13 41 30232'36'1 M30X ; > 11 > 3? 320 >
30212-39-16 M39X2 25 16 13 46 30232_36_12 m:ziz 5 12 1; 3 ;
30212-42-16 M42x2 25 16 L >0 30232-39-16 M39X2 = 16 13 s 5
30212-45-20 M45X2 32 20 15 55 30232‘4 ‘20 s 3; = : 3:;17
30212-52-20 M52X2 32 20 17 60 202 32' ;'24 v zxz g ” 13 >3 3
30212-52-24 M52X2 38 24 17 60 2 > 3 60 8
Oolaea s NI % > >3 - 30232-64-32 M64X2 50 32 23 75 46

45° Er IR m|
45° GB METRIC FEMALE FLAT SEAT

30° EHRAHINBLTE
30° GB METRIC FEMALE FLAT SEAT

e ds fx& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH C S H
= 1845 E & HOSE BORE R~ DIMENSIONS 30241-18-06 M18X1.5 10 06 8.5 24 13.5
PART NO. THREAD E NFRAZE DN #% = DASH C S H 30241-22-08 M22X1.5 12 08 10 27 13.5
30231-18-06 M18XL1.5 10 06 8.5 24 13.5 30241-27-10 M27X1.5 16 10 10.5 32 26
30231-22-08 M22X1.5 12 08 10 27 13.5 30241-30-12 M30X1.5 20 12 115 36 30.1
30231-27-10 M27X1.5 16 10 10.5 32 26 30241-36-14 M36X2 22 14 13 41 27.2
30231-30-12 M30X1.5 20 12 11.5 36 30.2 30241-36-16 M36X2 25 16 13 41 30.5
30231-36-14 M36X2 22 14 13 41 27 30241-39-16 M39X2 25 16 13 46 30
30231-36-16 M36X2 25 16 13 41 30.5 30241-45-20 M45X2 32 20 15 55 348
30231-39-16 M39X2 25 16 13 46 30 30241-52-24 M52X2 40 24 17 60 38
30231-45-20 M45X2 32 20 15 55 34 30241-64-32 M64X2 50 32 23 75 46.9
30231-52-24 M52X2 40 24 17 60 388
30231-64-32 M64X2 50 32 23 75 46




48

Ningbo YH Hydraulic Machinery Factory

R IE R R

Ningbo YH Hydraulic Machinery Factory

45° EtrAHNBRY T EESE
45° GB METRIC FEMALE FLAT SEAT
FOR SPIRAL HOSE

fe B E B HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRPIFE DN #% S DASH C S H
30242-18-06 M18XL.5 10 06 8.5 24 135
30242-22-08 M22X1.5 12 08 10 27 135
30242-27-10 M27XL.5 16 10 105 32 26.1
30242-30-12 M30XL.5 20 12 115 36 302
30242-36-14 M36X2 22 14 13 41 272
30242-36-16 M36X2 25 16 13 41 30
30242-39-16 M39X2 25 16 13 46 30
30242-45-20 M45X2 32 20 15 55 34.4
30242-52-24 M52X2 40 24 17 60 40
30242-62-32 M64X2 50 32 23 75 46
paam i inia g niniamm
77 90° EHRAHI ML FE
. 90° GB METRIC FEMALE FLAT SEAT
S2 Ol

L&

re $84y E RE& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRAZ DN T 2 DASH C S2 H
30291-14-04 M14X1.5 6 04 8 19 34
30291-16-05 M16X1.5 8 05 8 22 38
30291-18-06 M18X1.5 10 06 8.5 24 414
30291-22-08 M22X1.5 12 08 10 27 48
30291-27-10 M27X1.5 16 10 10.5 32 51
30291-30-12 M30X1.5 20 12 115 36 63.5
30291-36-14 M36X2 22 14 13 41 61
30291-36-16 M36X2 25 16 13 41 65.5
30291-39-16 M39X2 25 16 13 46 67.5
30291-45-20 M45X2 32 20 15 55 78.6
30291-52-24 M52X2 40 24 17 60 92
30291-64-32 M64X2 50 32 23 75 114.5

90° EfrAHINEL FHELEE

2 90° GB METRIC FEMALE FLAT SEAT
FOR SPIRAL HOSE
52 | -
E
K5 1824y E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH C S2 H
30292-22-08 M22X1.5 12 08 10 27 48
30292-27-10 M27X1.5 16 10 10.5 32 51
30292-30-12 M30X1.5 20 12 115 36 63.2
30292-36-14 M36X2 22 14 13 41 61.2
30292-36-16 M36X2 25 16 13 41 65.5
30292-39-16 M39X2 25 16 13 46 67.5
30292-45-20 M45X2 32 20 15 55 78.5
30292-52-24 M52X2 40 24 17 60 92
30292-62-32 M64X2 50 32 23 75 113
5

EFRASINIEL 74° NEE
GB METRIC FEMALE 74° CONE SEAT

C —

r= 1By E K& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAS42 DN ¥r £ DASH C S
30711-14-04 M14X1.5 6 04 8 19
30711-16-05 M16X1.5 8 05 8 22
30711-18-06 M18X1.5 10 06 8.5 24
30711-22-08 M22X1.5 12 08 10 27
30711-27-10 M27X1.5 16 10 10.5 32
30711-30-12 M30X1.5 20 12 115 36
30711-36-14 M36X2 22 14 13 41
30711-39-16 M39X2 25 16 13 46
30711-45-20 M45X2 32 20 15 55
30711-52-24 M52X2 40 24 17 60
30711-64-32 M64X2 50 32 23 75

49



50

R ik

Ningbo YH Hydraulic Machinery Factory

R )

Ningbo YH Hydraulic Machinery Factory

o

EFRAEI IR 74° NEEESE

45° EtRAFINEL 74° NHEEESE

| | GB METRIC FEMALE 74° CONE
i o TS
\/ /%% s SEAT FOR SPIRAL HOSE
| o ]
Ke 8B E & HOSE BORE R} DIMENSIONS
PART NO. THREAD E AFRAE DN 1% = DASH C S
30712-22-08 M22X1.5 12 08 10 27
30712-27-10 M27X1.5 16 10 10.5 32
30712-30-12 M30X1.5 20 12 115 36
30712-36-14 M36X2 22 14 13 41
30712-39-16 M39X2 25 16 13 46
30712-45-20 M45X2 32 20 15 55
30712-52-24 M52X2 40 24 17 60
30712-64-32 M64X2 50 32 23 75

45° EFRASIREL 74° NEE
45° GB METRIC FEMALE 74°

CONE SEAT

K5 1847 E X HOSE BORE R~} DIMENSIONS

PART NO. THREAD E ,\FRAI#Z DN ¥r = DASH C S H
30741-14-04 M14X1.5 6 04 8 19 18.5
30741-16-05 M16X1.5 8 05 8 22 20
30741-18-06 M18X1.5 10 06 8.5 24 214
30741-22-08 M22X1.5 12 08 10 27 24
30741-27-10 M27X1.5 16 10 10.5 32 26.7
30741-30-12 M30X1.5 20 12 115 36 304
30741-36-14 M36X2 22 14 13 41 29.7
30741-39-16 M39X2 25 16 13 46 31
30741-45-20 M45X2 32 20 15 55 364
30741-52-24 M52X2 40 24 17 60 40.5
30741-64-32 M64X2 50 32 23 75 45.2

45° GB METRIC FEMALE 74° CONE
SEAT FOR SPIRAL HOSE
=" 9By E fRE HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFR42 DN ¥r 2 DASH C S H
30742-22-08 M22X1.5 12 08 10 27 24
30742-27-10 M27X1.5 16 10 10.5 32 26.7
30742-30-12 M30X1.5 20 12 11.5 36 304
30742-36-14 M36X2 22 14 13 41 29.7
30742-39-16 M39X2 25 16 13 46 31
30742-45-20 M45X2 32 20 15 55 36.4
30742-52-24 M52X2 40 24 17 60 40.5
30742-64-32 M64X2 50 32 23 75 45.2
30791
e |1 lnin i
e
90° EtRAHIMIRL 74° NHEE
| 90° GB METRIC FEMALE 74° CONE SEAT
i/ o
E
A
= 1By E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E ,NFRA42 DN ¥r £ DASH C S H
30791-14-04 M14X1.5 6 04 8 19 30
30791-16-05 M16X1.5 8 05 8 22 36
30791-18-06 M18X1.5 10 06 85 24 40
30791-22-08 M22X1.5 12 08 10 27 43
30791-27-10 M27X1.5 16 10 10.5 32 50
30791-30-12 M30X1.5 20 12 115 36 58
30791-36-14 M36X2 22 14 13 41 60
30791-39-16 M39X2 25 16 13 46 70
30791-45-20 M45X2 32 20 15 55 784
30791-52-24 M52X2 40 24 17 60 9255
30791-64-32 M64X2 50 32 23 75 114.2

51



IR IE R

Ningbo YH Hydraulic Machinery Factory

) R E

Ningbo YH Hydraulic Machinery Factory

= S
| .
- == DNHIIMRL 24° NEFERRIIEEE
/ A ,Azl/' ' ' METRIC MALE 24° CONE SEAT L.T. FOR
= | rat
%) 00° ERFAHINIRL 74° NEEBLEE . SPIRAL HOSE DIN3853
90° GB METRIC FEMALE 74° CONE SEAT
S 7 © FOR SPIRAL HOSE —
= 1B E & HOSE BORE EFHMR R DIMENSIONS
= PART NO. THREAD E /SFRAE DN 15 2 DASH TUBE.O.D C S
74° 10412-22-08 M22X1.5 12 08 15 13.5 24
10412-26-08 M26X1.5 12 08 18 14 27
saczes | wgas | S I
PART NO. THREAD E AFRAI1E DN #% = DASH C S H — :
10412-27-10 M27X2 16 12 18 14 27
30792-22-08 M22X1.5 12 08 10 27 43 104123012 M30X2 >0 5 > 18 2
30792-27-10 M27X1.5 16 10 105 32 50 10412-36.12 M36x2 20 L 58 20 a1
A I A TR ————
30792_39_16 M39X2 25 16 13 46 70 10412-45-20 Md5X2 32 20 35 20 a6
it 10412-52-24 M52X2 40 24 42 19 55
30792-45-20 M45X2 32 20 15 55 784
30792-52-24 M52X2 40 24 17 60 925
30792-64-32 M64X2 50 32 23 75 114.2 m
10411 i
- P = NHINIRL 24° AEER O HERRT
]
I INEISNELT 24° TR R L.Jg‘ ; METRIC FEMALE 24° CONE L.T. WITH
< METRIC MALE 24° /LH % R O-RING DIN3853(CRIMP)
ol
i ’L’”J;W#M” Tz CONE SEAT L.T. DIN3853 B
- o ; _ re 180y E & HOSE BORE BE7HMZ R DIMENSIONS
s BB E 8 HOSE BO_Ri EFIME T DIMENSIONS PART NO. THREAD E AFRIE DN i 2 DASH | TUBEOD C S
PART NO. THREAD E JAFRAE DN #7 = DASH TUBE.O.D C S
oL 1204 MIZLS . o . o 7 20411-12-04 M12x1.5 6 04 6 2 17
L0411 1404 |v|14>)21'5 . o o 3 - 20411-14-05 M14x1.5 8 05 8 35 19
- 20411-12-06 M12x1.5 10 06 6 2 17
10411-16-05 M16x1.5 8 05 10 13.5 17 AL 14706 M14§1 : o 06 o s 5
10411-18-06 M18xL1.5 10 06 12 13.5 19 04111606 M16X1'5 n 0 0 3'5 >
18211'52'23 m;gﬁg 12 (1)3 1; lff gg‘ 20411-18-08 M18X1.5 12 08 12 35 24
04112710 Vit 1'5 1 0 s 14 57 20411-22-10 M22X1.5 16 10 15 2.5 27
04113012 Vi3 c))(xé 2 L - 18 > 20411-26-12 M26X1.5 20 12 18 2.5 32
1041136 16 V362 = e 8 20 i 20411-27-12 M27X1.5 20 12 18 2.5 32
10411-45-20 M45X2 32 20 35 20 46
10411-52-24 M52X2 40 24 42 19 55




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

45° NHEIRNIZL 24° HHEES O BUE4R
E¥ ] | AT — NEIRIEL 24° KNS O HERERT
45° METRIC FEMALE 24° CONE L.T. “13 ' METRIC FEMALE 24° CONE L.T.WITH
WITH O-RING DIN3853(CRIMP) z‘L H‘% /] O-RING DIN3865(NON-CRIMP)
N
lC
R 98y E e HOSE BORE EZHMR R~ DIMENSIONS = 4847 E & HOSE BORE EFIMR R~ DIMENSIONS
PART NO. THREAD E NRAR DN ¥r 2 DASH TUBE.O.D C S H PART NO. THREAD E NFRA1R DN ¥ 2 DASH TUBE.O.D C S
20441-12-04 M12X1.5 6 04 6 2 17 243 30411-14-04 M14x1.5 6 04 8 2 19
20441-14-05 M14X1.5 8 05 8 35 19 283 30411-16-05 M16x1.5 8 05 10 2 22
20441-12-06 M12X1.5 10 06 6 2 17 283 30411-18-06 M18x1.5 10 06 12 2.5 24
20441-14-06 M14X1.5 10 06 8 35 19 29.3 30411-22-08 M22x1.5 12 08 15 3 27
20441-16-06 M16X1.5 10 06 10 35 22 29.4 30411-26-10 M26x1.5 16 10 18 35 32
20441-18-08 M18X1.5 12 08 12 3.5 24 33 30411-27-10 M27X1.5 16 10 18 2.5 32
20441-22-10 M22X1.5 16 10 15 2.5 27 35 30411-30-12 M30X2 20 12 22 35 36
20441-26-12 M26X1.5 20 12 18 2.5 32 37.5 30411-36-16 M36X2 25 16 28 4.5 41
20441-27-12 M27X1.5 20 12 18 2.5 32 38.5 30411-45-20 M45X2 32 20 35 5 55
30411-52-24 M52X2 40 24 42 6 60

. e [ linin i ninin

90° AHINIEL 24° NHEET O BER R
90° METRIC FEMALE 24° CONE L.T. WITH
O-RING DIN3853(CRIMP)

45° AHINEEL 24° NEE O BHER R
45° METRIC FEMALE 24° CONE L.T.WITH
O-RING DIN3865(NON-CRIMP)

RS 24 E & HOSE BORE BEFIMR < DIMENSIONS PAgﬁl o TH%?ZA |E3 . Hfig HOSE Bf’iE %g%% R DIMENSIONS
PART NO. THREADE | AFRR#2 DN | #5S DASH | TUBEOD C S H ; AFRPEDN | 455 DASH 0. C 5 H
20491-12-04 M12X1.5 6 04 6 2 17 443 30441-14-04 M14X1.5 6 04 8 2 19 163
20491-14-05 M14X1.5 8 05 8 35 19 493 30441-16-05 M16X1.5 8 05 10 2 22 193
20491-12-06 M12XLS 10 06 c 5 5 283 30441-18-06 M18X15 10 06 12 25 24 243
20491-14-06 M14X15 10 06 8 35 19 523 30441-22-08 M22X1.5 12 08 15 3 27 243
20491-16-06 M16XL5 10 06 10 35 22 524 30441-26-10 M26X1.5 16 10 18 3.5 32 244
20491-18-08 M18XL5 12 08 12 35 24 60 30441-27-10 M27XL5 16 10 18 2.5 32 27
20491-22-10 M22X15 16 10 15 25 27 67 30441-30-12 M30X2 20 12 22 3.5 36 42
20491-26-12 M26X1.5 20 12 18 25 32 775 30441-36-14 M36X2 22 14 28 45 41 34
20491-27-12 M27X1.5 20 12 18 25 32 785 30441-36-16 M36x2 25 16 28 45 41 37.5
30441-45-20 M45X2 32 20 35 5 55 425
30441-52-24 M52X2 40 24 42 6 60 455




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

90° AHINIBEL 24° NEES O BERARINELEE

45° RHINBL 24° NEET O BERARIIESE

| 90° METRIC FEMALE 24° CONE L.T.WITH O-RING
45° METRIC FEMALE 24° CONE L.T.WITH O-RING s/ L 1 B DIN3865 FOR SPIRAL HOSE(NON-CRIMP)
DIN3865 FOR SPIRAL HOSE(NON-CRIMP) /,;_21_;;& }
E
e 124y £ BX& HOSE BORE oMz R} DIMENSIONS re 82657 E ¥ HOSE BORE EMZ R} DIMENSIONS
PART NO. THREAD E AFRA/ZDN | #:2 DASH | TUBEO.D C S H PART NO. THREAD E AR/ DN | 452 DASH | TUBEOD C S H

30442-22-08 M22X1.5 12 08 15 3 27 333 30492-22-08 M22X1.5 12 08 15 3 27 45
30442-27-10 M27X1.5 16 10 18 25 32 35 30492-27-10 M27X1.5 16 10 18 25 32 55
30442-30-12 M30X2 20 12 22 35 36 42 30492-30-12 M30X2 20 12 22 35 36 64
30442-36-14 M36X2 22 14 28 4.5 41 34 30492-36-14 M36X2 22 14 28 45 41 67
30442-36-16 M36X2 25 16 28 45 41 425 30492-36-16 M36X2 25 16 28 45 41 76
30442-45-20 M45X2 32 20 35 5 55 435 30492-45-20 M45X2 32 20 35 5 55 88.5
30442-52-24 M52X2 40 24 42 6 60 455 30492-52-24 M52X2 40 24 42 6 60 102.5

T

|
2 7
/ ] A®ISNELL 24° AETERRT
o 90° AHINRL 24° NEETT O BIERE R -.,| i _ METRIC MALE 24° CONE SEAT H.T.
7 90° METRIC FEMALE 24° CONE L.T.WITH O-RING “I* 7 s DIN3853
| DIN3865(NON-CRIMP) i
s/ 1=
[Jet] e #8057 E fs& HOSE BORE BE7HME R DIMENSIONS
E PART NO. THREAD E AFRNZDN | %R = DASH | TUBEOD C S
10511-16-04 M16x1.5 6 04 8 135 17
o=} 124y BZE HOSE BORE EFIMZ R DIMENSIONS 10511-18-04 M18x1.5 6 04 10 135 19
PART NO. THREAD E TR DN | #: S DASH | TUBEOD C S H 10511-20-05 M20x1.5 8 05 12 135 22
30491-14-04 M14X1.5 6 04 8 2 19 36 10511-20-06 M20x1.5 10 06 12 135 22
30491-16-05 M16X1.5 8 05 10 2 22 37 10511-24-08 M24x1.5 12 08 16 14 27
30491-18-06 M18X1.5 10 06 12 25 24 42 10511-30-10 M30X2 16 10 20 19 32
30491-22-08 M22X1.5 12 08 15 3 27 45 10511-30-12 M30X2 20 12 20 19 32
30491-26-10 M26X1.5 16 10 18 35 32 55 10511-36-16 M36X2 25 16 25 20 38
30491-27-10 M27X1.5 16 10 18 2.5 32 55 10511-42-20 M42X2 32 20 30 20 46
30491-30-12 M30X1.5 20 12 22 35 36 64 10511-52-24 M52X2 40 24 38 22 55
30491-36-14 M36X2 22 14 28 45 41 67
30491-36-16 M36X2 25 16 28 45 41 76
30491-45-20 MA45X2 32 20 35 5 55 88.5
30491-52-24 M52X2 40 24 42 6 60 102.5




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

5
& ||_
. f
| NHEISMEL 24° NEMER RIIELSE NHI MRS 24° NH#EES O BIEIE RS
g | _ _ METRIC MALE 24° CONE SEAT H.T. | RINIRININ METRIC FEMALE 24° CONE H.T. WITH
o |
|L ’% W RIITETT FOR SPIRAL HOSE DIN3853 1 o e O-RING DIN3865(CRIMP)
B
R 84 E fk& HOSE BORE EFHME R~ DIMENSIONS —

PART NO. THREAD E /AFRAE DN #5 2 DASH | TUBE.OD C S n=1 HB4T E f& HOSE BORE EFIMR R~ DIMENSIONS
10512-22-08 M22XL5 12 08 14 14 24 PART NO. THREAD E AFPIEDN | RS DASH | TUBEOD ¢ S
10512-24-08 M24X1.5 12 08 16 14 27 20511-14-06 M14X1.5 10 06 6 3.5 19
10512-30-10 M30X1.5 16 10 20 18 32 20511-16-06 M16X1.5 10 06 8 3.5 22
10512-30-12 M30X1.5 20 12 20 18 32 20511-20-08 M20X1.5 12 08 12 3 27
10512-36-12 M36X2 20 12 25 20 41 20511-22-10 M22X1.5 16 10 14 2.5 27
10512-42-12 M42X2 20 12 30 20 46 20511-24-10 M24X1.5 16 10 16 35 30
10512-36-16 M36X2 25 16 25 20 41 20511-42-20 M42X2 32 20 30 5.5 50
10512-42-16 M42X2 25 16 30 20 46
10512-42-20 M42X2 32 20 30 20 46
10512-52-16 M52X2 25 16 38 22 55
10512-52-20 M52X2 32 20 38 22 55
10512-52-24 M52X2 40 24 38 22 55

. 45° NHIMIBL 24° WEES O WEE
i
I /\ 4k s ?:5']
| SpBE 4T 24° :
. NHISMBE 24° MEEELSE 45° METRIC FEMALE 24° CONE H.T.
| o
< | | METRIC MALE 24° CONE SEAT WITH O-RING DIN3865(CRIMP)
o S H.T.FOR SPIRAL HOSE DIN3853
L____:—'—
=] BBy E e HOSE BORE EFHNMZ R~ DIMENSIONS —
PART NO. THREAD E AFRAE DN 4% 2 DASH | TUBEOD C S re 124 E & HOSE BORE EFIMZ R~ DIMENSIONS
PART NO. THREAD E FRIA == TUBE.O.D
10512-30-10SG M30XL.5 16 10 20 14 32 KA DN | #5 S DASH ¢ S H
10512-30-125G M30XLS 20 5 20 12 5 20541-14-06 M14X1.5 10 06 6 35 19 294
10512-33-125G M33XLE 20 5 20 12 V) 20541-16-06 M16X1.5 10 06 8 35 22 294
10512-36-125G MB3EXLE 20 5 7c 18 38 20541-20-08 M20X1.5 12 08 12 3 27 323
1051547-125G MAZXLE 20 o 30 20 26 20541-22-10 M22X1.5 16 10 14 25 27 22
10512-25-125G MASXLS 20 B 35 19 26 20541-24-10 M24X1.5 16 10 16 35 30 355
10512-36-16SG M36X1.5 25 16 25 14 4 20541-42-20 Md2X2 32 20 30 5.5 50 38
10512-42-165G M42X1.5 25 16 30 20 46
10512-45-165G M45X1.5 25 16 35 19 46




R ik

Ningbo YH Hydraulic Machinery Factory

‘;ﬂb U1 i I

Ningbo YH Hydraulic Machinery Factory

60

Jﬁ NHEINERL 24° NEEET O BIBEERIZE
T Mo %%
90° MRS 24° N O BEIE R a5 ' METRIC FEMALE 24° CONE H.T. WITH
| AWW
90° METRIC FEMALE 24° CONE H.T. i O-RING FOR SPIRAL HOSE(NON-
WITH O-RING DIN3865(CRIMP) ; CRIMP)
5/ IIIH'))'llI
Pt e, sy £ B HOSE BORE =7hME s DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH TUBE.O.D C S
re 18y E fk& HOSE BORE EZHMR R~ DIMENSIONS 30512-24-08 M24X1.5 12 08 16 3 30
PART NO. THREAD E AFRAE DN | 452 DASH | TUBE.O.D C S H 30512-30-10 M30X2 16 10 20 35 36

20591-14-06 M14X1.5 10 06 6 35 19 52 30512-30-12 M30X2 20 12 20 35 36

20591-16-06 M16X1.5 10 06 8 35 22 52.5 30512-36-16 M36X2 25 16 25 3 41

20591-20-08 M20X1.5 12 08 12 3 27 61.2 30512-42-16 M42X2 25 16 30 > 50

20591-22-10 M22X1.5 16 10 14 2.5 27 65 30512-52-20 M52X2 32 20 38 6.5 60

20591-24-10 M24X1.5 16 10 16 35 30 67.5 30512-52-24 M52X2 40 24 38 6.5 60

20591-42-20 M42X2 32 20 30 5.5 50 85

S
B s

5 DHINIRLL 24° WHEEH O BB RS \ ARG 240 TS O 1

i HE G5

| [ W METRIC FEMALE 24° CONE H.T. WITH W= o e =

4 5 - g A R i RSB

g ] O-RING DIN3853(NON-CRIMP ) d & _ _

B4 3 - METRIC FEMALE 24° CONE
gz e H.T. WITH O-RING FOR
e SPIRAL HOSE(NON-CRIMP)

s
= 9By E k& HOSE BORE =ZHMR R~} DIMENSIONS

PART NO. THREAD E NFRA1R DN ¥ 2 DASH TUBE.O.D C S
30511-14-04 M14x1.5 6 04 6 2 17
30511-16-04 M16x1.5 6 04 8 2 19
30511-18-04 M18x1.5 6 04 10 2 22 re #80 E A& HOSE BORE s=7oMR R~} DIMENSIONS
30511-18-05 M18x1.5 8 05 10 2 22 PART NO. THREAD E LNFRAZ DN ¥: = DASH TUBE.O.D C S
30511-20-05 M20x1.5 8 05 12 3 24 30511C-18-06 M18X1.5 10 06 10 0.5 22
30511-20-06 M20X1.5 10 06 12 3 24 30511C-30-12 M30X2 20 12 20 3.5 36
30511-22-06 M22X1.5 10 06 14 3 27 30511C-36-12 M36X2 20 12 25 3 41
30511-24-08 M24X1.5 12 08 16 3 30 30511C-36-14 M36X2 22 14 25 3 41
30511-30-10 M30X2 16 10 20 35 36
30511-30-12 M30X2 20 12 20 35 36
30511-36-12 M36X2 20 12 25 3 41
30511-36-14 M36X2 22 14 25 3 41
30511-36-16 M36X2 25 16 25 3 41
30511-42-16 M42X2 25 16 30 5 50
30511-52-20 M52X2 32 20 38 6.5 60
30511-52-24 M52X2 40 24 38 6.5 60

61



Ningbo YH Hydraulic Machinery Factory

: Wi s
\/ IR IE R E
Ningbo YH Hydraulic Machinery Factory

45° AHRBL 240 WEFEHOD g e
AEES) 7

45° METRIC FEMALE 24° CONE 90° AHINEEL 24° NHEE O BEER
H.T. WITH O-RING DIN3865(NON- 2 90° METRIC FEMALE 24° CONE H.T. WITH

H

CRIMP) \ | O-RING DIN3865(NON-CRIMP)
ST
= ‘2*‘ r
E
re 9847 E & HOSE BORE EZHNZ R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥ 2 DASH TUBE.O.D C S H prem, Py I& HOSE BORE PPy = DIMENSIONS

30541-18-04 M18X1.5 6 04 10 2 24 223 PART NO. THREAD E AREDN | 122 DASH | TUBEOD c S v
30541-20-05 M20X1.5 8 05 12 3 27 254
30541-22-06 M22X1.5 10 06 14 3 27 253 30591-18-04 M18X1.5 6 04 10 2 24 36
30541-24-08 M24X1.5 12 08 16 3 30 27 30591-20-05 M20X1.5 8 0 12 3 27 a4
305413010 M30%2 1 10 20 3c % 315 30591-22-06 M22X1.5 10 06 14 3 27 46.3
305413612 M36x2 >0 5 > 3 a1 345 30591-24-08 M24X1.5 12 08 16 3 30 51
305414216 MA2X2 > 1 2 : % s 30591-30-10 M30X2 16 10 20 3.5 36 57.5
30541-52-20 M52X2 32 20 38 6.5 60 435 ;g;gi:igjé mgg 52 12 ig i :; 76;55
30541-52-24 M52X2 40 24 38 6.5 60 45

30591-52-20 M52X2 32 20 38 6.5 60 89

30591-52-24 M52X2 40 24 38 6.5 60 102.5

45° NEIREEL 24° REEMEHE O BIBE
RIEGE

45° METRIC FEMALE 24° CONE H.T.
WITH O-RING FOR SPIRAL HOSE =
DIN3865(NON-CRIMP)

90° AHIAERL 24° NfEES O HBIERIIELSEE
90 ° METRIC FEMALE 24 ° CONE H.T. WITH
O-RING FOR SPIRAL HOSE DIN3865(NON-
CRIMP)

. L
T

o
re 1847 E & HOSE BORE EFHMR R~} DIMENSIONS
PART NO. THREAD E AFRAZDN | #: 2 DASH | TUBEOD C S H

30542-24-08 M24X1.5 12 08 16 3 30 27 s By E fe& HOSE BORE BEFIME R5J DIMENSIONS

30542-30-10 M30X2 16 10 20 35 36 315 PART NO. THREAD E AFRAFZDN | #52DASH | TUBEOD C S H

30542-36-12 M36X2 20 12 25 3 41 34.5 30592-24-08 M24X1.5 12 08 16 3 30 51

30542-42-16 MA2X2 25 16 30 z %0 395 30592-30-10 M30X2 16 10 20 35 36 57.5

30542-52-20 M52X2 32 20 38 6.5 60 435 30592-36-12 M36X2 20 12 25 3 41 68.5

30542-52-24 M52X2 40 24 38 6.5 60 45 30592-42-16 M42X2 25 16 30 > 50 77.5
30592-52-20 M52X2 32 20 38 6.5 60 89
30592-52-24 M52X2 40 24 38 6.5 60 102.5




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

/ f NEISMELS 60° NETMDARBHESRES
| METRIC MALE 60° CONE SEAT
| WITH BONDED SEAL

AHEIREEL 60° SMEE
METRIC FEMALE 60° CONE(CRIMP)

e i | e HOSE BORE R DIMENSIONS
PART NO. THREAD E AFRAE DN 1% S DASH C S e 194y E B2 HOSE BORE R<F DIMENSIONS
10611-14-04 M14XL5 6 04 14 19 PART NO. THREAD E AFRA1E DN % 2 DASH C S
10611-16-05 M16X1.5 8 0> 14 22 20611-14-05 M14x1.5 8 05 6.5 19
10611-18-06 M18X1.5 10 06 15 24 20611-16-06 M16xL5 10 06 7 2
10611-22-08 M22X1.5 12 08 14 2 20611-18-08 M18x1.5 12 08 7.5 24
10611-24-10 M24X1.5 16 10 1 30 20611-22-10 M22X1.5 16 10 7.5 27
10611-27-10 M27X1.5 16 10 18 32 20611-24-10 M24X15 16 10 9 30
10611-30-12 M30X1.5 20 12 18 36 20611-27-12 MZ7X15 20 % 8 D)
10611-33-16 M33X2 25 16 20 46
10611-42-20 M42X2 32 20 20 50
10611-45-20 M45X2 32 20 20 55

10611-52-24 M52X2 40 24 20 60 m

S NHEIRERL 60° SMEMESEE
C ! : o
/ AHISMBS 60° MAEEARKEAL R - o e 607 CONE FOR SPIRAL
= ) ' METRIC MALE 60° CONE SEAT WITH e
7 BONDED SEAL FOR SPIRAL HOSE

re #8e E & HOSE BORE R~} DIMENSIONS

PART NO. THREAD E NER4Z DN ¥r 2 DASH C S

e ds & HOSE BORE R<F DIMENSIONS 20612-18-08 M18x1.5 12 08 75 24

PART NO. THREAD E /SHRAZ DN #5 = DASH C S 20612-22-10 M22X1.5 16 10 75 27

10612-22-08 M22X1.5 12 08 14 27 20612-24-10 M24X1.5 16 10 9 30

10612-24-10 M24X1.5 16 10 17 30 20612-27-12 M27X1.5 20 12 8 32
10612-27-10 M27X1.5 16 10 18 32
10612-30-12 M30X1.5 20 12 18 36
10612-33-16 M33X2 25 16 20 46
10612-42-20 M42X2 32 20 20 50
10612-45-20 M45X2 32 20 20 55

10612-52-24 M52X2 40 24 20 60




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

45° EFRAHINIBL 60° SMEE
45° GB METRIC FEMALE 60° - : : RHINEREL 60° S
FLAT SEAT(CRIMP) 777 ezzaz) METRIC FEMALE 60° CONE(NON-CRIMP)
A,
&
- s -
PA{RJ“T’T\]O TH%?XE e ,jnyHOSE 59 F;E JJ DIMENSIONS ®e tg B HOSE BORE R DIMENSIONS
: SRR 5 S DASH c s H PART NO. THREAD E AFRAE DN i 2 DASH C S
20641-14-05 M14x15 8 05 6.5 19 208 S061114-04 NITRE ; " s s
20641-16-06 M16x15 10 06 7 22 21 OeLL 1605 e s . o5 - =
20641-18-08 M18xL5 12 08 75 24 232 Soeil 1800 Lol 2 0 o0 - 24
20641-22-10 M22XL5 16 10 75 27 27 S0e1199.08 Mool 2 5 p o =
20641-24-10 M24XL5 16 10 9 30 29.1 06119710 ML e 1o ; o
20641-27-12 M27XL5 20 12 8 32 335 Ll 30.1 NEE = 5 o -
30611-39-16 M39X2 25 16 10 46
m 30611-45-20 M45X2 32 20 11 55
30611-52-24 M52X2 40 24 12 60
30611-64-32 M64X2 50 32 15 75

e [ lininipjnininEm

i 90° EFrAHIHHEL 60° IMEE S
90° GB METRIC FEMALE 60°
FLAT SEAT(CRIMP) .
s I NHEINIBES 60° IMEEELS
= ; e ' ' METRIC FEMALE 60°
" Il WM‘M CONE FOR SPIRAL HOSE(NON-CRIMP)
K
C
e i E B HOSE BORE R} DIMENSIONS
PART NO. THREAD E AFRAIE DN % = DASH C S H
20691-14-05 M14x15 8 05 65 19 37 P, Py I& HOSE BORE = DIMENSIONS
20691-16-06 M16x1.5 10 06 7 22 40.5 PART NO. THREAD E /SFRAE DN #7 = DASH C S
20691-18-08 M18x15 12 08 75 24 442 306122208 NZ2XLS 5 0 5 >
20691-22-10 M22X1.5 16 10 75 27 52.3 206122710 V27X S e o 5 2
20691-24-10 M24X1.5 16 10 9 30 58.5 2061230 12 VI30XLS %0 5 5t >
20691-27-12 M27X1.5 20 12 8 32 66.8 2061239 16 ME9XL S o e I 26
30612-45-20 M45X2 32 20 11 55
30612-52-24 M52X2 40 24 12 60
30612-64-32 M64X2 50 32 15 75




68

R ik

Ningbo YH Hydraulic Machinery Factory

R

Ningbo YH Hydraulic Machinery Factory

—
~

45° A HIMERL 60° SMEE
45° METRIC FEMALE 60°
CONE(NON-CRIMP)

i

—

90° AHINERLL 60° SMEE

re 98y E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAZ DN ¥r = DASH C S H
30641-14-04 M14X1.5 6 04 55 19 20.2
30641-16-05 M16X1.5 8 05 55 22 215
30641-18-06 M18X1.5 10 06 6.5 24 22.6
30641-22-08 M22X1.5 12 08 7.5 27 26.8
30641-27-10 M27X1.5 16 10 9 30 27.8
30641-30-12 M30X1.5 20 12 8.5 32 325
30641-39-16 M39X2 25 16 10 46 342
30641-45-20 M45X2 32 20 11 55 40
30641-52-24 M52X2 40 24 12 60 45,5
30641-64-32 M64X2 50 32 15 75 54.2

45° NHINEEL 60° IMEMESE
45° METRIC FEMALE 60°
CONE FOR SPIRAL HOSE(NON-CRIMP)

B2 90° METRIC FEMALE 60°
CONE(NON-CRIMP)
52 [ ] ] o
LT

ke 12 £ f& HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFRPIE DN % = DASH C S2 H
30691-14-04 M14X1.5 6 04 5.5 19 33
30691-16-05 M16X1.5 8 05 5.5 22 37
30691-18-06 M18X1.5 10 06 6.5 24 43
30691-22-08 M22X1.5 12 08 7.5 27 49
30691-27-10 M27X1.5 16 10 9 30 53
30691-30-12 M30X1.5 20 12 8.5 32 64
30691-39-16 M39X2 25 16 10 46 73
30691-45-20 M45X2 32 20 11 55 87
30691-52-24 M52X2 40 24 12 60 97.5
30691-64-32 M64X2 50 32 15 75 123

I

H

-

90° NI NMBELL 60° SMEMESRE

re 184y E fZE HOSE BORE R DIMENSIONS

PART NO. THREAD E NFRAZ DN 1% 2 DASH C S H
30642-22-08 M22X1.5 12 08 7.5 27 26
30642-27-10 M27X1.5 16 10 9 30 27.7
30642-30-12 M30X1.5 20 12 8.5 32 324
30642-39-16 M39X2 25 16 10 46 34
30642-45-20 M45X2 32 20 11 55 404
30642-52-24 M52X2 40 24 12 60 45
30642-64-32 M64X2 50 32 15 75 54

E2) 90° METRIC FEMALE 60°
an = CONE FOR SPIRAL HOSE(NON-CRIMP)
e @
e 12 £ A& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E AFRARRE DN #% 2 DASH C S2 H
30692-22-08 M22X1.5 12 08 7.5 27 49
30692-27-10 M27X1.5 16 10 9 30 53.7
30692-30-12 M30X1.5 20 12 8.5 32 64.4
30692-39-16 M39X2 25 16 10 46 73
30692-45-20 M45X2 32 20 11 55 87.4
30692-52-24 M52X2 40 24 12 60 97
30692-64-32 M64X2 50 32 15 75 123

69



IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

51 . 5
T, 1T KRS
—_— BSPT MALE SWIVEL ;'/ W 4 BSPT MALE
E -
R 9B E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E \FRAI4Z DN #% 2 DASH C S
prem e B HOSE BORE < DIMENSIONS 13011-02-04 R1/8::X28 6 04 10 12
PART NO. THREAD E AFRIE DN == DASH < 13011-04-04 R1/4"X19 6 04 14 17
3011SW-04.04 26U s s o = 13011-06-04 R3/8"X19 6 04 14 19
13011SW-06-06 ZG3/8"-19 10 06 19 13011-06-05 R3/8°X19 8 05 14 19
30115W-08.08 2G1/2-14 5 08 > 13011-06-06 R3/8"X19 10 06 14 19
3011W-12.12 2G3/4-14 2 5 > 13011-08-06 R1/2"X14 10 06 19 22
30L1SW-16.16 61 11 - e i 13011-08-08 R1/2"X14 12 08 19 22
13011-12-12 R3/4"X14 20 12 19.5 30
13011-16-16 R1"X11 25 16 24 36
m 13011-20-20 R1.1/4"X11 32 20 25 46
13011-24-20 R1.1/2"X11 32 20 25 50
13011-24-24 R1.1/2"X11 40 24 25 50
% 13011-32-32 R2"X11 50 32 28 65
HITT— EHE RS 13012
' : BSPT FEMALE
C
il REEIMEL B
3 [ ' BSPT MALE FOR SPIRAL HOSE
S
e 12 £ B HOSE BORE R DIMENSIONS E
PART NO. THREAD E ,NFRAR DN % 2 DASH S1
13011N-04-04 ZG1/4"-19 6 04 19
13011N-06-06 ZG3/8"-19 10 06 22 re B E A& HOSE BORE R+ DIMENSIONS
13011N-08-08 ZG1/2"-14 12 08 27 PART NO. THREAD E AFRAIE DN #% 2 DASH C S
13011N-12-12 ZG3/4"-14 20 12 32 13012-08-08 R1/2"X14 12 08 19 22
13012-12-12 R3/4"X14 20 12 19.5 30
13012-16-16 R1"X11 25 16 24 36
13012-20-20 R1.1/4"X11 32 20 25 46
13012-24-20 R1.1/2"'X11 32 20 25 50
13012-24-24 R1.1/2'X11 40 24 25 50
13012-32-32 R2"X11 50 32 28 65




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

51 S
[
I T ) weeessmea — ) [ s
| ' ' NPT MALE SWIVEL S : ) [l v B ITERS
AT AIRTALILI T 3 [T : NPT MALE
o A
Y E

re 1B E & HOSE BORE R DIMENSIONS re B E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E /AFRAGAE DN #7 = DASH s1 PART NO. THREAD E FRAAE DN 1% S DASH C S
15611SW-04-04 71/4"-18 6 04 17 15611-04-04 Z1/4"X18 6 04 14 17
15611SW-06-06 Z3/8"-18 10 06 19 15611-06-06 Z3/8"X18 10 06 14 19
15611SW-08-08 Z1/2"-14 12 08 22 15611-08-08 Z1/2"X14 12 08 19 22
15611SW-12-12 Z3/4"-14 20 12 32 15611-12-10 Z3/4"X14 16 10 195 30
15611SW-16-16 Z1"-11.5 25 16 41 15611-12-12 Z3/4"X14 20 12 195 30
15611-16-16 Z1"X11.5 25 16 24 36
15611-20-20 Z1Y%4"X11.5 32 20 25 46
m 15611-24-24 Z1Y%>"X11.5 40 24 25 50
15611-32-32 Z2"X11.5 50 32 28 65

51

CUTMIIIIT sesmes :

/ijy 777 NPT FEMALE ¢ o
7T 177, f ﬁ::

TIIIIT T #easesmss

NPT MALE FOR SPIRAL HOSE

60.

re 4By £ A& HOSE BORE R DIMENSIONS
PART NO. THREAD E NFRA1R DN #x = DASH S
15611N-04-04 Z1/4"-18 6 04 19 re 124y E & HOSE BORE R~ DIMENSIONS
15611N-06-06 Z3/8"-18 10 06 22 PART NO. THREAD E ARRAE DN #% S DASH C S
15611N-08-08 71/2"-14 12 08 27 15612-08-08 Z1/2"X14 12 08 19 22
15611N-12-12 73/4"-14 20 12 32 15612-12-10 Z3/4"X14 16 10 19.5 30
15612-12-12 Z3/4"X14 20 12 19.5 30
15612-16-16 Z1'X11.5 25 16 24 36
15612-20-20 Z1%"X11.5 32 20 25 46
15612-24-24 Z1%:"X11.5 40 24 25 50

15612-32-32 Z2"X11.5 50 32 28 65




Ningbo YH Hydraulic Machinery Factory

V) B E

Ningbo YH Hydraulic Machinery Factory

=
0

[ T *HWWW

=
E

HEEIMEG A B
NPT MALE INTERLOCK

re $E4 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA4Z DN ¥R = DASH C S
15613-08-08 Z1/2"X14 12 08 19 22
15613-12-10 Z3/4"X14 16 10 19.5 30
15613-12-12 Z3/4"X14 20 12 19.5 30
15613-16-16 Z1"X11.5 25 16 24 36
15613-20-20 Z1%"X11.5 32 20 25 46
15613-24-24 Z1%2"X11.5 40 24 25 50
15613-32-32 Z2"X11.5 50 32 28 65

15613L

T

mEFE MR A B

\ | @WZWZ@ NPT MALE INTERLOCK STRENGTHEN
E~

e 124y f& HOSE BORE R<F DIMENSIONS
PART NO. THREAD E 4NFRAE DN #% 2 DASH C S
15613L-20-20 Z1%"X11.5 32 20 25 46
15613L-24-24 Z1%"X11.5 40 24 25 50
15613L-32-32 Z2"'X11.5 50 32 28 65

u eﬂamﬂﬂﬂmﬂﬂ
%WM!JA{ZJ

HENIBLEKE
BSP FEMALE MULISEAL
o
.C.|
re #8457 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAZ DN ¥R = DASH C S
22111-04-04 G1/4"X19 6 04 4 19
22111-06-06 G3/8"X19 10 06 6 22
22111-08-08 G1/2"X14 12 08 7 27
22111-10-10 G5/8"X14 16 10 7 30
22111-12-12 G3/4"X14 20 12 8 32
22111-16-16 G1"X11 25 16 7.5 41
22111-20-20 G1¥%"X11 32 20 7 50
22111-24-24 G1%2"X11 40 24 7 55
22111-32-32 G2"X11 50 32 9 70

5
) AHITIIIT T seressrmass
BSP FEMALE MULTISEAL
FOR SPIRAL HOSE
C
= 9By E K& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA{2 DN ¥r 2 DASH C S
22112-08-08 G1/2"X14 12 08 7 27
22112-10-10 G5/8"X14 16 10 7 30
22112-12-12 G3/4"X14 20 12 8 32
22112-16-16 G1"X11 25 16 7.5 41
22112-20-20 Glva"X11 32 20 7 50
22112-24-24 G1Y%2"X11 40 24 7 55
22112-32-32 G2"X11 50 32 9 70

75



TR E V) B E

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

il T
:

- T

45° ENIELIKE

45° BSP FEMALE MULISEAL 90° HENERLIIKE

sA 4 90° BSP FEMALE MULISEAL
E
re P d f¥& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAZ DN ¥R 2 DASH C S H s B4 E fZE HOSE BORE R~ DIMENSIONS
22141-04-04 G1/4"X19 6 04 4 19 216 PART NO. THREADE | AFRPIEDN | 155 DASH C s H
22141-06-05 G3/8"X19 8 05 6 22 232 22191-04-04 G1/4"X19 6 04 4 19 38.5
22141-06-06 G3/8"X19 10 06 6 22 24 22191-06-05 G3/8"X19 8 05 6 22 42
22141-08-08 G1/2"X14 12 08 7 27 27 22191-06-06 G3/8"X19 10 06 6 22 44.8
22141-10-10 G5/8"X14 16 10 7 30 295 22191-08-08 G1/2"X14 12 08 7 27 52
22141-12-12 G3/4"X14 20 12 8 32 33.2 22191-10-10 G5/8"X14 16 10 7 30 57.5
22141-16-16 G1'X11 25 16 75 41 35 22191-12-12 G3/4"X14 20 12 8 32 68
22141-20-20 Gl¥"X11 32 20 7 50 412 22191-16-16 G1"X11 25 16 7.5 41 75
22141-24-24 G1%2"X11 40 24 7 55 49 22191-20-20 G1%"X11 32 20 7 >0 85
22141-32-32 G2"X11 50 32 9 70 53 22191-24-24 G1¥2"X11 40 24 7 55 108
22191-32-32 G2X11 50 32 9 70 1238

ey

o kAt + farey
45° HENIELGIKEELE 90° HENIELIFKEELSE

o
gilRiftlgg\élALE MULTISEAL FOR N 90° BSP FEMALE MULTISEAL
FOR SPIRAL HOSE
2
=1 9B E 5% HOSE BORE R~ DIMENSIONS E
PART NO. THREAD E ANFRAZ DN 1= = DASH C S H
22142-08-08 G1/2"X14 12 08 7 27 27.3 re 184 E fX& HOSE BORE R~ DIMENSIONS
22142-10-10 G5/8"X14 16 10 7 30 29 PART NO. THREAD E AFRA1E DN X & DASH C S H
22142-12-12 G3/4"X14 20 12 8 32 332 22192-08-08 G1/2"X14 12 08 7 27 52
22142-16-16 G1"X11 25 16 75 41 35 22192-10-10 G5/8"X14 16 10 7 30 57.5
22142-20-20 G1v"X11 32 20 7 50 41.2 22192-12-12 G3/4"X14 20 12 8 32 68
22142-24-24 G1%2"X11 40 24 7 55 49 22192-16-16 G1'X11 25 16 75 41 75
22142-32-32 G2"X11 50 32 9 70 53 22192-20-20 G1v4"X11 32 20 7 50 85
22192-24-24 G1%:"X11 40 24 7 55 108
22192-32-32 G2'X11 50 32 9 70 123.8




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

A

= A \E " T - i g P PR e .
) I _}Tmﬂnwww—‘ HEIMBAFEARREAA R R

BSP MALE FLAT BONDED SEAL L

‘ W - | - BSP FEMALE FLAT SEAT
U

re rrds P& HOSE BORE R~ DIMENSIONS C
PART NO. THREAD E s = —

AFRPYEE DN #r 5 DASH C 5 e B £ & HOSE BORE < DIMENSIONS
12211A-04-04 G1/4"X19 6 04 12 19 PART NO. THREAD E LFRAE DN #x 5 DASH C S
T s - I — o T — i ———
12211A'08'04 L2 . ” 1('5 > 22211-06-06 G3/8"X19 10 06 8.5 22
12211A'08'06 CL/2m14 0 06 I > 22211-08-08 G1/2'X14 12 08 10.5 27
12211A-08-08 G1/2"X14 12 08 16 27 22211-10-10 G5/8'X14 16 10 13 30
12211A_10-10 G5/8"X14 16 10 17.5 30 22211-12-12 G3/4°X14 20 12 14 32
12211A-12_10 G3/4"X14 16 10 18.5 32 22211-16-16 G1'X11 25 16 14.5 4l
LA 1212 C3/am1a 20 L 18'5 > 22211-20-20 G1.1/4"X11 32 20 16 50
LIA 1216 G3/amin o e 18‘5 % 22211-24-24 G1.1/2"X11 40 24 18 55
il : 22211-32-32 G2"X11 50 32 24 70

12211A-16-16 G1"X11 25 16 205 41

12211A-20-20 G1.1/4"X11 32 20 20.5 50

3
G w ¥
¥ 1 \ N 2 = T A==
L : ; BSP MALE FLAT BONDED SEAL 7 e SPIRAL HOSE
W%zgﬂw =z FOR SPIRAL HOSE L)
re rds P& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRA4Z DN = 2 DASH C S re 8857 E fXE HOSE BORE R DIMENSIONS

12212A-08-08 G1/2"X14 12 08 16 27 PART NO. THREAD E \FRAIFE DN #x 5 DASH C S
12212A-10-10 G5/8"X14 16 10 17.5 30 22212-08-08 G1/2"X14 12 08 10.5 27
12212A-12-10 G3/4"X14 16 10 18.5 32 22212-10-10 G5/8"X14 16 10 13 30
12212A-12-12 G3/4"X14 20 12 18.5 32 22212-12-12 G3/4"X14 20 12 14 32
12212A-12-16 G3/4"X14 25 16 18.5 36 22212-16-16 G1"X11 25 16 14.5 41
12212A-16-16 G1"X11 25 16 20.5 41 22212-20-20 G1.1/4"X11 32 20 16 50
12212A-20-20 Glv"X11 32 20 205 50 22212-24-24 G1.1/2"X11 40 24 18 55
22212-32-32 G2"X11 50 32 24 70




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

/:W ALy

ﬂffqﬂ'{l’!fffff ST TLET

: il [ i gnininem
<N

[ 1Y
45" HENBLTE : . sy
45° BSP FEMALE FLAT SEAT 90° RENBELFH
j z 90° BSP FEMALE FLAT SEAT
2 E
e 1B E s HOSE BORE R DIMENSIONS
PART NO. THREAD E AFRAY/E DN % = DASH C S H e iy E ¥ HOSE BORE R} DIMENSIONS
22241-10-10 G5/8"X14 16 10 13 30 26.8 PART NO. THREAD E AFRAE DN #% = DASH C S H
22241-12-12 G3/4"X11 20 12 14 32 30.2 22291-04-04 G1/4"X19 6 04 8 19 34.5
22241-16-16 G1"X11 25 16 14.5 41 31.5 22291-06-05 G3/8"X19 8 05 8.5 22 41.3
22241-20-20 G1v4"X11 32 20 16 50 36.6 22291-06-06 G3/8"X19 10 06 8.5 22 41.3
22241-24-24 G1%2"X11 40 24 18 55 36.5 22291-08-08 G1/2"X14 12 08 10.5 27 48
22241-32-32 G2"X11 50 32 24 75 40.5 22291-10-10 G5/8"X14 16 10 13 30 54
22291-12-12 G3/4"X14 20 12 14 32 63.5
22291-16-16 G1"X11 25 16 145 41 70
22291-20-20 G1lv,"X11 32 20 16 50 82.5
22291-24-24 G1%2"X11 40 24 18 55 98.5
22291-32-32 G2"X11 50 32 24 70 125.3

45° RENBYTEHESE
45° BSP FEMALE FLAT SEAT FOR

80

SPIRAL O _—THmrrmr T
. s
. / |
90° EENBLTHESE
% HOSE BORE < DIVENSIONS 90° BSP FEMALE FLAT SEAT FOR
es i E 28 : ( 17
PART NO. THREADE | ,\FRi&DN | %7 = DASH C S H i ) d SPIRAL HOSE
22242-10-10 G5/8"X14 16 10 13 30 26.8 e
22242-12-12 G3/4"X11 20 12 14 32 30.2
22242-16-16 G1"X11 25 16 14.5 41 315
22242-20-20 G1v%"X11 32 20 16 50 36.6 re 98 E & HOSE BORE R<} DIMENSIONS
22242-24-24 G1¥2"X11 40 24 18 55 36.5 PART NO. THREAD E AFRAZ DN % = DASH C S H
22242-32-32 G2"X11 50 32 24 75 40.5 22292-08-08 G1/2'X14 12 08 10.5 27 48
22292-10-10 G5/8"X14 16 10 13 30 54
22292-12-12 G3/4"X14 20 12 14 32 63.6
22292-16-16 G1'X11 25 16 14.5 41 70
22292-20-20 G1.1/4"X11 32 20 16 50 82
22292-24-24 G1.1/2"X11 40 24 18 55 98
22292-32-32 G2'X11 50 32 24 70 125

81



IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

5
S
i B
' BSP MALE 60° CONE SEAT/WITH Sow : "
L3 ' ' WD BSP FEMALE 60° CONE
O
C
e i85 B HOSE BORE R} DIMENSIONS
12611A-02-02 G1/8"X28 4 02 10 14 PART NO. THREAD E /NFRIAGAE DN 15 = DASH C S
12611A-02-04 G1/8'X19 6 04 10 14 6110404 GL/a"x1s . 0 s T
12611A-04-04 G1/4"X19 4 04 12 19 22611-06-06 G3/8"X19 10 06 6.5 22
12611A-04-06 G1/4"'X14 10 06 12 19 S 611.08.08 G124 5 08 . ~
12611A-06-04 G3/8"X14 6 04 135 22 6111010 G5 /a4 6 0 05 0
12611A-06-05 G3/8"X14 8 05 13.5 22 22611-12-12 G3/4"X14 20 12 115 32
12611A-06-06 G3/8'X14 10 06 135 22 6111616 CIXLL T 1 i al
12611A-06-08 G3/8"X14 13 08 135 22 26112020 G114 > 0 5 %
12611A-08-08 G1/2'X14 13 08 16 27 22611-24-24 G11/2'X11 40 24 13 55
12611A-08-06 G1/2'X14 10 06 16 27 526113732 SO i > e 2
12611A-10-10 G5/8"X14 16 10 175 30
12611A-12-12 G3/4"X14 20 12 185 32
12611A-16-16 GI'X11 25 16 205 41 m
12611A-20-20 GL.1/4'X11 32 20 205 50
12611A-24-24 GL1/2'X11 40 24 23 55
12611A-32-32 G2'X11 50 32 255 70
F HENIEL 60° IMEMESES
=5 CONE FOR SPIRAL HOSE
C = N
Y 1y o A i~
; _ HEIMELY 60° NEMmARHEAS _C|
./ h [Ty | RExEss
LIJ "
\E\,/l// rrrrrrrZ I BSP MALE 60° CONE SEAT/WITH BONDED Jres 495 E B HOSE BORE < DIMENSIONS
%( SEAL FOR SPIRAL HOSE PART NO. THREAD E N f5 5 DASH c s
22612-08-08 G1/2'X14 12 08 8 27
22612-10-10 G5/8"X14 16 10 105 30
22612-12-12 G3/4'X14 20 12 115 32
re 1B E & HOSE BORE R~ DIMENSIONS 22612-16-16 Gl"X"ll 25 16 115 41
PART NO. THREAD E AFRAZ DN ¥x 2 DASH C S 22612-20-20 G1.1/4"X11 32 20 12 50
12612A-12-12 G3/4"X14 20 12 185 32 22612-24-24 GL.1/2°X11 40 24 13 2>
12612A-16-16 GI'X11 25 16 205 41 22612-32-32 G2'X11 >0 32 16 /0
12612A-20-20 G1%'X11 32 20 205 50
12612A-24-24 G1¥2"X11 40 24 23 55
12612A-32-32 G2'X11 50 32 255 70




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

of I OHMITIT memeseo semmes
m\l WM‘ BSP FEMALE 60° CONE FOR INTERLOCK
k)

45° FEERNIEL 60° IMEEESE
45° BSP FEMALE 60° CONE FOR SPIRAL HOSE

.C_|
re 1847 E fRE HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFRA1Z DN % 2 DASH C S re 9847 E fE& HOSE BORE R DIMENSIONS

22613-08-08 G1/2'X14 12 08 8 27 PART NO. THREADE |  2\R@#2DN | 4% S DASH C s H

22613-12-12 G3/4"X14 20 12 115 32 22642-08-08 G1/2"X14 12 08 8 27 26.1

22613-16-16 G1"X11 25 16 115 41 22642-10-10 G5/8"X14 16 10 10.5 30 27.8

22613-20-20 G1lva"X11 32 20 12 50 22642-12-12 G3/4"X14 20 12 115 32 31

22613-24-24 G1v»2"X11 40 24 13 55 22642-16-16 G1"X11 25 16 115 41 34

22613-32-32 G2"X11 50 32 16 70 22642-20-20 G1.1/4"X11 32 20 12 50 40
22642-24-24 G1.1/2"X11 40 24 13 55 44.5
22642-32-32 G2"X11 50 32 16 70 52.7

45° TERNIEL 60° SMEE
45° BSP FEMALE 60° CONE

45° FEHNEL 60° JMEE R
45° BSP FEMALE 60° CONE FOR INTERLOCK

re 124y E B HOSE BORE R~ DIMENSIONS

PART NO. THREAD E AFRRAZDN | #% S DASH @ S H
22641-04-04 G1/4"X19 6 04 5.5 19 20.2 re 4847 E & HOSE BORE R~ DIMENSIONS
22641-06-05 G3/8"X19 8 05 6.5 22 22 PART NO. THREAD E AFRAZ DN % 2 DASH C S H
22641-06-06 G3/8"X19 10 06 6.5 22 22.6 22643-08-08 G1/2"X14 12 08 8 27 26
22641-08-08 G1/2"X14 12 08 8 27 26.1 22643-12-12 G3/4"X14 20 12 115 32 31.8
22641-10-10 G5/8"X14 16 10 10.5 30 27.8 22643-16-16 G1"X11 25 16 115 41 34.2
22641-12-12 G3/4"X14 20 12 115 32 31.8 22643-20-20 G1va"X11 32 20 12 50 38
22641-16-16 G1'X11 25 16 11.5 41 34.2 22643-24-24 G1¥2"X11 40 24 13 55 455
22641-20-20 G1.1/4"X11 32 20 12 50 40 22643-32-32 G2"X11 50 32 16 70 52.7
22641-24-24 G1.1/2"X11 40 24 13 55 44.8
22641-32-32 G2"X11 50 32 16 70 527




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

I
he Z) 00° REWBA 60° SHEE 00° BEEMIRLL 60° SMETT I
ST 90° BSP FEMALE 60° CONE ks %
A 5 | | 90° BSP FEMALE 60° CONE FOR INTERLOCK
fres, B B HOSE BORE R DIMENSIONS i
. AN N =T =] =i <
PART NO THREAD E JNERP4Z DN ¥ DASH C S H we 885 ¥ HOSE BORE R~} DIMENSIONS
22691-04-04 G1/4"X19 6 04 55 19 36.5 PART NO. THREAD E JNERPIZ DN #% 2 DASH C S H
22691-06-06 G3/8°X19 10 06 6.5 22 43 22693-08-08 G1/2'X14 12 08 8 27 51.2
22691-08-08 G1/2°X14 12 08 8 27 >1 22693-12-12 G3/4"X14 20 12 115 32 66.5
22691-10-10 Go/8"X14 16 10 105 30 >6 22693-16-16 G1'X11 25 16 115 41 73.8
22691-12-12 G3/4°X14 20 12 115 32 66 22693-20-20 G1%"X11 32 20 12 50 87.5
22691-16-16 G1'X11 25 16 115 41 738 2693-24-24 C1X1 20 4 13 o 102
22691-20-20 GL1/4"X11 32 20 12 50 87 92693.37.32 X1l 50 2 1 0 1253
22691-24-24 GL1/2'X11 40 24 13 55 102

22691-32-32 G2"X11 50 32 16 70 1253 m

S1

_ [ae
T Zﬁ M RHEASae0 shemuss
3 : BSP FEMALE 60°

O
’ CONE WITH DOUBLE HEXAGON

[]-F

iy

H
o

% 90° EENIZL 60° SMHEEELEE
(o) (o]
[ > 90° BSP FEMALE 60° CONE FOR SPIRAL HOSE o= o B HOSE BORE < DIVIENSIONS
s/ ] PART NO. THREAD E AFRAE DN 1% S DASH C s1 s2
A\ 22611D-04-04 G1/4"X19 6 04 55 19 19
@5 22611D-06-06 G3/8"X19 10 06 6.5 22 22
22611D-08-08 G1/2"X14 12 08 8 27 27
= 1247 E fx& HOSE BORE R DIMENSIONS 22611D-12-12 G3/4"X14 20 12 11.5 32 32
PART NO. THREAD E AFRA#Z DN #% S DASH C S H 22611D-16-16 G1'X11 25 16 115 41 41
22692-08-08 G1/2"X14 12 08 8 27 51 22611D-20-20 G11/4"X11 32 20 12 50 50
22692-10-10 G5/8"X14 16 10 10.5 30 56.5 22611D-24-24 G11/2"X11 40 24 13 55 55
22692-12-12 G3/4"X14 20 12 11.5 32 66.6 22611D-32-32 G2"X11 50 32 16 70 70
22692-16-16 G1"X11 25 16 11.5 41 73.8
22692-20-20 G1.1/4"X11 32 20 12 50 87
22692-24-24 G1.1/2"X11 40 24 13 55 102.3
22692-32-32 G2"X11 50 32 16 70 1254




IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

——ﬁ 1 i KE NG 60° SMETWARELEE
g BSP FEMALE 60° CONE WITH DOUBLE

\.J|I )
4’/_/‘///[// /[/‘/Illlllfllllllllllllllllllt
/,/% T HEXAGON FOR SPIRAL HOSE

L 90° MHHEBENIEL 60° IMEEBELEE
s 813 E B HOSE BORE /R DIMENSIONS ?DOSNEB i%ﬂi“f@fﬁow FOR SPIRAL HOSE
PART NO. THREADE |  2HRpRDN | 455 DASH C s1 52
22612D-04-04 G1/4"X19 6 04 55 19 19
22612D-06-06 G3/8"X19 10 06 6.5 22 22
22612D-08-08 G1/2'X14 12 08 8 27 27 — e e HOSE BORE T DIMENSIONS
22612D-12-12 G3/4"X14 20 12 115 32 32 pAfaJCTTu o TH%EAD e P o
22612D-16-16 G1'X11 25 16 115 41 41 ‘ AFRPE DN | #7S DASH C 1 2 H
52612D-20-20 GLL/AYX11 5 0 T 50 50 22692K-04-04 G1/4"X19 6 04 55 14 19 185
92612D-24-24 eLL/2°X11 20 4 13 = = 22692K-06-06 G3/8"X19 10 06 6.5 17 22 24
92612D-32.32 a1l 50 2 16 20 0 22692K-08-08 G1/2'X14 12 08 8 22 27 288
22692K-10-10 G5/8'X14 16 10 105 22 30 293
22692K-12-12 G3/4'X14 20 12 115 27 32 33
m 22692K-16-16 G1'X11 25 16 115 33 41 381

jo— i

h % e
: % 00° WEHENIBEL 60° IMEME . Eﬂﬂﬂ—ﬂ’ﬂﬂj SAE 7 O BB iEEE IMELL

E

; 7 90° BSP FEMALE 60° CONE COMPACT ELBOW SAE MALE BOSS SWIVEL WITH O-RING
L
52 /\
Ze5.S
re sy B HOSE BORE R~ DIMENSIONS
e 12 B2 HOSE BORE R~ DIMENSIONS PART NO. THREAD E AFRPEE DN 1% 5 DASH s1
PART NO. THREADE | AFRAZDN | %5 = DASH C s1 2 H 16011SW-08-06 U3/4"-16 10 06 27
22691K-04-04 G1/4"X19 6 04 55 14 19 18.5 160115W-08-08 U3/4"-16 12 08 27
22691K-06-06 G3/8"X19 10 06 6.5 17 22 24.2 160115w-10-08 u7/8"-14 12 08 27
22691K-08-08 G1/2"X14 12 08 8 22 27 28.5 160115W-10-10 u7/8"-14 16 10 27
22691K-10-10 G5/8"X14 16 10 10.5 22 30 29.2 16011SW-12-12 Ul1l/16"-12 20 12 32
22691K-12-12 G3/4"X14 20 12 115 27 32 335
22691K-16-16 G1'X11 25 16 115 33 41 381




TR E V) B E

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

K

S
4
C
o 1] B2
3 1 [T ) SAE SMRELH O 2 AT T 1 UIC SMBEL 740 SNETE
SAE MALE WITH O-RING i ; ] 0’
?’///WLLJHM#IL rarars S JIC MALE 74° CONE
[he=; #2467 E i HOSE BORE R DIMENSIONS \i
PART NO. THREAD E NFRA42 DN ¥R 2 DASH C S
16011-04-04 7/16"X20 6 04 10 14
16011-05-04 1/2"X20 6 04 10 17 re 1B E & HOSE BORE R~ DIMENSIONS
16011-06-05 9/16"X18 8 05 12 17 PART NO. THREAD E /AFRPAZ DN 1% = DASH C s1
16011-06-06 9/16"X18 10 06 12 17 16711-04-04 7/16"X20 6 04 " 0
16011-08-06 3/4"X16 10 06 12 22 16711-05-04 1/2"%20 6 04 2 14
16011-08-08 3/4"X16 12 08 12 22 16711-05-05 1/2"%20 3 05 1 4
16011-10-08 7/8"X14 12 08 13.5 27 16711-06-04 9/16"X18 5 04 ) 17
16011-10-10 7/8"X14 16 10 13.5 27 16711-06-05 9/16'X18 3 05 ) 17
16011-12-10 1.1/16"X12 16 10 16 32 16711-06-06 9/16"X18 10 06 12 17
16011-12-12 1.1/16°X12 20 12 16 32 16711-08-06 3/4"X16 10 06 16.7 22
16011-16-16 1.5/16'X12 25 16 17 4 16711-08-08 3/4"X16 12 08 16.7 22
16011-20-20 1.5/8"X12 32 20 18 50 16711-10-06 7/8'X14 0 06 195 22
16011-24-24 1.7/8"X12 40 24 18.5 55 16711-10-08 7/8'X14 132 08 195 22
16011-32-32 2.1/2"X12 50 32 22 70 16711-10-10 7/8'X14 16 10 195 22
16711-12-08 1.1/16"X12 12 08 22 30
m 16711-12-10 1.1/16"X12 16 10 22 30
16711-12-12 1.1/16"X12 20 12 22 30
g 16711-12-16 1.1/16"X12 25 16 22 32
* 16711-14-12 1.3/16"X12 20 12 225 32
: 16711-16-12 1.5/16"X12 20 12 23 36
- - =T p
T EMsesman o vmass o e L
“ ) ' a 16711-20-20 1.5/8"X12 32 20 245 46
7 W““’"‘“‘“’ e SPIRAL HOSE 16711-24-20 1.7/8"X12 32 20 275 50
16711-24-24 1.7/8"X12 40 24 27.5 50
16711-32-32 2.1/2"X12 50 32 34 65
®re 1247 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NERA4R DN ¥R 2 DASH C S
16012-08-08 3/4"X16 12 08 12 22
16012-10-08 7/8"'X14 12 08 13.5 27
16012-10-10 7/8"'X14 16 10 13.5 27
16012-12-10 1.1/16"X12 16 10 16 32
16012-12-12 1.1/16"X12 20 12 16 32
16012-16-16 1.5/16"X12 25 16 17 41
16012-20-20 1.5/8"X12 32 20 18 50
16012-24-24 1.7/8"X12 40 24 18.5 55
16012-32-32 2.1/2"'X12 50 32 22 70




TR E V) B E

Ningbo YH Hydraulic Machinery Factory

\/

Ningbo YH Hydraulic Machinery Factory

26711

6712

Sl
C
) e ‘ — o |l _ 241 JIC WIBSL 74° WA
~ - ; Sl JIC SMREL 74° IMEEELR | S JIC FEMALE 74° CONE SEAT
JIC MALE 74° CONE FOR SPIRAL HOSE \/ %Aﬁ&
W" ;
\S1
e, 2y £ B HOSE BORE R DIMENSIONS s 0 ARE HOSE BORE JJ DIMENSIONS
PART NO. THREAD E AFRIZ DN #% 2 DASH C s1 PART NO. THREAD E AFRAIE DN #5 5 DASH c s1
16712-08-08 3/4"X16 12 08 16.7 22 26711-04-04 7/16°X20 6 04 85 17
16712-10-10 7/8"X14 16 10 195 24 26711-05-04 1/2°X20 6 04 9.5 19
16712-12-12 1.1/16"X12 20 12 22 30 26711-05-05 1/2"X20 8 05 9.5 19
16712-16-16 1.5/16"X12 25 16 23 36 26711-06-04 9/16°X18 6 04 10 19
16712-20-20 1.5/8'X12 32 20 245 46 26711-06-05 9/16°X18 8 05 10 19
16712-24-24 1.7/8'X12 40 24 275 50 26711-06-06 9/16°X18 10 06 10 19
16712-32-32 2.1/2°X12 50 32 34 65 26711-08-06 3/4'X16 10 06 11 24
26711-08-08 3/4'X16 12 08 11 24
26711-08-10 3/4'X16 16 10 11 24
26711-10-06 7/8"X14 10 06 11 27
26711-10-08 7/8"X14 12 08 11 27
26711-10-10 7/8"X14 16 10 11 27
26711-10-12 7/8"X14 20 12 11 27
26711-12-08 1.1/16"X12 12 8 135 32
£ JIC RIBLL 74° RETE AL 26711-12-10 1.1/16"X12 16 10 135 32
26711-12-12 1.1/16'X12 20 12 135 32
JIC FEMALE 74° CONE SEAT 26711-12-16 1.1/16'X12 25 16 135 32
FOR SPIRAL HOSE 26711-14-12 1.3/16"X12 20 12 145 36
26711-16-12 1.5/16"X12 20 12 145 41
26711-16-14 1.5/16"X12 22 14 145 41
26711-16-16 1.5/16"X12 25 16 145 41
26711-16-20 1.5/16"X12 32 20 145 41
Jre 1955 E B HOSE BORE R~ DIMENSIONS 26711-20-16 1.5/8"X12 25 16 155 50
PART NO. THREAD E AFRW1Z DN = = DASH C S1 26711-20-20 1.5/8"X12 32 20 155 50
36712-08-08 3/4°%16 5 08 11 ” 26711-24-20 1.7/8'X12 32 20 185 55
267121010 2/8"X14 16 10 11 > 26711-24-24 1.7/8"X12 40 24 185 55
26712-12-12 1.1/16"X12 20 12 135 32 26711-32-32 2.1/2'X12 >0 32 245 7>
26712-16-16 1.5/16'X12 25 16 145 41
26712-20-20 1.5/8"X12 32 20 155 50
26712-24-24 1.7/8"X12 40 24 185 55
26712-32-32 2.1/2'X12 50 32 245 75




R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

45° ZE&| JIC NIBELL 74° WM ‘ ‘
45° JIC FEMALE 74° CONE SEAT 90° ZE#I JIC HIEL 74° W

Sl/{-l’/ 2 <} 90° JIC FEMALE 74° CONE SEAT

==
v . 8

Ke 184y E fZE HOSE BORE R~ DIMENSIONS
PART NO. THREAD E A\FRAZ DN ¥r = DASH C S1 H re 9B E BE HOSE BORE R~ DIMENSIONS
26741-04-04 7/16"X20 6 04 8.5 17 18 PART NO. THREAD E 2FRPIZ DN #% 2 DASH C s1 H
26741-05-04 1/2"X20 6 04 9.5 19 18.5 26791-04-04 7/16"X20 6 04 8.5 17 30
26741-05-05 1/2"X20 8 05 9.5 19 19.5 26791-05-04 1/2"X20 6 04 95 19 315
26741-06-04 9/16"X18 6 04 10 19 18.5 26791-05-05 1/2"X20 8 05 95 19 345
26741-06-05 9/16"X18 8 05 10 19 19.3 26791-06-04 9/16"X18 6 04 10 19 315
26741-06-06 9/16"X18 10 06 10 19 20 26791-06-05 9/16"X18 8 05 10 19 343
26741-08-06 3/4"X16 10 06 11 24 214 26791-06-06 9/16"X18 10 06 10 19 36
26741-08-08 3/4"X16 12 08 11 24 13.5 26791-08-06 3/4"X16 10 06 11 24 384
26741-10-06 7/8"X14 10 06 11 27 219 26791-08-08 3/4"X16 12 08 11 24 445
26741-10-08 7/8"X14 12 08 11 27 24 26791-10-06 7/8"X14 10 06 11 27 39.9
26741-10-10 7/8"X14 16 10 11 27 25 26791-10-08 7/8"X14 12 08 11 27 45
26741-10-12 7/8"X14 20 12 11 27 28 26791-10-10 7/8"X14 16 10 11 27 50
26741-12-08 1.1/16"X12 12 8 13.5 32 25 26791-12-08 1.1/16"X12 12 8 13.5 32 46
26741-12-10 1.1/16"X12 16 10 13.5 32 26 26791-12-10 1.1/16"X12 16 10 13.5 32 51.5
26741-12-12 1.1/16"X12 20 12 13.5 32 30 26791-12-12 1.1/16"X12 20 12 13.5 32 57.6
26741-14-12 1.3/16"X12 20 12 14.5 36 30 26791-14-12 1.3/16"X12 20 12 14.5 36 58
26741-16-12 1.5/16"X12 20 12 145 41 30 26791-16-12 1.5/16"X12 20 12 14.5 41 59.5
26741-16-16 1.5/16"X12 25 16 145 41 31 26791-16-14 1.5/16"X12 22 14 14.5 41 62
26741-20-16 1.5/8"X12 25 16 15.5 50 32 26791-16-16 1.5/16"X12 25 16 14.5 41 716
26741-20-20 1.5/8"X12 32 20 15.5 50 36 26791-20-16 1.5/8"X12 25 16 15.5 50 73
26741-24-20 1.7/8"X12 32 20 18.5 55 36 26791-20-20 1.5/8"X12 32 20 15.5 50 82
26741-24-24 1.7/8"X12 40 24 18.5 55 41 26791-24-20 1.7/8"X12 32 20 18.5 55 82
26741-32-32 2.1/2"X12 50 32 245 75 66 26791-24-24 1.7/8"X12 40 24 18.5 55 934
26791-32-32 2.1/2"X12 50 32 245 75 1189




Ningbo YH Hydraulic Machinery Factory

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

52 51

SEH JIC WERLL 74° NHEE WA
JIC FEMALE 74° CONE SEAT WITH

o Y o IR S =1 | )
45° £l JIC MIRY 74° NEEELE \ . ’ DOUBLE HEXAGON
45° JIC FEMALE 74° \\/gy 7z

CONE SEAT FOR SPIRAL HOSE C
re 1B E & HOSE BORE R DIMENSIONS
Rr= WELY E & HOSE BORE R~ DIMENSIONS PART NO. THREAD E AFRAZ DN % 2 DASH C S1 S2
PART NO. THREADE | 2¥RP9fZDN |  #5 5 DASH C s1 H 26711D-04-04 7/16'X20 6 04 85 17 17
26742-08-08 3/4"X16 12 08 11 24 135 26711D-05-04 1/2"X20 6 04 95 19 19
26742-10-10 7/8"X14 16 10 11 27 253 26711D-05-05 1/2"X20 8 05 95 19 19
26742-12-12 1.1/16"X12 20 12 135 32 30 26711D-06-05 9/16"X18 8 05 10 19 19
26742-16-16 1.5/16"X12 25 16 14.5 41 315 26711D-06-06 9/16"X18 10 06 10 19 19
26742-20-20 1.5/8"X12 32 20 24.5 50 36.6 26711D-08-06 3/4"X16 10 06 11 24 24
26742-24-24 1.7/8"X12 40 24 19.5 55 41.6 26711D-08-08 3/4"X16 12 08 11 24 24
26742-32-32 2.1/2"X12 50 32 245 75 66 26711D-10-10 7/8"X14 16 10 11 27 27
26711D-12-12 1.1/16"X12 20 12 135 32 32
26711D-16-16 1.5/16"X12 25 16 145 41 41
26792 26711D-20-20 1.5/8"X12 32 20 15.5 50 50
26711D-24-24 1.7/8"X12 40 24 185 55 55
26711D-32-32 2.1/2"X12 50 32 24.5 70 70
26712D
90° ZE#l JIC NIEL 74° NEEMELE s2 51
90° JIC FEMALE 74° CONE SEAT FOR
SPIRAL HOSE }ﬂ EH JIC MBS 74° NEENARESS
JIC FEMALE 74°
CONE SEAT WITH DOUBLE HEXAGON
FOR SPIRAL HOSE
re 4B E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAE DN ¥x 5 DASH C S1 H
26792-08-08 3/4"X16 12 08 11 24 44
26792-10-10 7/8"X14 16 10 11 27 50.5 e BB E B HOSE BORE R+ DIMENSIONS
26792-12-12 1.1/16'X12 20 12 135 32 57.5 PART NO. THREADE | AWM#EDN |  #5 S DASH C s1 52
26792-16-16 1.5/16"X12 25 16 14.5 41 715 26712D-08-08 3/4'X16 12 08 11 24 24
26792-20-20 1.5/8"X12 32 20 24.5 50 82 26712D-10-10 7/8"X14 16 10 11 27 27
26792-24-24 1.7/8"X12 40 24 195 55 93 26712D-12-12 1.1/16"X12 20 12 13.5 32 32
26792-32-32 2.1/2"X12 50 32 245 75 118 26712D-16-16 1.5/16"X12 25 16 14.5 41 41
26712D-20-20 1.5/8"X12 32 20 15.5 50 50
26712D-24-24 1.7/8"X12 40 24 18.5 55 55
26712D-32-32 2.1/2"X12 50 32 24.5 70 70




Ningbo YH Hydraulic Machinery Factory

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

7

E# JIC NG 74° WHEEAHIN =
JIC FEMALE 74°
CONE SEAT FOR INTERLOCK

45° | JIC NIRL 74° NHEE MBI
45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK

o= 9247 E & HOSE BORE R~F DIMENSIONS PAE?'F?\IO TH!%ZE . . /Hﬁt%‘ HOSE B(_)FS R~} DIMENSIONS
PART NO. THREAD E AFRPYE DN ¥~ 2 DASH c S1 - AFRIWEZDN | #7 2 DASH C s1 H
26713-08-08 3/4"X16 12 08 11 24 26743-08-08 3/4°X16 12 08 11 24 135
26713-12-12 11/16'X12 20 T 35 2 26743-12-12 11/16'X12 20 12 135 32 302
26713-16-16 15/16'X12 7 T a5 a 26743-16-16 15/16'X12 25 16 145 41 315
26713-20-20 15/8'X12 3 0 st % 26743-20-20 15/8X12 32 20 155 50 36.6
26713-24-24 17/8°X12 20 ” 185 e 26743-24-24 L7/8X12 40 24 185 55 46
26713-32-32 2.1/2°X12 0 3 4 == 26743-32-32 2.1/2"'X12 50 32 245 75 66.8

26743L

2671 3L

ﬂ ; EW T %V mims7a msrmmstskmes |

45° EH| JIC WERLL 74° AHEE M iz N5E

E I JIC FEMALE 74° 45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK
y , CONE SEAT FOR INTERLOCK STRENGTHEN
STRENGTHEN
C
r= 18457 E & HOSE BORE R~ DIMENSIONS
(2 1265 E fiz& HOSE BORE R DIMENSIONS PART NO. THREAD E AFRAZ DN 17 2 DASH C <1 H
PART NO. THREAD E 4FRAIAZ DN #% S DASH C s1 26743L-20-20 1.5/8"X12 32 20 155 50 36.6
26713L-20-20 1.5/8"X12 32 20 155 50 26743L-24-24 1.7/8"X12 40 24 185 55 416
26713L-24-24 1.7/8"X12 40 24 185 55 26743L-32-32 2.1/2"X12 50 32 245 75 66.8
26713L-32-32 2.1/2"X12 50 32 245 75

99



Ningbo YH Hydraulic Machinery Factory

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

7

i T~
= =
90° FE#l JIC MUEL 74° MEEAHIH s = 1%, . N
] ; 90° 4EHZEH JIC MRS 74° MEE
90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK K L= o .
= 90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW
E )
e
%] 1247 E fx& HOSE BORE R~ DIMENSIONS e i85y E f¥& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1E DN tx S DASH C S1 H PART NO. THREAD E JNFRPGAZ DN 15 2= DASH C s1 $2 H
26793-08-08 3/4"X16 12 08 11 24 44.4 26791K-04-04 7/16"X20 6 04 85 17 11 1822
26793-12-12 1.1/16"X12 20 12 135 32 575 26791K-06-02 9/16'X18 5 0 10 19 m 3l
26793-16-16 1.5/16"X12 25 16 145 41 715 26791K-06-06 9/16'X18 0 06 10 1 17 713
26793-20-20 1.5/8"X12 32 20 155 50 825 26791K-08-06 3/4°X16 0 06 1 4 19 %5
26791K-10-10 7/8"X14 16 10 11 27 22 275
26793L 26791K-12-12 1.1/16"X12 20 12 135 32 27 30
26791K-16-16 1.5/16"X12 25 16 145 41 33 343

J—— 26792K

,E% 00° 4l JIC MIBLL 74° MHETE M SR
.
M{_ ‘,t 90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK
4 E STRENGTHEN 90° fEHEH JIC MIBLL 74° NERMELEE
18" 90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW
FOR SPIRAL HOSE
e, i@y B¥E HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAR DN ¥r 2 DASH C S1 H
26793L-20-20 1.5/8"X12 32 20 155 50 82 re 184 E fk& HOSE BORE R~ DIMENSIONS
26793L-24-24 1.7/8"X12 40 24 185 55 93 PART NO. THREAD E NFRAMZ DN | #7 2 DASH C S1 S2 H
26793L-32-32 2.1/2"X12 50 32 245 75 1155 26792K-08-08 3/4"X16 12 08 11 24 22 255
26792K-10-08 7/8"X14 12 08 11 27 22 275
26792K-10-10 7/8"X14 16 10 11 27 22 275
26792K-12-12 1.1/16"X12 20 12 135 32 27 30
26792K-16-16 1.5/16"X12 25 16 145 41 33 343

100 101



102

7

R ik

Ningbo YH Hydraulic Machinery Factory

R

Ningbo YH Hydraulic Machinery Factory

—
~

17811

) C P’ﬁ'f

[T

X SAE MRS 90° AHEME

RIRIRIRIN

o, | _
M/Iffll LA ST L AT T TS LT ETT I
s |
y// 1'/
G

% SAE MRS 90° NHEE

SAE FEMALE 90°

CONE SEAT

77 T — SAE MALE 90° CONE SEAT
= 9247 E k& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E \FRA12 DN ¥r = DASH C S1
17811-04-04 7/16"X20 6 04 14 14
17811-05-05 1/2"X20 8 05 14.5 14
17811-06-06 5/8"X18 10 06 15.7 17
17811-08-08 3/4"X16 12 08 17 22
17811-10-10 7/8"X14 16 10 224 24
17811-12-12 1.1/16"X12 20 12 22 27

17812

C ’_’E

7

Hrmmmmm

SAE MALE 90°

| SAE SMELL 90° NHEEESE
CONE SEAT FOR SPIRAL

Ll S
HOSE
e 12y E & HOSE BORE R<f DIMENSIONS
PART NO. THREAD E AFRAIE DN #% S DASH @ s1
17812-08-08 3/4"X16 12 08 17 22
17812-10-10 7/8'X14 16 10 224 24
17812-12-12 1.1/16'X12 20 12 22 27

17811L

0 ﬁ linipinininem

S SAE SRS 90° SMETE

y/ LTI, EEEE e rre SAE MALE 90° CONE SEAT LONG TYPE

e By B HOSE BORE R+ DIMENSIONS

PART NO. THREAD E AFRAZ DN i 2 DASH C 1
17811L-04-04 7/16"X20 6 04 35 14
17811L-05-05 1/2"X20 8 05 36 14
17811L-06-06 5/8"X18 10 06 38 17
17811L-08-08 3/4"X16 12 08 40 19
17811L-10-10 7/8'X14 16 10 42 22
17811L-12-12 1.1/16°X12 20 12 45 27

e B E B& HOSE BORE R} DIMENSIONS
PART NO. THREAD E AFRPIFE DN #% 5 DASH C 51
27811-04-04 7/16°X20 6 04 8.5 17
27811-05-05 1/2X20 8 05 9.5 17
27811-06-06 5/8'X18 10 06 115 22
27811-08-08 3/4'X16 12 08 1 24
27811-10-10 7/8"X14 16 10 11 27
27811-12-12 1.1/16'X12 20 12 135 32

27812

X% SAE WHRLL 90° NHEEESE
SAE FEMALE 90° CONE SEAT FOR

L]
% A SPIRAL HOSE
C
re 9By E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r 2 DASH C S1
27812-08-08 3/4"X16 12 08 11 24
27812-10-10 7/8"X14 16 10 11 27
27812-12-12 1.1/16"X12 20 12 135 32

103



104

\/

R ik

Ningbo YH Hydraulic Machinery Factory

BAE R

V) SEIETE
7] =
Ningbo YH Hydraulic Machinery Factory

—
~

27841

fﬂlﬂmﬂﬂﬂﬁ
S

45°

45° =il SAE MRS 90° MHEE
SAE FEMALE 90°

CONE SEAT

45° =] SAE HIE4L 90° HSEMELSE
SAE FEMALE 90°

re 98 E XE HOSE BORE R~ DIMENSIONS
PART NO. THREAD E \FRA42 DN ¥r = DASH C S1 H
27841-04-04 7/16"X20 6 04 8.5 17 18.1
27841-05-05 1/2"X20 8 05 9.5 17 193
27841-06-06 5/8"X18 10 06 115 22 204
27841-08-08 3/4"X16 12 08 11 24 135
27841-10-10 7/8"X14 16 10 11 27 253
27841-12-12 1.1/16"X12 20 12 135 32 30
/’71 | ﬂT1T1T1T1T1T1—|
Y B

CONE SEAT FOR SPIRAL HOSE

e iy B HOSE BORE R DIMENSIONS
PART NO. THREADE | ,\FRA#ZDN |  #7 S DASH c s1 H
27842-04-04 7/16"X20 6 04 8.5 17 18.1
27842-05-05 1/2"X20 8 05 9.5 17 193
27842-06-06 5/8"X18 10 06 115 22 20
27842-08-08 3/4"X16 12 08 11 24 135
27842-10-10 7/8'X14 16 10 11 27 253
27842-12-12 1.1/16"X12 20 12 135 32 30

90° (I SAE R4 90° NHEE

90° SAE FEMALE 90°

CONE SEAT

e 1By £ & HOSE BORE R+ DIMENSIONS
PART NO. THREADE | ,#RWZDN | 4 = DASH C s1 H
27891-04-04 7/16"X20 6 04 8.5 17 30.5
27891-05-05 1/2"X20 8 05 9.5 17 34.2
27891-06-06 5/8"X18 10 06 115 22 36.5
27891-08-08 3/4"X16 12 08 11 24 44.2
27891-10-10 7/8'X14 16 10 11 27 50.5
27891-12-12 1.1/16°X12 20 12 135 32 57.5

90° ZEfHI SAE NIRLL 90° WEMELSEE

90° SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE
-
e i85 B HOSE BORE R~F DIMENSIONS
PART NO. THREADE |  2Rpg2 DN | 45 S DASH C s1 H
27892-04-04 7/16"X20 6 04 8.5 17 305
27892-05-05 1/2°X20 8 05 9.5 17 34
27892-06-06 5/8X18 10 06 115 22 365
27892-08-08 3/4"X16 12 08 11 24 44
27892-10-10 7/8'X14 16 10 11 27 50.5
27892-12-12 1.1/16"X12 20 12 135 32 57.5

105



Ningbo YH Hydraulic Machinery Factory

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

7

51
C S1 i)
( £l ORFS SMELFH O BB Z " : : S ORFS MRS FH
= ' : ORFS MALE O-RING SEAL Y U e ReSeR ORFS FEMALE FLAT SEAT(CRIMP)
Y T
C
Ke 8L E & HOSE BORE O U /O-RING R~ DIMENSIONS re 12457 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E LNFRAZ DN ¥ 2 DASH (HMES X 812 C S1 PART NO. THREAD E NFRAZ DN ¥r 2 DASH C S1

14211-04-04 9/16"X18 6 04 11.21 X1.78 14 17 24211-08-08 13/16"X16 12 08 12 27
14211-06-06 11/16"X16 10 06 12.81 X1.78 14 19 24211-20-20 1.11/16"X12 32 20 15.5 50
14211-08-08 13/16"X16 12 08 15.98 X1.78 15 22
14211-10-10 1"X14 16 10 19.16 X1.78 16.5 27
14211-12-12 1.3/16"X12 20 12 22.33 X1.78 17 32
14211-16-16 1.7/16"X12 25 16 27.08 X1.78 18.5 41
14211-20-20 1.11/16"X12 32 20 3343 X1.78 19.5 46 21
14211-24-24 2"X12 40 24 4138 X1.78 23.5 55 "

E#H ORFS NIEL FHELSRE
14212 . _ ~]  ORFS FEMALE FLAT SEAT FOR
g@ 2K SPIRAL HOSE(CRIMP)

e
C
C 51
presy i & HOSE BORE < DIMENSIONS
T B 2 s PART NO. THREAD E AFRAIE DN #5 = DASH C s1
N _ _ = ORFS SMESUFH O B % E45 R 24212-08-08 13/16"X16 12 08 12 27
] ORFS MALE O-RING SEAL 24212-20-20 1.11/16°X12 32 20 155 50
A FOR SPIRAL HOSE
presy i £ F& HOSE BORE O A& /O-RING R DIMENSIONS

PART NO. THREADE | ,A#Pi2DN | 47 S DASH |  (SME X&) c 51
14212-08-08 13/16'X16 12 08 15.98 X1.78 15 2
14212-10-10 1'X14 16 10 19.16 X1.78 165 27 o .
14212-12-12 13/16"X12 20 12 2233 X1.78 17 32 45° £l ORFS WS E
14212-16-16 1.7/16"X12 25 16 27.08 X178 185 41 45° ORFS FEMALE FLAT SEAT(CRIMP)
14212-20-20 1.11/16°X12 32 20 3343 X178 195 46
14212-24-24 2'X12 40 24 4138 X1.78 235 55

prem, i E B& HOSE BORE RJ' DIMENSIONS
PART NO. THREADE | 2R DN | 155 DASH C s1 H
24241-08-08 13/16'X16 12 08 12 27 304
24241-20-20 1.11/16°X12 32 20 155 50 46,5

106 107



108

7

Ningbo YH Hydraulic Machinery Factory

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

f’“’ HHWWIHHH_

45° ZE#] ORFS N2 FHELSE
45° ORFS FEMALE FLAT SEAT FOR SPIRAL
HOSE(CRIMP)

X% ORFS MRS T H

- ORFS FEMALE FLAT SEAT(NON-CRIMP)
A%// /’Wz_
L
= 1By E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH C S1
34211-04-04 9/16"x18 6 04 11 19
34211-06-06 11/16"x16 6 06 10 22
34211-10-10 1"'x14 16 10 135 30
34211-12-12 1.3/16"x12 20 12 15 36
34211-16-16 1.7/16"x12 25 16 15 41
34211-24-24 2"x12 40 24 19 60

Ke 184y E fZE HOSE BORE R DIMENSIONS
PART NO THREADE |  2\Rpg#2DN |  #55 DASH C s1 H
24242-08-08 13/16X16 12 08 12 27 30.4
24242-20-20 1.11/16"X12 32 20 155 50 46.5
//”_—ﬂﬂﬂﬂﬂﬂﬂﬁ
it 90° 4| ORFS WIBLFHE
p = 90° ORFS FEMALE FLAT SEAT(CRIMP)
Mﬁ;?—l
= BB E & HOSE BORE < DIMENSIONS
PART NO. THREAD E AFRAZ DN 5 = DASH C S1 H
24291-08-08 13/16"X16 12 08 12 27 55
24291-20-20 1.11/16"X12 32 20 155 50 97

7

=% ORFS NIRL FHESLE
ORFS FEMALE FLAT SEAT FOR SPIRAL
HOSE(NON-CRIMP)

| 17
£

90° =4I ORFS N4 e

90° ORFS FEMALE FLAT SEAT FOR SPIRAL HOSE(CRIMP)

= 1By E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E ,NFRA42 DN ¥r £ DASH C S1
34212-10-10 1"x14 16 10 135 30
34212-12-12 1.3/16"x12 20 12 13 32
34212-16-12 1.5/16"x12 20 12 14 41
34212-16-16 1.7/16"x12 25 16 14 41
34212-24-20 2"'x12 32 20 19 60
34212-24-24 2"x12 40 24 19 60

[he=; B2 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAIFZ DN #% 2 DASH C s1 H
24292-08-08 13/16"X16 12 08 12 27 55
24292-20-20 1.11/16"X12 32 20 15.5 50 97

109



110

Ningbo YH Hydraulic Machinery Factory

R IE R R

Ningbo YH Hydraulic Machinery Factory

45° ZEH ORFS WIRLIF |
45° ORFS FEMALE FLAT SEAT(NON-CRIMP)

P i pniim

r= B E K& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥r 2 DASH C S1 H
34241-04-04 9/16"x18 6 04 11 19 20.8
34241-06-06 11/16"x16 10 06 10 22 237
34241-10-08 1"'x14 13 08 135 30 233
34241-12-08 1.3/16"x12 13 08 13 36 235
34241-12-10 1.3/16"x12 16 10 13 36 19.5
34241-10-10 1"'x14 16 10 135 30 19
34241-12-12 1.3/16"x12 20 12 13 36 27.2
34241-16-12 1.7/16"x12 20 12 14 41 29.6
34241-16-16 1.7/16"x12 25 16 14 41 29.7
34241-24-24 2"x12 40 24 19 60 37.7

45°

45° %] ORFS WUEL FHELE
ORFS FEMALE FLAT SEAT FOR SPIRAL
HOSE(NON-CRIMP)

4l
ﬁé 90° % ORFS NIZLEH
/ R 90° ORFS FEMALE FLAT SEAT(NON-CRIMP)
s/l J ~
L_E _
KRS PR E & HOSE BORE R DIMENSIONS
PART NO. THREAD E LNFRAIR DN 5 2 DASH C S1 H
34291-04-04 9/16"x18 6 04 11 19 325
34291-06-06 11/16"x16 10 06 10 22 40
34291-10-08 1"x14 13 08 135 30 46
34291-12-08 1.3/16"x12 13 08 13 36 48
34291-12-10 1.3/16"x12 16 10 13 36 50
34291-10-10 1"x14 16 10 135 30 45
34291-12-12 1.3/16"x12 20 12 13 36 53.5
34291-16-12 1.7/16"x12 20 12 14 41 60.5
34291-16-16 1.7/16"x12 25 16 14 41 70
34291-24-24 2"x12 40 24 19 60 85.5

| 34292
e [n LIy g

90° Z#] ORFS NIEL T HELRE
90° ORFS FEMALE FLAT SEAT FOR SPIRAL

re 184y E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH C S1 H
34242-10-08 1"X14 13 08 135 30 235
34242-12-08 1.3/16"X12 13 08 13 36 23.6
34242-12-10 1.3/16"X12 16 10 13 36 19.6
34242-10-10 1"X14 16 10 13.5 30 19
34242-12-12 1.3/16"X12 20 12 13 36 27.2
34242-16-12 1.7/16"X12 20 12 14 41 29.6
34242-16-16 1.7/16"X12 25 16 14 41 29.8
34242-24-24 2"X12 40 24 19 60 37.7

‘IR
AL B HOSE(NON-CRIMP)
= | |
e 124y & HOSE BORE < DIMENSIONS
PART NO. THREAD E AFRAE DN tx S DASH C S1 H
34292-10-08 1"x14 13 08 13.5 30 46
34292-12-08 1.3/16"x12 13 08 13 36 48
34292-12-10 1.3/16"x12 16 10 13 36 50
34292-10-10 1"x14 16 10 13.5 30 45
34292-12-12 1.3/16"x12 20 12 13 36 53.5
34292-16-12 1.7/16"x12 20 12 14 41 60.5
34292-16-16 1.7/16"x12 25 16 14 41 70
34292-24-24 2"x12 40 24 19 60 85.5

111



112

R ik

Ningbo YH Hydraulic Machinery Factory

R

Ningbo YH Hydraulic Machinery Factory

—
~

51

%/:ﬁmﬁmmu

£ NPSM HHRSL 60° SMEE

NPSM FEMALE 60°

CONE

X% NPSM HH247 60° SMEE

NPSM FEMALE 60°

CONE

ks

L i
re 9247 E RE& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAZ DN 5 2 DASH C S1
21611-04-04 1/4"x18 6 04 55 19
21611-06-06 3/8"x18 10 06 6.5 22
21611-08-08 1/2"x14 12 08 8 27
21611-12-12 3/4"x14 20 12 115 32
21611-16-16 1"x11.5 25 16 11.5 41
21611-20-20 1.1/4"x11.5 32 20 12 50
21611-24-24 1.1/2"x11.5 40 24 13 55
21611-32-32 2"x11.5 50 32 16 70

e 1By f& HOSE BORE R~} DIMENSIONS

PART NO. THREAD E AFRA?Z DN % = DASH C S1 H
21641-04-04 1/4"x18 6 04 5.5 19 232
21641-06-06 3/8"x18 10 06 6.5 22 25
21641-08-08 1/2"x14 12 08 8 27 27.8
21641-12-12 3/4'x14 20 12 11.5 32 345
21641-16-16 1"'x115 25 16 11.5 41 35.2
21641-20-20 1.1/4"x115 32 20 12 50 39.3
21641-24-24 1.1/2"x115 40 24 13 55 445
21641-32-32 2'x11.5 50 32 16 70 63.5

gl

e

AT

=4 NPSM 247 60° SMEmMELSE
NPSM FEMALE 60°

CONE FOR SPIRAL HOSE

45° | NPSM NH247 60° SMEMELSE

&
e, 1B B HOSE BORE RF DIMENSIONS
PART NO. THREAD E AAFRPIE DN #% 2 DASH C s1
21612-08-08 1/2'x14 12 08 8 27
21612-12-12 3/4"x14 20 12 115 32
21612-16-16 1'x1L5 25 16 115 41
21612-20-20 1.1/4"x1L5 32 20 12 50
21612-24-24 1.1/2'x115 40 24 13 55
21612-32-32 2'x115 50 32 16 70

45° NPSM FEMALE 60° CONE FOR SPIRAL HOSE
re 1By f& HOSE BORE R~} DIMENSIONS
PART NO. THREAD E NFRIE DN % = DASH C s1 H
21642-08-08 1/2"x14 12 08 8 27 27.8
21642-12-12 3/4"x14 20 12 11.5 32 34.5
21642-16-16 1"'x11.5 25 16 115 41 35.2
21642-20-20 1.1/4"x115 32 20 12 50 39.3
21642-24-24 1.1/2"x115 40 24 13 55 445
21642-32-32 2"x11.5 50 32 16 70 63.5

113



R IE R R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

/ 10 AAABIMELL 60° SMET
T ﬁ&, | JIS METRIC MALE 60° CONE SEAT
o 90° NPSM FEMALE 60° CONE

e iy E A& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRAR DN ¥ = DASH C S1

18611-14-04 M14X1.5 6 04 17 19

re 4847 E fik'& HOSE BORE R~ DIMENSIONS 18611-16-05 M16X1.5 8 05 18 22

PART NO. THREAD E LFRAE DN t% 5 DASH C S1 H 18611-18-06 M18X1.5 10 06 18 24

21691-04-04 1/4"x18 6 04 55 19 33.2 18611-22-08 M22X1.5 12 08 20 27

21691-06-06 3/8'x18 10 06 6.5 22 395 18611-24-10 M24X1.5 16 10 215 32

21691-08-08 1/2"x14 12 08 8 27 46.5 18611-30-12 M30X1.5 22 12 26 36

21691-12-12 3/4'x14 20 12 115 32 59.5 18611-33-16 M33X15 25 16 30 41

21691-16-16 1"'x115 25 16 115 41 74 18611-36-20 M36X1.5 32 20 33 46

21691-20-20 1.1/4"x115 32 20 12 50 85.6 18611-42-24 M42X1.5 40 24 36 50
21691-24-24 1.1/2"x115 40 24 13 55 97

21691-32-32 2"x11.5 50 32 16 70 123.2 m

c 2l
A — = HAAHSMEL 60° SMERMELE
‘r+ﬂTkﬂWﬂﬂﬂT_T JIS METRIC MALE 60° CONE SEAT

. . 77777 wrezerz===  FOR SPIRAL HOSE
90° ZE#| NPSM 24l 60° SMEEMELRE :
90° NPSM FEMALE 60° CONE FOR SPIRAL
HOSE
presy 180y £ & HOSE BORE < DIMENSIONS
PART NO. THREAD E AFRAIZ DN #% = DASH C s1
18612-22-08 M22X15 12 08 20 27
o . Be& HOSE BORE < DIMENSIONS 18612-24-10 M24X1.5 16 10 215 32
PART NO. THREAD E 4AFRPAZ DN 17 = DASH C s1 H 18612-30-12 M30X1.5 22 12 26 36
21692-08-08 1/2'x14 12 08 8 27 465 18612-33-16 M33X1.5 25 16 30 41
21692-12-12 3/4"x14 20 12 115 32 59.5 18612-36-20 M36X1.5 32 20 33 46
21692-16-16 1'x11.5 25 16 115 41 74 18612-42-24 MA2X1.5 40 24 36 >0
21692-20-20 1.1/4°x115 32 20 12 50 85.6
21692-24-24 1.1/2'x115 40 24 13 55 97
21692-32-32 2'x115 50 32 16 70 1232

114 115



116

\/

R ik

Ningbo YH Hydraulic Machinery Factory

7

R

Ningbo YH Hydraulic Machinery Factory

—
~

60"

51,

52

& Mt
%%%W

BARAHI MRS 60° HEENHA

JIS METRIC FEMALE 60°

DOUBLE HEXAGON

CONE SEAT WITH

45°

45° HAAFINIRES 60° WEHE
JIS METRIC FEMALE 60°

CONE SEAT

e i85 B HOSE BORE R DIMENSIONS

PART NO. THREADE |  .\#Rpgf2 DN | #55 DASH C s1 52
28611-14-04 M14X1.5 6 04 12 19 19
28611-16-05 M16X1.5 8 05 9.5 22 22
28611-18-06 M18X1.5 10 06 11 24 24
28611-22-08 M22X1.5 12 08 14 27 27
28611-24-10 M24X1.5 16 10 135 32 32
28611-30-12 M30X1.5 22 12 20 36 36
28611-33-16 M33X1.5 25 16 205 41 41
28611-36-20 M36X1.5 32 20 205 46 46
28611-42-24 M42X1.5 40 24 185 55 55

re 1B E & HOSE BORE R DIMENSIONS

PART NO. THREAD E TR DN #% S DASH C s1 H
28641-14-04 M14X1.5 6 04 12 19 22
28641-16-05 M16X1.5 8 05 9.5 22 24
28641-18-06 M18X1.5 10 06 11 24 24.3
28641-22-08 M22X1.5 12 08 14 27 27.5
28641-24-10 M24X1.5 16 10 135 32 29.8
28641-30-12 M30X1.5 22 12 20 36 33.6
28641-33-16 M33X15 25 16 205 4 35.7
28641-36-20 M36X1.5 32 20 205 46 419
28641-42-24 M42X1.5 40 24 185 55 456

S2

Hirmmom

W

BALH MIELY 60° NEMNANAESE

JIS METRIC FEMALE 60°
DOUBLE HEXAGON FOR SPIRAL HOSE

CONE SEAT WITH

45°

45° BAARAFIRIEL 60° WEENABELEE
JIS METRIC FEMALE 60°
WITH DOUBLE HEXAGON FOR SPIRAL
HOSE

CONE SEAT

Rr= BBy E k& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRA1R DN ¥x 2 DASH C S1 S2
28612-22-08 M22X1.5 12 08 14 27 27
28612-24-10 M24X1.5 16 10 135 32 32
28612-30-12 M30X1.5 22 12 20 36 36
28612-33-16 M33X1.5 25 16 20.5 41 41
28612-36-20 M36X1.5 32 20 20.5 46 46
28612-42-24 M42X1.5 40 24 185 55 55

= BBy E ke HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥ 2 DASH C S1 H
28642-22-08 M22X1.5 12 08 14 27 27.5
28642-24-10 M24X1.5 16 10 135 32 29.8
28642-30-12 M30X1.5 22 12 20 36 336
28642-33-16 M33X1.5 25 16 20.5 41 357
28642-36-20 M36X1.5 32 20 20.5 46 419
28642-42-24 M42X1.5 40 24 18.5 55 45.6

117



) R E

Ningbo YH Hydraulic Machinery Factory

7

IR IE R

Ningbo YH Hydraulic Machinery Factory

é 00° HAAHIMIEL 60° R

: |

S Y < 90° JIS METRIC FEMALE 60°

L

CONE SEAT

e

51

S H Al MRS 60° NH#EE
'\ | 7 JIS GAS FEMALE 60° CONE SEAT
C

re 9247 E RE HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRAZ DN ¥r 2 DASH C S1
29611-04-04 G1/4" 6 04 8 19
29611-06-06 G3/8" 10 06 8.5 22
29611-08-08 G1/2" 12 08 10.5 27
29611-12-12 G3/4" 22 12 12 32
29611-16-16 Gl" 25 16 14.5 41
29611-20-20 Gl1.1/4" 32 20 16 50
29611-24-24 Gl1.1/2" 40 24 18 55
29611-32-32 G2" 50 32 24 70

ke 12 A& HOSE BORE R<F DIMENSIONS
PART NO. THREAD E ARRPE DN % = DASH C S1 H
28691-14-04 M14X1.5 6 04 12 19 38.2
28691-16-05 M16X1.5 8 05 9.5 22 44
28691-18-06 M18X1.5 10 06 11 24 464
28691-22-08 M22X1.5 12 08 14 27 52.5
28691-24-10 M24X1.5 16 10 135 32 59
28691-30-12 M30X1.5 22 12 20 36 68.5
28691-33-16 M33X1.5 25 16 20.5 41 76
28691-36-20 M36X1.5 32 20 20.5 46 90
28691-42-24 M42X1.5 40 24 185 55 103

90° HARAHIANIEL 60° NEMESRE
90° JIS METRIC FEMALE 60°

CONE SEAT FOR

C .

ELA|~._ : 13 ] SPIRAL HOSE
Zm_j_ﬂ;‘__;'\
= B4y E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN = 2 DASH C S1 H

28692-22-08 M22X1.5 12 08 14 27 52.5
28692-24-10 M24X1.5 16 10 135 32 59
28692-30-12 M30X1.5 22 12 20 36 68.5
28692-33-16 M33X1.5 25 16 20.5 41 76
28692-36-20 M36X1.5 32 20 20.5 46 90
28692-42-24 M42X1.5 40 24 18.5 55 103

118

| [25] |

S

S1

/
|
v

HARZEH WL 60° NEEMESEE
JIS GAS FEMALE 60°

SPIRAL HOSE

CONE SEAT FOR

s 1B | B HOSE BORE R DIMENSIONS
PART NO. THREAD E ZAFRPYE DN #% S DASH C s1
29612-08-08 G1/2" 12 08 10.5 27
29612-12-12 G3/4" 22 12 12 32
29612-16-16 G1" 25 16 145 41
29612-20-20 G11/4" 32 20 16 50
29612-24-24 GL1/2" 40 24 18 55
29612-32-32 G2" 50 32 24 70

119



120

Ningbo YH Hydraulic Machinery Factory

IR IE R

Ningbo YH Hydraulic Machinery Factory

45° HARZEHI MRS 60° NHEE

45° JIS GAS FEMALE 60°

CONE SEAT

90° HAZFIANIEL 60° MHEE
90° JIS GAS FEMALE 60°

CONE SEAT

re 9By E f& HOSE BORE R DIMENSIONS
PART NO. THREAD E AFRAE DN xS DASH C S1 H
29641-04-04 G1/4" 6 04 8 19 215
29641-06-06 G3/8" 10 06 85 22 245
29641-08-08 G1/2" 12 08 10.5 27 275
29641-12-12 G3/4" 22 12 12 32 335
29641-16-16 Gl" 25 16 14.5 41 36
29641-20-20 Gl.1/4" 32 20 16 50 46.6
29641-24-24 Gl.1/2" 40 24 18 55 50.8
29641-32-32 G2" 50 32 24 70 60

45° BARZFHINEL 60° NHEEESEE
45° JIS GAS FEMALE 60°
CONE SEAT FOR SPIRAL HOSE

e By £ Be& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAZEDN | #% S DASH @ s1 H
29642-08-08 G1/2" 12 08 10.5 27 27
29642-12-12 G3/4" 22 12 12 32 33
29642-16-16 Gl" 25 16 14.5 41 36
29642-20-20 GL1/4" 32 20 16 50 46.5
29642-24-24 G11/2" 40 24 18 55 50.9
29642-32-32 G2" 50 32 24 70 60

e 1By BX& HOSE BORE R DIMENSIONS

PART NO. THREAD E AFRREDN | #% S DASH @ s1 H
29691-04-04 G1/4" 6 04 8 19 325
29691-06-06 G3/8" 10 06 8.5 22 394

29691-08-08 G1/2" 12 08 105 27 42
29691-12-12 G3/4" 22 12 12 32 57.6
29691-16-16 Gl" 25 16 145 41 76.6

29691-20-20 GL1/4" 32 20 16 50 83
29691-24-24 GL1/2" 40 24 18 55 92.9
29691-32-32 G2" 50 32 24 70 1155

90° HARZEHI MRS 60° NEMELE
90° JIS GAS FEMALE 60° CONE SEAT
A FOR SPIRAL HOSE
e By BX& HOSE BORE R DIMENSIONS

PART NO. THREADE | P42 DN |  #55 DASH C s1 H
29692-04-04 G1/4" 6 04 8 19 325

29692-06-06 G3/8" 10 06 8.5 22 39
29692-08-08 G1/2" 12 08 105 27 425
29692-12-12 G3/4" 22 12 12 32 57.5
29692-16-16 Gl" 25 16 14.5 41 76.5

29692-20-20 GL1/4" 32 20 16 50 83
29692-24-24 GL1/2" 40 24 18 55 92.5
29692-32-32 G2" 50 32 24 70 115

121



Ningbo YH Hydraulic Machinery Factory

: Wi s _:
\/ Vi) BRERIE
Ningbo YH Hydraulic Machinery Factory

88112 88192

Dl 11 i
e
— . = f 90° HflE=ELEE
:T r HTﬂ'ﬂﬂ'ﬂ'ﬂ' 5 BHfliZ=E5E yj_: 90° JIS FLANGE FOR SPIRAL HOSE
- ; JIS FLANGE FOR SPIRAL HOSE | :
/# (A% E=RY & HOSE BORE R DIMENSIONS
2 PART NO. FLANGESIZE | /\Rpf& DN 1% 2 DASH C D L H
% EERY BYE HOSE BORE /R DIMENSIONS 88192-10-10 5/8" 16 10 342 | 278 | 67 | 53
PART NO. FLANGESIZE | 2\#p3/2 DN |  #5 S DASH C D L e ————
" x ISthiE (AN IXE
00 8 1o 10 242 278 6.7 Remark: The part no inside the table is also suitable for braided Hydraulic Hoses

BT KPR SHERTRARE
Remark: The part no inside the table is also suitable for braided Hydraulic Hoses

45° SAE %= 3000PS| H4%
45° SAE FLANGE 3000PSI FOR SPIRAL HOSE

42° BHEEZESRE . & HOSE BORE T DIMENSIONS
o K= oo

42° JIS FLANGE FOR SPIRAL HOSE PART NO. FLANGE SIZE | oz N | 45 2 DASH c 5 ] ’
g= SEZ RN RE HOSE BORE R~] DIMENSIONS 87342-08-08 1/2" 12 08 30.2 239 7 233
PART NO. FLANGE SIZE /SHRAZ DN 15 = DASH C D L H 87342-12-12 3/4" 20 12 38.1 317 7 29.6
87342-16-16 1" 25 16 444 38 8.2 30.4

142-10-1 " 1 1 4.2 27. 7 25.
88 0-10 >/8 6 0 3 8 6 >3 87342-20-20 1.1/4" 32 20 50.8 432 8.2 34.5
S3F . Eh RS E R TR 87342-24-24 1.1/2" 40 24 60.3 50.3 8.2 42
Remark: The part no inside the table is also suitable for braided Hydraulic Hoses 87342-32-32 2" 50 32 714 62.2 9.8 49.1
J=.. /
Al SAE %2 3000PS| 84 % = 90° SAE %2 3000PSI| fELE
° j, _ SAE FLANGE 3000PSI FOR SPIRAL | D 90° SAE FLANGE 3000PSI FOR SPIRAL HOSE
I J
0 HOSE H—
s EERY A& HOSE BORE R DIMENSIONS ne - & HOSE BORE R DIMENSIONS

PART NO. FLANGE SIZE AFRAE DN ¥r 5 DASH C D L PART NO. FLANGE SIZE LNRIIR DN | R 2 DASH C D L H
87312-08-08 1/2" 12 08 30.2 23.9 7 87392-08-08 1/2" 12 08 30.2 23.9 7 47

87312-12-12 3/4" 20 12 381 317 7 87392-12-12 3/4" 20 12 38.1 317 7 59

87312-16-16 1" 25 16 44.4 38 8.2 87392-16-16 1" 25 16 44.4 38 8.2 73

87312-20-20 1.1/4" 32 20 50.8 43.2 8.2 87392-20-20 1.1/4" 32 20 50.8 43.2 8.2 83
87312-24-24 1.1/2" 40 24 60.3 50.3 8.2 87392-24-24 11/2" 40 24 60.3 50.3 8.2 97
87312-32-32 2" 50 32 714 62.2 9.8 87392-32-32 2" 50 32 714 62.2 9.8 118

122 123



124

Ningbo YH Hydraulic Machinery Factory

7

IR

Ningbo YH Hydraulic Machinery Factory

—
~

SAE ;%2 6000PS| 4%
SAE FLANGE 6000PSI FOR

90° SAE 3£ 6000PS| a4t

90° SAE FLANGE 6000PSI FOR SPIRAL HOSE

SPIRAL HOSE
re SEZRY & HOSE BORE R~J DIMENSIONS
PART NO. FLANGE SIZE \FRAZ DN ¥R = DASH C D L
87612-08-08 1/2" 12 08 31.8 239 7.9
87612-12-12 3/4" 20 12 41.3 317 8.9
87612-16-16 1" 25 16 47.6 38 9.6
87612-20-20 1.1/4" 32 20 54 43.6 104
87612-24-24 1.1/2" 40 24 63.5 50.8 12.7
87612-32-32 2" 50 32 794 66.5 12.7

o

45° SAE %= 6000PS| 4%
45° SAE FLANGE 6000PSI FOR SPIRAL HOSE

- |
1
re SEERS fXE HOSE BORE R~J DIMENSIONS
PART NO. FLANGE SIZE | L\FR42 DN | #5 5 DASH C D L H

87692-08-08 1/2" 12 08 31.8 239 7.9 49
87692-12-12 3/4" 20 12 41.3 317 8.9 63.9
87692-16-16 1 25 16 47.6 38 9.6 76
87692-20-20 1.1/4" 32 20 54 43.6 10.4 87.9
87692-24-24 11/2" 40 24 63.5 50.8 127 103
87692-32-32 2" 50 32 794 66.5 12.7 124

T

R~ DIMENSIONS

;Ly//’;g//// e

SAE %= 9000PS| 4%
SAE FLANGE 9000PSI FOR SPIRAL HOSE

RS EZRY A& HOSE BORE
PART NO. FLANGE SIZE LNFRAZ DN ¥r = DASH C D L H
87642-08-08 1/2" 12 08 31.8 239 7.9 247
87642-12-12 3/4" 20 12 413 317 8.9 31.8
87642-16-16 1" 25 16 47.6 38 9.6 34
87642-20-20 1.1/4" 32 20 54 436 104 394
87642-24-24 1.1/2" 40 24 63.5 50.8 12.7 45.5
87642-32-32 2" 50 32 794 66.5 12.7 52.7

e sERT & HOSE BORE R~ DIMENSIONS
PART NO. FLANGESIZE | 2@ DN | 455 DASH C D L
87912-08-08 12" 12 08 318 239 143
87912-12-12 3/4" 20 12 413 317 143
87912-16-16 g 25 16 476 38 143
87912-20-20 11/4" 32 20 54 436 143
87912-24-24 11/2" 40 24 63.5 50.8 14.3
87912-32-32 2" 50 32 79.4 66.5 14.3

125



126

R ik

Ningbo YH Hydraulic Machinery Factory

7

7

R

Ningbo YH Hydraulic Machinery Factory

—
~

45° SAE %2 9000PS| 24
45° SAE FLANGE 9000PSI FOR SPIRAL HOSE

87313

Ao

Z Aéj/////////é%‘*’““‘ )

SAE &= 3000PSI F$izX

SAE FLANGE 3000PSI FOR INTERLOCK

e st Rt B HOSE BORE R DIMENSIONS

PART NO. FLANGESIZE | 2\#Rpg2 DN | #5 S DASH C D L
87313-08-08 1/2" 12 08 302 239 7
87313-12-12 3/4" 20 12 38.1 317 7
87313-16-16 1 25 16 444 38 8.2
87313-20-20 1.1/4" 32 20 50.8 432 8.2
87313-24-24 1.1/2" 40 24 603 503 8.2
87313-32-32 2" 50 32 714 62.2 9.8

re SEZRY fXE HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE NFRAS4R DN ¥r 2 DASH C D L H
87942-08-08 1/2" 12 08 31.8 239 143 30.5
87942-12-12 3/4" 20 12 413 31.7 143 356
87942-16-16 1" 25 16 47.6 38 143 375
87942-20-20 1.1/4" 32 20 54 436 143 42.3
87942-24-24 1.1/2" 40 24 63.5 50.8 143 46.9
87942-32-32 2" 50 32 79.4 66.5 143 61.5

87992

90° SAE 3£ 9000PS| fE4%s
90° SAE FLANGE 9000PSI FOR SPIRAL HOSE

87343

45°
45°

SAE 7£= 3000PSI A $i=t
SAE FLANGE 3000PSI FOR INTERLOCK

= sEER k& HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NFRA42 DN ¥r £ DASH C D L H
87343-08-08 1/2" 12 08 30.2 23.9 7 233
87343-12-12 3/4" 20 12 38.1 317 7 29.6
87343-16-16 1" 25 16 444 38 8.2 304
87343-20-20 1.1/4" 32 20 50.8 432 8.2 345
87343-24-24 1.1/2" 40 24 60.3 50.3 8.2 42
87343-32-32 2" 50 32 714 62.2 9.8 491

r= FEER f& HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NRA1R DN ¥r 2 DASH C D L H
87992-08-08 1/2" 12 08 31.8 239 143 40.5
87992-12-12 3/4" 20 12 41.3 317 143 69.3
87992-16-16 1" 25 16 47.6 38 143 80.7
87992-20-20 1.1/4" 32 20 54 43.6 143 91.8
87992-24-24 1.1/2" 40 24 63.5 50.8 14.3 104.6
87992-32-32 2" 50 32 794 66.5 14.3 124

127



128

Ningbo YH Hydraulic Machinery Factory

H

SAE 3£ 3000PSI A4zt
90° SAE FLANGE 3000PSI| FOR INTERLOCK

R IE R R

Ningbo YH Hydraulic Machinery Factory

45° SAE %= 6000PSI A%zt
45° SAE FLANGE 6000PSI FOR INTERLOCK

C
re SEZR & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NFRA12 DN ¥r 2 DASH C D L H
87393-08-08 1/2" 12 08 30.2 239 7 47
87393-12-12 3/4" 20 12 38.1 317 7 59
87393-16-16 1" 25 16 444 38 8.2 73
87393-20-20 1.1/4" 32 20 50.8 432 8.2 83
87393-24-24 1.1/2" 40 24 60.3 50.3 8.2 97
87393-32-32 2" 50 32 714 62.2 9.8 118

1 Mmr

SAE &= 6000PSI F$izX

SAE FLANGE 6000PSI FOR INTERLOCK

e

re SEER & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE \FRAI4Z DN ¥R 2 DASH C D L
87613-08-08 1/2" 12 08 318 239 7.9
87613-12-12 3/4" 20 12 41.3 317 8.9
87613-16-16 1" 25 16 47.6 38 9.6
87613-20-20 1.1/4" 32 20 54 43.6 104
87613-24-24 1.1/2" 40 24 63.5 50.8 12.7
87613-32-32 2" 50 32 79.4 66.5 12.7

= SEER k& HOSE BORE R~ DIMENSIONS

PART NO. FLANGE SIZE NFRA42 DN ¥r £ DASH C D L H
87643-08-08 1/2" 12 08 318 23.9 7.9 247
87643-12-12 3/4" 20 12 413 317 8.9 318
87643-16-16 1" 25 16 47.6 38 9.6 34
87643-20-20 1.1/4" 32 20 54 43.6 104 394
87643-24-24 1.1/2" 40 24 63.5 50.8 12.7 455
87643-32-32 2" 50 32 79.4 66.5 12.7 52.7

87693
~ [Hmmamm
SAE &= 6000PSI A%z
= 90° SAE FLANGE 6000PSI FOR INTERLOCK
5=) E=ERY fRE HOSE BORE R<} DIMENSIONS

PART NO. FLANGE SIZE LNFRAZ DN ¥r = DASH C D L H
87693-08-08 1/2" 12 08 318 23.9 7.9 49
87693-12-12 3/4" 20 12 413 317 8.9 63.9
87693-16-16 1" 25 16 47.6 38 9.6 76
87693-20-20 1.1/4" 32 20 54 43.6 104 87.9
87693-24-24 1.1/2" 40 24 63.5 50.8 12.7 103
87693-32-32 2" 50 32 79.4 66.5 12.7 124

129



130

7

R ik

Ningbo YH Hydraulic Machinery Factory

7

R

Ningbo YH Hydraulic Machinery Factory

—
~

87913

L

Mo

L] | =

| B~

SAE ;£ 9000PSI A4zt
SAE FLANGE 9000PSI FOR INTERLOCK

(5= EERY f& HOSE BORE R<F DIMENSIONS
PART NO. FLANGE SIZE NRAR DN = = DASH C D L
87913-08-08 1/2" 12 08 318 239 14.3
87913-12-12 3/4" 20 12 41.3 317 14.3
87913-16-16 1" 25 16 47.6 38 14.3
87913-20-20 1.1/4" 32 20 54 43.6 14.3
87913-24-24 1.1/2" 40 24 63.5 50.8 143
87913-32-32 2" 50 32 79.4 66.5 143

87943

45° SAE %= 9000PSI Azt
45° SAE FLANGE 9000PSI FOR INTERLOCK

87993

f_ﬂﬂﬂmm

= 90° SAE %= 9000PSI Mz
D
_1 90° SAE FLANGE 9000PSI FOR INTERLOCK
c ]
e kR B HOSE BORE R DIMENSIONS

PART NO. FLANGE SIZE | 2\FRp9#2 DN | 4% 5 DASH C D L H
87993-08-08 1/2" 12 08 318 239 143 40.5
87993-12-12 3/4" 20 12 413 317 143 715
87993-16-16 1" 25 16 47.6 38 143 785
87993-20-20 1.1/4" 32 20 54 43.6 143 90.5
87993-24-24 1.1/2" 40 24 635 50.8 143 105
87993-32-32 2" 50 32 79.4 66.5 143 124

87313L

= s
_ —I mm_m SAE %= 3000PSI Kzt mmsE
Sl ' SAE FLANGE 3000PSI FOR INTERLOCK
2 Aé;///////// STRENGTHEN
re SEE RS & HOSE BORE R~} DIMENSIONS

PART NO. FLANGE SIZE | 2\BRp9#2 DN |  #% 5 DASH C D L
87313L-20-20 11/4" 32 20 50.8 43.2 8.2
87313L-24-24 11/2" 40 24 60.3 50.3 8.2
87313L-32-32 2" 50 32 714 62.2 9.8

e skt e HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE |  \#Rp342 DN | 45 S DASH C D L H
87943-08-08 1/2" 12 08 318 239 143 305
87943-12-12 3/4" 20 12 413 317 143 356
87943-16-16 i 25 16 476 38 143 375
87943-20-20 1.1/4" 32 20 54 43.6 143 423
87943-24-24 1.1/2" 40 24 635 50.8 143 46.9
87943-32-32 2" 50 32 794 66.5 143 615

131



132

Ningbo YH Hydraulic Machinery Factory

7

45° SAE 3£ 3000PSI R $izmse
45° SAE FLANGE 3000PSI FOR INTERLOCK
STRENGTHEN

re SEZR< RE HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE | \fRp9#2 DN | 4% 5 DASH C D L H
87343L-20-20 1.1/4" 32 20 50.8 43.2 8.2 345
87343L-24-24 1.1/2" 40 24 60.3 50.3 8.2 425
87343L-32-32 2" 50 32 714 62.2 9.8 491
87393L
W | [T
Y s
== I :;
| A— ; D 90° SAE i 3000PSI Rz n3E
= = 90° SAE FLANGE 3000PSI FOR INTERLOCK STRENGTHEN
! C
=" SEZR & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NFRA1R DN ¥r 2 DASH C D L H
87393L-20-20 1.1/4" 32 20 50.8 43.2 8.2 83
87393L-24-24 1.1/2" 40 24 60.3 50.3 8.2 97.5
87393L-32-32 2" 50 32 714 62.2 9.8 118
87613L
-

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

45° SAE &= 6000PSI iz nsg

45° SAE FLANGE 6000PSI FOR INTERLOCK

STRENGTHEN

re SEER fXE HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE | ,\FR2 DN | #5 2 DASH C D L H
87643L-20-20 1.1/4" 32 20 54 43.6 10.4 394
876431-24-24 11/2" 40 24 63.5 50.8 12.7 455
87643L-32-32 2" 50 32 794 66.5 12.7 52.8

(T

//é 90° SAE %= 6000PSI Mzt ns&

= 7
| ,J— 2 90° SAE FLANGE 6000PSI FOR INTERLOCK
T &z STRENGTHEN
c |
re SEERY fXE HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE | ,\#Rp42 DN | #% 2 DASH C D L H
87693L-20-20 1.1/4" 32 20 54 43.6 104 87.9
87693L-24-24 1.1/2" 40 24 63.5 50.8 12.7 103.2
87693L-32-32 2" 50 32 79.4 66.5 12.7 124
87913L
I

=

1 -

£7

SAE &= 6000PSI A%t nsa
SAE FLANGE 6000PSI FOR INTERLOCK
STRENGTHEN

- [T

=
|

SAE 7£= 9000PSI F$izX &
SAE FLANGE 9000PSI FOR INTERLOCK

re SEX R fEE HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NERAS4R DN ¥r 2 DASH C D L
87613L-20-20 1.1/4" 32 20 54 436 104
87613L-24-24 1.1/2" 40 24 63.5 50.8 12.7
87613L-32-32 2" 50 32 79.4 66.5 12.7

;”//gl e STRENGTHEN
R SEERT & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NFRA42 DN ¥r 2 DASH C D L
87913L-20-20 1.1/4" 32 20 54 43.6 143
87913L-24-24 1.1/2" 40 24 63.5 50.8 143
87913L-32-32 2" 50 32 79.4 66.5 143

133



134

Ningbo YH Hydraulic Machinery Factory

7

45° SAE i£= 9000PSI ML msE
45° SAE FLANGE 9000PSI FOR INTERLOCK
STRENGTHEN

7

IR IE R

Ningbo YH Hydraulic Machinery Factory

c

D

B ER AR R RSk
MT STAPLELOCK MALE

RS fX& HOSE BORE R~ DIMENSIONS

PART NO. AFRAER DN #x S DASH d D C
60011-04-04 6 04 11 16 25
60011-05-05 8 05 13 18 26
60011-06-06 10 06 15 18 26
60011-08-06 10 06 18 22 26
60011-08-08 12 08 18 22 26
60011-10-10 16 10 20 25 30
60011-12-12 20 12 24 28 31
60011-16-14 22 14 30 36 31
60011-16-16 25 16 30 36 31

C

A DIN2353 ERBHE

D

i

METRIC STANDPIPE DIN2353

e skt it & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE | 2\BRp42 DN | #5 5 DASH C D L H
87943L-20-20 1.1/4" 32 20 54 436 143 422
87943L-24-24 11/2" 40 24 63.5 50.8 143 469
87943L-32-32 2" 50 32 79.4 66.5 143 615
/ / 90° SAE %2 9000PSI P§izt n3E
& 90° SAE FLANGE 9000PSI FOR INTERLOCK
IJ:J STRENGTHEN
C
re SEZRY fXE HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE | ,\FRi/2 DN | #7 2 DASH C D L H
87993L-20-20 1.1/4" 32 20 54 436 143 90.5
87993L-24-24 11/2" 40 24 63.5 50.8 143 105.5
87993L-32-32 2" 50 32 794 66.5 143 124

AHINBL R EKEREL
METRIC FEMALE WATERWASH INSERTS

re BEFHMED k& HOSE BORE R < DIMENSIONS

PART NO. TUBE O.D NFRAZ DN ¥R = DASH C
50011-06-04 6 6 04 19
50011-10-05 10 8 05 23
50011-10-06 10 10 06 23
50011-12-06 12 10 06 22
50011-15-08 15 12 08 25
50011-18-10 18 16 10 26
50011-22-10 22 16 10 26
50011-22-12 22 20 12 28
50011-28-16 28 25 16 30
50011-35-20 35 32 20 36

Rr= FEER f& HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE NRA1R DN ¥r 2 DASH C
30011-22-04 M22X1.5 6 04 14
30011-22-05 M22X1.5 8 05 14
30011-22-06 M22X1.5 10 06 14

135



136

Ningbo YH Hydraulic Machinery Factory

R IE R R

Ningbo YH Hydraulic Machinery Factory

filinigpininines

Wm

45° FEREE

METRIC STANDPIPE

| 50091
~ (HIrrrmrr—

]

‘e BEFHME D & HOSE BORE R <t DIMENSIONS
PART NO. TUBE O.D NFRA4Z DN ¥r 2 DASH C H
50041-06-04 06 6 04 19 30.2
50041-08-04 08 6 04 24 316
50041-08-05 08 8 05 24 326
50041-08-06 08 10 06 24 33.2
50041-10-04 10 6 04 26 319
50041-10-05 10 8 05 23 30.8
50041-10-06 10 10 06 23 314
50041-12-04 12 6 04 26 351
50041-12-05 12 8 05 26 35.9
50041-12-06 12 10 06 22 34.5
50041-12-08 12 12 08 23 374
50041-14-06 14 10 06 29 373
50041-14-08 14 12 08 29 389
50041-14-12 14 20 12 29 43.9
50041-16-08 16 12 08 30 418
50041-16-10 16 16 10 30 43.2
50041-20-10 20 16 10 36 47.9
50041-20-12 20 20 12 36 52.7
50041-22-10 22 16 10 28 423
50041-22-12 22 20 12 28 45.9
50041-22-16 22 25 16 28 46.7
50041-25-12 25 20 12 40 544
50041-25-16 25 25 16 40 55.2
50041-28-16 28 25 16 30 49.6
50041-30-16 30 25 16 44 59.5
50041-30-20 30 32 20 44 63.5
50041-35-20 35 32 20 36 57.8

90° FEXTE
90° METRIC STANDPIPE
i1
re EFHMZD & HOSE BORE R <t DIMENSIONS
PART NO. TUBE O.D NFRS42 DN ¥r £ DASH C H
50091-06-04 6 06 04 19 48
50091-08-05 8 08 05 24 55.5
50091-08-06 8 10 06 24 57.8
50091-10-05 10 8 05 23 53.2
50091-10-06 10 10 06 23 55.4
50091-12-06 12 10 06 22 59.8
50091-12-08 12 12 08 23 67.2
50091-14-06 14 10 06 29 63
50091-14-08 14 12 08 29 69
50091-14-12 14 20 12 29 83
50091-15-06 15 12 06 25 65
50091-16-08 16 12 08 30 73
50091-18-08 18 12 08 26 68.5
50091-18-10 18 16 10 26 73
50091-20-10 20 16 10 36 84.5
50091-20-12 20 20 12 36 95.5
50091-22-10 22 16 10 28 76.5
50091-22-12 22 20 12 28 86
50091-22-16 22 25 16 28 915
50091-25-12 25 20 12 40 98
50091-25-16 25 25 16 40 103.6
50091-28-16 28 25 16 30 95.6
50091-30-16 30 25 16 44 109.5
50091-30-20 30 32 20 44 120.6
50091-38-16 38 25 16 50 115.6
50091-38-20 38 32 20 50 126.6

137



IR IE R

Ningbo YH Hydraulic Machinery Factory

Ningbo YH Hydraulic Machinery Factory

g L AT, s =
@ e BSP BANIO " | T NI DIN7622

d % \W METRIC BANJO DIN7622

e P d B HOSE BORE R~ DIMENSIONS d
PART NO. THREAD E NFRA1R DN ¥r = DASH d D H
72011-04-04 G1/4" 6 04 13.3 24 15
72011-04-05 G1/4" 8 05 13.3 24 15 o= 124y E fRE HOSE BORE R DIMENSIONS
72011-06-05 G3/8" 10 06 16.7 29 20 PART NO. THREAD E ARRPI1E DN % S DASH d D H
72011-06-06 G3/8" 10 06 16.7 29 19 70011-08-04 M8X1 6 04 8 20 13
72011-08-06 G1/2" 12 08 21 38 25 70011-10-04 M10X1 6 04 10 22 13
72011-08-08 G1/2" 12 08 21 38 25 70011-12-04 M12X1.5 6 04 12 20 12
72011-10-10 G5/8" 16 10 23 40 27 70011-12-05 M12X1.5 8 05 12 20 12
72011-12-12 G3/4" 20 12 265 46 31 70011-14-04 M14X1.5 6 04 14 24 14
72011-16-16 G1" 25 16 333 60 42 70011-14-05 M14X1.5 8 05 14 24 14
70011-14-06 M14X1.5 10 06 14 24 14
70011-14-08 M14X1.5 12 08 14 24 14
m 70011-16-06 M16X1.5 10 06 16 28 16
70011-16-08 M16X1.5 12 08 16 28 16
70011-18-06 M18X1.5 10 06 18 32 20
L 70011-18-08 M18X1.5 12 08 18 32 20
70011-18-10 M18X1.5 16 10 18 32 20
rf b - 70011-20-08 M20X1.5 12 08 20 36 22
| | | I | | W 70011-20-10 M20X1.5 16 10 20 36 22
: : DOUBLE CONNECTOR 70011-22-08 M22X1.5 12 08 2 38 25
e s L e e 70011-22-10 M22X1.5 16 10 22 38 25
70011-22-12 M22X1.5 22 12 22 38 25
70011-26-12 M26X1.5 22 12 26 46 30
— - 70011-27-12 M27X1.5 22 12 27 52 36
PAE?F‘T\IQ meffi’\'l*OSE B;;R; ASH R DIMLENSIONS 70011-30-12 M30XL.5 22 12 30 54 36
- - 70011-30-16 M30X1.5 25 16 30 54 36
90011-04-04 6 04 74 70011-33-16 M33X15 25 16 33 60 36
90011-05-05 8 05 78
90011-06-06 10 06 78
90011-08-08 12 08 86
90011-10-10 16 10 90
90011-12-12 20 12 99
90011-16-16 25 16 121
90011-20-20 32 20 129
90011-24-24 40 24 135
90011-32-32 50 32 165

138 139



140

7

Ningbo YH Hydraulic Machinery Factory

‘-‘—LLJ_AL-LLWL-LLLAJ—L—

WEE S ESRE
DOUBLE CONNECTOR FOR SPIRAL HOSE

(n=3 & HOSE BORE R ~ DIMENSIONS
PART NO. AFRA4E DN #% S DASH L
90012-08-08 12 08 94
90012-10-10 16 10 96
90012-12-12 20 12 113
90012-16-16 25 16 135
90012-20-20 32 20 157
90012-24-24 40 24 165
90012-32-32 50 32 175
00518
L

5

//////%
\s1

SAE 100 R5 B /A ER

FERRULE FOR SAE100R5 HOSE REUSABLE

re fk%& HOSE BORE R <t DIMENSIONS

PART NO. /NFRAAZE DN #% = DASH L S
00518-04-04 6 04 28 17
00518-05-05 8 05 30.5 19
00518-06-06 10 06 33 22
00518-08-08 12 08 42 24
00518-10-10 16 10 45.5 30
00518-12-12 20 12 53.5 32
00518-16-16 25 16 42 36
00518-20-20 32 20 44.5 46
00518-24-24 40 24 47 50
00518-32-32 50 32 57 65

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

BRI SRR RS
BSPT MALE REUSABLE

e 1By £ f& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E AFRAZEDN | #5 S DASH s1
13018-04-04R5 ZG1/4"X19 6 04 17
13018-06-06R5 ZG3/8"X19 10 06 19
13018-08-08R5 ZG1/2'X14 12 08 22
13018-12-12R5 ZG3/4"X14 20 12 27
13018-16-16R5 ZG1'X11 25 16 36
13018-20-20R5 ZG1.1/4"X11 32 20 46
13018-24-24R5 ZG1.1/2'X11 40 24 50

e

EHI B HEE SNBSS
NPT MALE REUSABLE

E 51
re B4y E k& HOSE BORE R~J DIMENSIONS

PART NO. THREAD E NFRA12 DN ¥r £ DASH S1
15618-04-04R5 Z1/4"X18 6 04 17
15618-06-06R5 Z3/8"X18 10 06 19
15618-08-08R5 Z1/2"X14 12 08 22
15618-12-12R5 Z3/4"X14 20 12 27
15618-16-16R5 Z1"X11.5 25 16 36
15618-20-20R5 Z1.1/4"X11.5 32 20 46
15618-24-24R5 Z1.1/2"X11.5 40 24 50

141



142

Ningbo YH Hydraulic Machinery Factory

(]

REWNIEL 60° SMEENSFH ARG

BSP FEMALE 60°

CONE DOUBLE

HEXAGON REUSABLE(CRIMP)

7

R IE R R

Ningbo YH Hydraulic Machinery Factory

REWNIEL 60° SMEENS A AT

= [ BSP FEMALE 60° CONE DOUBLE
Za Z HEXAGON REUSABLE(CRIMP)
C
C
Jre i@ | B HOSE BORE R DIMENSIONS
PART NO. THREAD E NFRA{R DN ¥r 2 DASH C S1 S2
27818D-04-04R5 7/16"X20 6 04 8.5 14 17
27818D-05-05R5 1/2"X20 8 05 9.5 14 19
27818D-06-06R5 9/16"X18 10 06 10 17 19
27818D-08-08R5 3/4"X16 12 08 11 22 24
27818D-10-10R5 7/8"X14 16 10 11 24 27
27818D-12-12R5 1.1/16"X12 20 12 13.5 27 32

Ke 484 E f& HOSE BORE R+ DIMENSIONS
PART NO. THREAD E 2FRAIAZE DN #% = DASH C s1 S2
22618D-04-04R5 G1/4"X19 6 04 55 19 19
22618D-04-05R5 G1/4"X19 8 05 5.5 19 19
22618D-06-05R5 G3/8"X19 8 05 6.5 22 22
22618D-06-06R5 G3/8"X19 10 06 6.5 22 22
22618D-08-08R5 G1/2"X14 12 08 8 27 27
22618D-10-10R5 G5/8"X14 16 10 10.5 27 30
22618D-12-12R5 G3/4"X14 20 12 115 32 32
22618D-16-16R5 G1"X11 25 16 115 41 41
22618D-20-20R5 G1.1/4"X11 32 20 12 46 50
22618D-24-24R5 G1.1/2"X11 40 24 13 50 55

17818-F
i
i\ : q 4] SAE SMESL 90° SMEE AR
f?ﬁ SAE MALE 90° CONE REUSABLE
S1

Ke 187 E fX& HOSE BORE R<F DIMENSIONS
PART NO. THREAD E NFRAIZ DN ¥r = DASH C S1
17818-04-04R5 7/16"X20 6 04 14 14
17818-05-05R5 1/2"X20 8 05 14.2 14
17818-06-06R5 5/8"X18 10 06 15.7 17
17818-08-08R5 3/4"X16 12 08 17 22
17818-10-10R5 7/8"X14 16 10 22.4 24
17818-12-12R5 1.1/16"X12 20 12 22 27

s1

]

[£3] =

r

T~

_%/

JIC MALE 74°

EH JIC SRS 74° SMETE AT R
CONE REUSABLE

re $E4T E k& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E /NFRAIZ DN ¥r 2 DASH S1
16718-04-04R5 7/16"X20 6 04 12
16718-05-05R5 1/2"X20 8 05 14
16718-06-06R5 9/16"X18 10 06 17
16718-08-08R5 3/4"X16 12 08 22
16718-10-10R5 7/8"X14 16 10 24
16718-12-12R5 1.1/16"X12 20 12 30
16718-16-16R5 1.5/16"X12 25 16 36
16718-20-20R5 1.5/8"X12 32 20 46
16718-24-24R5 1.7/8"X12 40 24 50

143



144

Ningbo YH Hydraulic Machinery Factory

\/

R IE R R

Ningbo YH Hydraulic Machinery Factory

J I

X4 JIC HEEL 74° NI AT

e || .

o=

.

s
_ : /i
g

)

90° ZEH JIC WIEL 74° MM ARG
JIC FEMALE 74°
REUSABLE(CRIMP)

90°

CONE SEAT

JIC FEMALE 74° CONE SEAT
iz e REUSABLE(NON-CRIMP)

K5 W2y E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥r 2 DASH C S1
36718-04-04R5 7/16"X20 6 04 9 17
36718-06-06R5 9/16"X18 10 06 10 19
36718-08-08R5 3/4"X16 12 08 11 24
36718-10-10R5 7/8"X14 16 10 12 27
36718-12-12R5 1.1/16"X12 20 12 13 32
36718-16-16R5 1.5/16"X12 25 16 14 38
36718-20-20R5 1.5/8"X12 32 20 15 50
36718-24-24R5 1.7/8"X12 40 24 19 55

52 51

X4 JIC NEEL 74° NEENSA AT
CONE SEAT DOUBLE

JIC FEMALE 74°

= e [
\ W [ HEXAGON REUSABLE(CRIMP)
\/?/ / 7
el
=t B E fk& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAS42 DN ¥r £ DASH C S1 S2
26718D-04-04R5 7/16"X20 6 04 8.5 17 17
26718D-05-04R5 1/2"X20 6 04 9.5 19 19
26718D-05-05R5 1/2"X20 8 05 9.5 19 19
26718D-06-05R5 9/16"X18 8 05 10 19 19
26718D-06-06R5 9/16"X18 10 06 10 19 19
26718D-08-06R5 3/4"X16 10 06 11 22 24
26718D-08-08R5 3/4"X16 12 08 11 24 24
26718D-10-10R5 7/8"X14 16 10 11 27 27
26718D-12-12R5 1.1/16"X12 20 12 135 32 32
26718D-16-16R5 1.5/16"X12 25 16 145 41 41
26718D-20-20R5 1.5/8"X12 32 20 155 50 50
26718D-24-24R5 1.7/8"X12 40 24 18.5 55 55

re $247 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAZ DN ¥r 2 DASH C S1 H
26798D-04-04R5 7/16"X20 6 04 8.5 17 30.6
26798D-05-04R5 1/2"X20 6 04 9.5 19 32
26798D-05-05R5 1/2"X20 8 05 9.5 19 34
26798D-06-05R5 9/16"X18 8 05 10 19 345
26798D-06-06R5 9/16"X18 10 06 10 19 36.5
26798D-08-06R5 3/4"X16 10 06 11 24 38.2
26798D-08-08R5 3/4"X16 12 08 11 24 442
26798D-10-10R5 7/8"X14 16 10 11 27 50.5
26798D-12-12R5 1.1/16"X12 20 12 135 32 57.5
26798D-16-16R5 1.5/16"X12 25 16 145 41 71.6
26798D-20-20R5 1.5/8"X12 32 20 155 50 82
26798D-24-24R5 1.7/8"X12 40 24 185 55 93
| 13011-F
S1
C [
ST 71T SEHEINR,
| ' W o BSPT MALE PUSHLOCK
E %
r= 9847 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRW4Z DN ¥R 2 DASH C S1
13011-04-04PO ZG1/4"X19 6 04 14 17
13011-06-06PO ZG3/8"X19 10 06 14 19
13011-08-08PO ZG1/2"X14 12 08 19 22
13011-12-12PO ZG3/4"X14 20 12 19 30
13011-16-16PO ZG1"X11 25 16 24 36
13011-20-20PO ZG1.1/4"X11 32 20 25 46
13011-24-24PO ZG1.1/2"X11 40 24 25 50
13011-32-32PO ZG2"X11 50 32 28 65

145



146

Ningbo YH Hydraulic Machinery Factory

-

mEFINELL

-
i)
| |

=]

&

/1

' NPT MALE PUSHLOCK
.

R BBy E ke HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥ 2 DASH C S1
15611-04-04PO Z1/4"X18 6 04 14 17
15611-06-06PO Z3/8"X18 10 06 14 19
15611-08-08PO 71/2"X14 12 08 19 22
15611-12-12PO Z3/4"X14 20 12 19 30
15611-16-16PO Z1"X11.5 25 16 24 36
15611-20-20PO Z1.1/4"X11.5 32 20 25 46
15611-24-24PO Z1.1/2"X11.5 40 24 25 50
15611-32-32PO Z2"X11.5 50 32 28 65

51

Rmin

Jogmeroro

RENIRL 60° SMEE

BSP FEMALE 60° CONE PUSHLOCK

= 1By E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH C S1
22611-04-04PO G1/4"X19 6 04 5.5 19
22611-06-06PO G3/8"X19 10 06 6.5 22
22611-08-08PO G1/2"X14 12 08 8 27
22611-10-10PO G5/8"X14 16 10 115 30
22611-12-12PO G3/4"X14 20 12 115 32
22611-16-16PO G1"X11 25 16 115 41
22611-20-20PO G1.1/4"X11 32 20 12 50
22611-24-24PO G1.1/2"X11 40 24 13 55
22611-32-32PO G2"X11 50 32 16 70

g |1 lra g T
\/ B R E
Ningbo YH Hydraulic Machinery Factory

S1

.
=y
(=]

[

ﬁ

=)

X SAE WERLL 90° NHEE

SAE FEMALE 90°

CONE SEAT PUSHLOCK

RrR= 984 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN % = DASH C S1
27811-04-04PO 7/16"X20 6 04 8.5 17
27811-05-05PO 1/2"X20 8 05 9.5 17
27811-06-06PO 5/8"X18 10 06 115 22
27811-08-08PO 3/4"X16 12 08 11 24
27811-10-10PO 7/8"X14 16 10 11 27
27811-12-12PO 1.1/16"X12 20 12 135 32

S1

LA

]

-

£ JIC SMEL 74° SMEE

JIC MALE 74° CONE PUSHLOCK

7 e

ey 1B E B HOSE BORE R DIMENSIONS
PART NO. THREAD E LRRARE DN | #5 S DASH C s1
16711-04-04PO 7/16°X20 6 04 14 14
16711-05-05PO 1/2'X20 8 05 14 14
16711-06-06PO 9/16°X18 10 06 14 17
16711-08-08PO 3/4'X16 12 08 167 22
16711-10-10PO 7/8'X14 16 10 195 24
16711-12-12PO 1.1/16"X12 20 12 22 30
16711-16-16PO 1.5/16"X12 25 16 23 36
16711-20-20PO 1.5/8"X12 32 20 245 46
16711-24-24PO 1.7/8"X12 40 24 275 50
16711-32-32PO 2.1/2'X12 50 32 34 65

147



148

Ningbo YH Hydraulic Machinery Factory

[T AT

\ | .
\/%%@@ QA

X4 JIC WIRL 74° NHEE

JIC FEMALE 74°

CONE PUSHLOCK

C
= 9247 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA12 DN ¥r = DASH C S1
26711-04-04PO 7/16"X20 6 04 8.5 17
26711-05-05PO 1/2"X20 8 05 9.5 17
26711-06-06PO 9/16"X18 10 06 10 19
26711-08-08PO 3/4"X16 12 08 11 24
26711-10-10PO 7/8"X14 16 10 12 27
26711-12-12PO 1.1/16"X12 20 12 13.5 32
26711-16-16PO 1.5/16"X12 25 16 145 41
26711-20-20PO 1.5/8"X12 32 20 15.5 50
26711-24-24P0O 1.7/8"X12 40 24 19.5 55
26711-32-32PO 2.1/2"X12 50 32 24.5 75

51

L
L]

-

.
S57) 2 SNANs N

BRI MRSk E A EE
GB METRIC FEMALE MULTISEAL

INTERGAL FITTING

C
re 98 E k& HOSE BORE R~} DIMENSIONS

PART NO. THREAD E NFRAZ DN ¥r = DASH C S1 S2
20111-14-040ne piece M14X1.5 6 04 4 17 17
20111-18-060ne piece M18X1.5 10 06 4.5 22 19
20111-22-080one piece M22X1.5 12 08 5 27 22
20111-27-100ne piece M27X1.5 16 10 4.5 32 27
20111-30-120ne piece M30X1.5 20 12 4 36 32
20111-36-160ne piece M36X2 25 16 5 41 38
20111-39-160ne piece M39X2 25 16 5 46 38
20111-45-200ne piece M45X2 32 20 6 55 50

R IE R R

Ningbo YH Hydraulic Machinery Factory

45° EIRAHI MBS EkE S iERE

/
45° GB METRIC FEMALE MULTISEAL INTERGAL FITTING
R= 88557 E K& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E \FRA42 DN ¥r = DASH C S1 S2 H
20141-14-040ne piece M14X1.5 6 04 4 17 17 15.3
20141-18-060ne piece M18X1.5 10 06 45 22 19 19.3
20141-22-08one piece M22X1.5 12 08 5 27 22 21
20141-27-100ne piece M27X1.5 16 10 45 32 27 25
20141-30-120ne piece M30X1.5 20 12 4 36 32 29
20141-36-160ne piece M36X2 25 16 5 41 38 35
20141-39-160ne piece M39X2 25 16 5 46 38 35

| 20191 a
52
i E ﬁ |
& ':'1 (
Ll 00° R/ MU EIRE & Rk
LL [
e 90° GB METRIC FEMALE MULTISEAL INTERGAL FITTING
= BB E e HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NRAR DN ¥r 2 DASH C S1 S2 H
20191-14-040ne piece M14X1.5 6 04 4 17 17 28
20191-18-060ne piece M18X1.5 10 06 45 22 19 395
20191-22-080one piece M22X1.5 12 08 5 27 22 48
20191-27-100ne piece M27X1.5 16 10 45 32 27 56.5
20191-30-120ne piece M30X1.5 20 12 36 32 62.5
20191-36-160ne piece M36X2 25 16 5 41 38 76.5
20191-39-160ne piece M39X2 25 16 5 46 38 76.5

149



150

Ningbo YH Hydraulic Machinery Factory

%g%{égji%g;;/!f Z_'Eff A

ElFR2A HI A SRS T E A UER

GB METRIC FEMALE FLAT SEAT

INTERGRAL FITTING

H

By
s

YT

45° [EfrAH R BACTEE & UER

C
= BB E ke HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAS{R DN ¥ 2 DASH C S1 S2
20211-14-040ne piece M14X1.5 6 04 8 17 17
20211-18-060ne piece M18X1.5 10 06 8.5 22 19
20211-22-080one piece M22X1.5 12 08 10 27 22
20211-27-100ne piece M27X1.5 16 10 10.5 32 27
20211-30-120ne piece M30X1.5 20 12 11 36 32
20211-36-160ne piece M36X2 25 16 13 41 38
20211-45-200ne piece M45X2 32 20 15 55 50
22
[

45° GB METRIC FEMALE FLAT SEAT
INTERGRAL FITTING

= BELY E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN ¥ 2 DASH C S1 S2 H
20241-14-040ne piece M14X1.5 6 04 8 17 17 18
20241-16-060ne piece M16X1.5 10 06 8 19 19 204
20241-18-060ne piece M18X1.5 10 06 8.5 22 19 214
20241-22-08one piece M22X1.5 12 08 10 27 22 27
20241-27-100ne piece M27X1.5 16 10 10.5 32 27 28
20241-30-120ne piece M30X1.5 20 12 11 36 32 25.2
20241-36-160ne piece M36X2 25 16 13 41 38 27.5

IR IE R

Ningbo YH Hydraulic Machinery Factory

: 90° EHR/H MRS FH A ER
_\F e 90° GB METRIC FEMALE FLAT SEAT
]
g INTERGRAL FITTING
EEn
rE BB E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRA1R DN ¥ 2 DASH C S1 S2 H
20291-14-040ne piece M14X1.5 6 04 8 17 17 281
20291-16-060ne piece M16X1.5 10 06 8 19 19 36
20291-18-060ne piece M18X1.5 10 06 85 22 19 36
20291-22-08one piece M22X1.5 12 08 10 27 22 43
20291-27-100ne piece M27X1.5 16 10 10.5 32 27 63
20291-30-120ne piece M30X1.5 20 12 11 36 32 58.2
20291-36-160ne piece M36X2 25 16 13 41 38 68
20291-45-200ne piece M45X2 32 20 15 55 50 76
20711 0
oy = L ERAHREBL TS pEEALEE
e p 5 GB METRIC FEMALE 74° CONE
i, INTERGRAL FITTING
C
re 9847 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRA1R DN % = DASH C S1 S2
20711-14-040ne piece M14X1.5 6 04 8 17 17
20711-18-060ne piece M18X1.5 10 06 85 22 19
20711-22-08one piece M22X1.5 12 08 10 27 22
20711-27-100ne piece M27X1.5 16 10 10.5 32 27
20711-30-120ne piece M30X2 20 12 11 36 32
20711-39-160ne piece M39X2 25 16 13 46 38
20211-45-200ne piece M45X2 32 20 15 55 50

151



152

\/

Ningbo YH Hydraulic Machinery Factory

45° EFRAHIRBL 74 AERENE
(73

45° GB METRIC FEMALE 74° CONE
INTERGRAL FITTING

= 18y E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E LNFR42 DN ¥r 2 DASH C S1 S2 H
20741-14-040ne piece M14X1.5 6 04 8 17 17 15
20741-16-050ne piece M16X1.5 8 05 8 19 17 17
20741-18-060ne piece M18X1.5 10 06 85 22 19 20
20741-22-08one piece M22X1.5 12 08 10 27 22 20
20741-27-100ne piece M27X1.5 16 10 10.5 32 27 24
20741-30-120ne piece M30X2 20 12 11 36 32 27.2
20741-39-160ne piece M39X2 25 16 13 46 38 315

oo

i :

(7

= |I|I

3 1?r #
&G

90° Efr&IREL 74° NETmEER
90° GB METRIC FEMALE 74° CONE INTERGRAL FITTING

Rr= BB E ke HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NRA1R DN ¥r 2 DASH C S1 S2 H
20791-14-040ne piece M14X1.5 6 04 8 17 17 28.2
20791-18-060ne piece M18X1.5 10 06 8.5 22 19 36.5
20791-22-080one piece M22X1.5 12 08 10 27 22 43
20791-27-100ne piece M27X1.5 16 10 10.5 32 27 50
20791-30-120ne piece M30X2 20 12 11 36 32 58
20791-39-160ne piece M39X2 25 16 13 46 38 68

R IE R R

Ningbo YH Hydraulic Machinery Factory

a

51 S

I

i

N

TSN

RENBEHKEAER
BSP FEMALE MULTISEAL INTERGRAL
FITTING

re By E & HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRAS{R DN ¥r 2 DASH C S1 S2
22111-04-040ne piece G1/4"X19 6 04 4 17 17
22111-06-060ne piece G3/8"X19 10 06 4 22 19
22111-08-080one piece G1/2"X14 12 08 45 27 22
22111-10-100ne piece G5/8"X14 16 10 4 27 27
22111-12-100ne piece G3/4"X14 16 10 55 32 27
22111-12-120ne piece G3/4"X14 20 12 55 32 32
22111-16-160ne piece G1"X11 25 16 7 38 38
22111-20-200ne piece Gl.1/4"X11 32 20 6 50 50
22111-24-240ne piece G1.1/2"X11 40 24 6 55 55

L

45° RENBLEKE S NER
45° BSP FEMALE MULTISEAL INTERGRAL FITTING

re 98 E k& HOSE BORE R~ DIMENSIONS
PART NO. THREAD E LNFRAZ DN ¥r = DASH C S1 S2 H
22141-04-040ne piece G1/4"X19 6 04 4 17 17 17.2
22141-06-060ne piece G3/8"X19 10 06 4 22 19 24
22141-08-08one piece G1/2"X14 12 08 4.5 27 22 27.5
22141-10-100ne piece G5/8"X14 16 10 4 27 27 29
22141-12-120ne piece G3/4"X14 20 12 5.5 32 32 29
22141-16-160ne piece G1"X11 25 16 7 38 38 34.2
22141-20-200ne piece G1.1/4"X11 32 20 6 50 50 40

153



154

Ningbo YH Hydraulic Machinery Factory

il

Y

90° FEENIBLIKEAIER
90° BSP FEMALE MULTISEAL INTERGRAL FITTING

Led |
R 84y E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRW4Z DN ¥r 2 DASH C S1 S2 H
22191-04-040ne piece G1/4"X19 6 04 4 17 17 28
22191-06-060ne piece G3/8"X19 10 06 4 22 19 38.2
22191-08-08one piece G1/2"X14 12 08 4.5 27 22 44
22191-12-100ne piece G3/4"X14 16 10 55 32 27 62
22191-12-120ne piece G3/4"X14 20 12 55 32 32 62
22191-16-160ne piece G1"X11 25 16 7 38 38 72
22191-20-200ne piece G1.1/4"X11 32 20 6 50 50 81.5
22191-24-240ne piece G1.1/2"X11 40 24 6 55 55 104
~_ 1€ " ‘ .
5 2 s T RENBY60° SMEMARER
% = BSP FEMALE 60° CONE INTERGRAL FITTING
)
C
g 1847 E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRAZ DN | #5 S DASH C s1 s2
22611-04-040ne piece G1/4"X19 6 04 5.5 17 17
22611-06-040ne piece G3/8"X19 6 04 6 22 17
22611-06-060ne piece G3/8"X19 10 06 6 22 19
22611-08-080one piece G1/2"X14 12 08 7 27 22
22611-10-080one piece G5/8"X14 12 08 8.5 27 22
22611-12-120ne piece G3/4"X14 20 12 9 32 32
22611-16-160ne piece G1'X11 25 16 11 38 38
22611-20-200ne piece G1.1/4"X11 32 20 11 50 50
22611-24-240ne piece G1.1/2"X11 40 24 12 55 55

R IE R R

Ningbo YH Hydraulic Machinery Factory

i i S e

T P e V7]

45° HEWIEL 60° IMEEANER

45° BSP FEMALE 60°

FITTING

CONE INTERGRAL

= B4y E & HOSE BORE R~} DIMENSIONS
PART NO. THREAD E NFRA12 DN ¥r 2 DASH C S1 S2 H
22641-04-040ne piece G1/4"X19 6 04 55 17 17 15.2
22641-06-060ne piece G3/8"X19 10 06 6 22 19 17.5
22641-08-080ne piece G1/2"X14 12 08 7 27 22 19
22641-10-100ne piece G5/8"X14 16 10 8.5 27 27 28
22641-12-120ne piece G3/4"X14 20 12 9 32 32 29
22641-16-160ne piece G1"X11 25 16 11 38 38 34
22641-20-200ne piece G1.1/4"X11 32 20 11 50 50 39
22641-24-240ne piece G1.1/2"X11 40 24 12 55 55 48.2
S2
1
L
90° EENIRL 60° SMEEmANEMR
90° BSP FEMALE 60° CONE INTERGRAL FITTING
re 184y E RE HOSE BORE R~ DIMENSIONS
PART NO. THREAD E AFRRE DN | #5 S DASH C s1 2 H
22691-04-040ne piece G1/4"X19 6 04 5.5 17 17 28.2
22691-06-060ne piece G3/8"X19 10 06 6 22 19 36
22691-08-080one piece G1/2"X14 12 08 7 27 22 42
22691-12-120ne piece G3/4"X14 20 12 9 32 32 58
22691-16-160ne piece G1"X11 25 16 11 38 38 68
22691-20-200ne piece G1.1/4"X11 32 20 11 50 50 815
22691-24-240ne piece G1.1/2"X11 40 24 12 55 55 94.5

155



156

Ningbo YH Hydraulic Machinery Factory

R IE R R

Ningbo YH Hydraulic Machinery Factory

EHl JIC MiRL 74° NEEANXER

JIC FEMALE
FITTING

74°

CONE SEAT INTERGRAL

——t—

E

5]

90° ZE# JIC WHEEL 74° MEE AN EMK
90° JIC FEMALE 74°
INTERGRAL FITTING

CONE SEAT

r= $E4y E k& HOSE BORE R~ DIMENSIONS

PART NO. THREAD E /NFRA42 DN 1 2 DASH C S1 S2
26711-04-040ne piece 7/16"X20 6 04 9 17 17
26711-06-060ne piece 9/16"X18 10 06 10 19 19
26711-08-08one piece 3/4"X16 12 08 11 24 22
26711-10-100ne piece 7/8"X14 16 10 12 27 27
26711-12-120ne piece 1.1/16"X12 20 12 13 32 32
26711-16-160ne piece 1.5/16"X12 25 16 14 38 38
26711-20-200ne piece 1.5/8"X12 32 20 15 50 50
26711-24-240ne piece 1.7/8"X12 40 24 19 55 55

CONE SEAT INTERGRAL

45° ZEHI JIC NHBL 74° NEmERER
45° JIC FEMALE 74°

(%] 1R E & HOSE BORE R~ DIMENSIONS
PART NO. THREAD E NFRAR DN % = DASH C S1 S2 H
26791-04-040ne piece 7/16"X20 6 04 9 17 17 28
26791-06-060ne piece 9/16"X18 10 06 10 19 19 36.2
26791-08-080one piece 3/4"X16 12 08 11 24 22 42
26791-10-100ne piece 7/8"X14 16 10 12 27 27 50.2
26791-12-120ne piece 1.1/16"X12 20 12 13 32 32 58
26791-16-160ne piece 1.5/16"X12 25 16 14 38 38 68.5
26791-20-200ne piece 1.5/8"X12 32 20 15 50 50 75
26791-24-240ne piece 1.7/8"X12 40 24 19 55 55 90

NEINEEL 24° #ET O BB
R ——RiEfEL
METRIC FEMALE 24° CONE L.T.
WITH O-RING ONE OR TWO-WIRE
INTERGRAL FITTING

FITTING
=" 9By E & HOSE BORE R~ DIMENSIONS

PART NO. THREAD E NFRA1R DN % = DASH C S1 S2 H
26741-04-040ne piece 7/16"X20 6 04 9 17 17 15.2
26741-06-060ne piece 9/16"X18 10 06 10 19 19 20
26741-08-08one piece 3/4"X16 12 08 11 24 22 20.2
26741-10-100ne piece 7/8"X14 16 10 12 27 27 24
26741-12-120ne piece 1.1/16"X12 20 12 13 32 32 27
26741-16-160ne piece 1.5/16"X12 25 16 14 38 38 316
26741-20-200ne piece 1.5/8"X12 32 20 15 50 50 35.2
26741-24-240ne piece 1.7/8"X12 40 24 19 55 55 42

R 24y E & HOSE BORE EFHME R DIMENSIONS

PART NO. THREAD E AFRNZ2 DN | 1 2 DASH TUBE O.D. C S1
30411-14-040ne piece M14X1.5 6 04 8 2 19
30411-16-050ne piece M16X1.5 8 05 10 2 22
30411-18-060ne piece M18X1.5 10 06 12 25 24
30411-22-08one piece M22X1.5 12 08 15 3 27
30411-27-100ne piece M27X1.5 16 10 18 25 32
30411-30-120ne piece M30X2 20 12 22 35 36
30411-36-160ne piece M36X2 25 16 28 4.5 41
30411-45-200ne piece M45X2 32 20 35 5 55
30411-52-240ne piece M52X2 40 24 42 6 60

157



158

Ningbo YH Hydraulic Machinery Factory

[ /’/ A : £

—

AH N 24° #EET O BERERTIM

B

METRIC FEMALE 24°
O-RING FOUR-WIRE INTERGRAL

FITTING

CONE L.T.WITH

re 184y E k& HOSE BORE BEFHMR R~ DIMENSIONS

PART NO. THREAD E \FRAIZ DN ¥r = DASH TUBE O.D. C S1
30412-22-08one piece M22X1.5 12 08 15 3 27
30412-27-100ne piece M27X1.5 16 10 18 25 32
30412-30-120ne piece M30X2 20 12 22 35 36
30412-36-160ne piece M36X2 25 16 28 4.5 41
30412-45-200ne piece M45X2 32 20 35 5 55
30412-52-240ne piece M52X2 40 24 42 60

0y BIERIE

Ningbo YH Hydraulic Machinery Factory

NJ

45° NHINERL 24° #EE O EUE
BRI —_RiEfEL

45° METRIC FEMALE 24° CONE
L.T.WITH O-RING ONE OR TWO-
WIRE INTERGRAL FITTING

L.T.WITH O-RING FOUR-WIRE

= 9247 E & HOSE BORE BEFHMR R~ DIMENSIONS
PART NO. THREADE | /,\fRP42 DN | #% & DASH | TUBE OD. s1 H
30441-14-040one piece M14X1.5 6 04 8 2 19 27
30441-16-050ne piece M16X1.5 8 05 10 2 22 28
30441-18-060ne piece M18X1.5 10 06 12 25 24 29
30441-22-08one piece M22X1.5 12 08 15 3 27 33
30441-27-100ne piece M27X1.5 16 10 18 25 32 35
30441-30-120ne piece M30X2 20 12 22 35 36 42
30441-36-160ne piece M36X2 25 16 28 4.5 41 34
30441-45-200ne piece M45X2 32 20 35 5 55 43
30441-52-240ne piece M52X2 40 24 42 6 60 42
S T 45° NHEINEEL 24° #EHET O BIE
— BR 5 R sk
45° METRIC FEMALE 24° CONE

INTERGRAL FITTING

Ke (=043 fRE HOSE BORE EFIMZ R~ DIMENSIONS

PART NO. THREAD E | /\BRPG#Z DN | 452 DASH | TUBE OD. s1 H
30442-22-08one piece M22X1.5 12 08 15 3 27 33
30442-27-100ne piece M27X1.5 16 10 18 25 32 35
30442-30-120ne piece M30X2 20 12 22 35 36 42
30442-36-160ne piece M36X2 25 16 28 4.5 41 34
30442-45-200ne piece M45X2 32 20 35 5 55 43
30442-52-240ne piece M52X2 40 24 42 6 60 42

159



BT IR 0 ERERE

y

Ningbo YH Hydraulic Machinery Factory V, Ningbo YH Hydraulic Machinery Factory

s1 . .
=hy NHIRIRL 24° HEH O BUE
-\ BRII— RS
. . RIN—ZEiEFEL
90° A MR 24° #HETE O HER R L = :
Rk METRIC FEMALE 24° CONE
— N '~ 3
/ H.T.WITH O-RING ONE OR
90° METRIC FEMALE 24° CONE L.T.WITH Gk | TWO-WIRE INTERGRAL
O-RING ONE OR TWO-WIRE INTERGRAL Z | TTING
FITTING —
- re 1847 E f& HOSE BORE EFIMR R~} DIMENSIONS
re R4 E fX& HOSE BORE EFIME R~ DIMENSIONS PART NO. THREADE | ,\¥RA/ZDN| #5 2 DASH | TUBE O.D. C S1
PART NO. THREADE | /\Rpu2 DN | #5 5 DASH | TUBE OD. c S1 H 30511-16-04one piece M16X1.5 6 04 8 2 22
30491-14-04one piece M14X1.5 6 04 8 2 19 36 30511-18-040ne piece M18X1.5 6 04 10 2 24
30491-16-050ne piece M16X1.5 8 05 10 2 22 37 30511-20-050ne piece M20X1.5 8 05 12 3 27
30491-18-060ne piece M18X1.5 10 06 12 2.5 24 42 30511-20-060ne piece M20X1.5 10 06 12 3 27
30491-22-080ne piece M22X1.5 12 08 15 3 27 45 30511-22-060ne piece M22X1.5 10 06 14 3 27
30491-27-100ne piece M27X1.5 16 10 18 2.5 32 55 30511-24-080one piece M24X1.5 12 08 16 3 30
30491-30-120ne piece M30X2 20 12 22 3.5 36 64 30511-30-100ne piece M30X2 16 10 20 35 36
30491-36-160ne piece M36X2 25 16 28 4.5 41 67 30511-36-120ne piece M36X2 20 12 25 3 41
30491-45-200ne piece M45X2 32 20 35 5 55 76 30511-36-140ne piece M36X2 22 14 25 3 41
30491-52-240ne piece M52X2 40 24 42 6 60 88 30511-42-160ne piece M42X2 25 16 30 5 50
30511-52-200ne piece M52X2 32 20 38 6.5 60
E 30511-52-240ne piece M52X2 40 24 38 6.5 60
il ﬁ T s1
P £ é s
. ) AN s+ Hp0 H: A )
,. / b byl 90° AHIRIRL 24° HEH O MERRFINE KNHINIRL 24° HET O B
= RS T BRI EEEEL
£ - - (o]
90° METRIC FEMALE 24° CONE L.T.WITH 7 - METRIC FEMALE 24° CONE
r O-RING FOUR-WIRE INTERGRAL FITTING ‘1% H.T.WITH O-RING FOUR-
si/ L T A WIRE INTERGRAL FITTING
E i C
re 84 fE HOSE BORE MR R~ DIMENSIONS re 9B E & HOSE BORE E7HMR R~ DIMENSIONS
PART NO. THREAD E NFRA42 DN ¥r £ DASH | TUBE O.D. C S1 H PART NO. THREAD E AFRE DN = 2 DASH | TUBE O.D. C S1
30492-22-080ne piece M22X1.5 12 08 15 3 27 45 30512-24-080ne piece M24X1.5 12 08 16 3 30
30492-27-100ne piece M27X1.5 16 10 18 25 32 55 30512-30-100ne piece M30X2 16 10 20 35 36
30492-30-120ne piece M30X2 20 12 22 35 36 64 30512-36-120ne piece M36X2 20 12 25 3 41
30492-36-160ne piece M36X2 25 16 28 45 41 67 30512-36-140ne piece M36X2 22 14 25 3 41
30492-45-200ne piece M45X2 32 20 35 5 55 76 30512-42-160ne piece M42X2 25 16 30 5 50
30492-52-240ne piece M52X2 40 24 42 6 60 88 30512-52-200ne piece M52X2 32 20 38 6.5 60
30512-52-240ne piece M52X2 40 24 38 6.5 60

160 161



162

Ningbo YH Hydraulic Machinery Factory

21 1]

S BB D
G T T 7T

\LJ

45° RNHINIEL 24° #ET O BE
BRI —_RiEAEL

45° METRIC FEMALE 24° CONE
H.T.WITH O-RING ONE OR TWO-
WIRE INTERGRAL FITTING

u A
A\ Y 4

) EEE

\ ¥ Y 4

/ / £ Ningbo YH Hydraulic Machinery Factory

_ 30
f

‘e 847 E & HOSE BORE EFHIMZR R~ DIMENSIONS

PART NO. THREADE | A\FR4Z DN | 4% S DASH | TUBE OD. C s1 H
30541-18-040ne piece M18X1.5 6 04 10 2 24 22
30541-20-050ne piece M20X1.5 8 05 12 3 27 25
30541-22-060ne piece M22X1.5 10 06 14 3 27 25
30541-24-08one piece M24X1.5 12 08 16 3 30 27
30541-30-100ne piece M30X2 16 10 20 3.5 36 31
30541-36-120ne piece M36X2 20 12 25 3 41 34
30541-42-160ne piece M42X2 25 16 30 5 50 42
30541-52-200ne piece M52X2 32 20 38 6.5 60 43
30541-52-240ne piece M52X2 40 24 38 6.5 60 45

I 90° AHIHEREL 24° #ET O EE
Z = s N
BRI EEEFEL
= 90° METRIC FEMALE 24° CONE
P) H.T.WITH O-RING ONE OR TWO-
L WIRE INTERGRAL FITTING
s1/| ] =
E
®re 184 E fEE& HOSE BORE EFIMZ R~ DIMENSIONS
PART NO. THREADE | /A\fRRZDN | 4% S DASH | TUBE O.D. C s1 H
30591-18-040ne piece M18X1.5 6 04 10 2 24 36
30591-20-050ne piece M20X1.5 8 05 12 3 27 44
30591-22-060ne piece M22X1.5 10 06 14 3 27 46
30591-24-08one piece M24X1.5 12 08 16 3 30 51
30591-30-100ne piece M30X2 16 10 20 35 36 57
30591-36-120ne piece M36X2 20 12 25 3 41 68
30591-42-160ne piece M42X2 25 16 30 5 50 77
30591-52-200ne piece M52X2 32 20 38 6.5 60 89
30591-52-240ne piece M52X2 40 24 38 6.5 60 102

45° NHIMERE 24° #ET O BUE
ERIIMEERZEk

45° METRIC FEMALE 24° CONE
H.T.WITH O-RING FOUR-WIRE
INTERGRAL FITTING

90° AHINEEL 24° H#EEH O BB
BERYIMEEEEL

90° METRIC FEMALE 24° CONE
H.T.WITH O-RING FOUR-WIRE
INTERGRAL FITTING

e 180y & HOSE BORE SERHMR R~ DIMENSIONS

PART NO. THREAD E | /,\fRP%2 DN | 47 2 DASH | TUBE OD. C s1 H
30542-24-08one piece M24X1.5 12 08 16 3 30 27
30542-30-100ne piece M30X2 16 10 20 35 36 31
30542-36-120ne piece M36X2 20 12 25 41 34
30542-42-160ne piece M42X2 25 16 30 5 50 42
30542-52-200ne piece M52X2 32 20 38 6.5 60 43
30542-52-240ne piece M52X2 40 24 38 6.5 60 45

rE 4T E fX& HOSE BORE EFIME R~ DIMENSIONS

PART NO. THREADE | ,\RIZZDN | 4% 2 DASH | TUBE O.D. s1 H
30592-24-080one piece M24X1.5 12 08 16 3 30 51
30592-30-100ne piece M30X2 16 10 20 35 36 57
30592-36-120ne piece M36X2 20 12 25 41 68
30592-42-160ne piece M42X2 25 16 30 5 50 77
30592-52-200ne piece M52X2 32 20 38 6.5 60 89
30592-52-240ne piece M52X2 40 24 38 6.5 60 102

163



164

Ningbo YH Hydraulic Machinery Factory

R IE R R

Ningbo YH Hydraulic Machinery Factory

SAE 7%= 3000PS| —— E & #Ek
M SAE FLANGE 3000PSI FOR ONE OR

j 45°

_— TWO-WIRE INTERGRAL FITTING

SAE i£= 3000PS| — =&k
45° SAE FLANGE 3000PSI FOR ONE
OR TWO-WIRE INTERGRAL FITTING

e EERY fX& HOSE BORE R~ DIMENSIONS

re sE RS k& HOSE BORE R~ DIMENSIONS PART NO. FLANGE SIZE AFRWE DN | 4% 2 DASH C D L H

PART NO. FLANGE SIZE AFRAZE DN | 45 S DASH C D L 87341-08-080ne piece 1/2" 12 08 30.2 23.9 7 23

87311-08-080ne piece 1/2" 12 08 30.2 239 7 87341-12-120ne piece 3/4" 20 12 381 317 7 29

87311-12-120ne piece 3/4" 20 12 381 317 7 87341-16-160ne piece 1 25 16 444 38 8.2 30

87311-16-160ne piece 1" 25 16 444 38 8.2 87341-20-200ne piece 1.1/4" 32 20 50.8 43.2 8.2 34

87311-20-200ne piece 1.1/4" 32 20 50.8 43.2 8.2 87341-24-240ne piece 1.1/2" 40 24 60.3 50.3 8.2 42

87311-24-240ne piece 11/2" 40 24 60.3 50.3 8.2 87341-32-320ne piece 2" 50 32 714 62.2 9.8 49
87311-32-320ne piece 2" 50 32 714 62.2 9.8

D

SAE %= 3000PSI U= & &k

I} sAE FLANGE 3000PSI FOR FOUR-

5

7

ZLLLL

LEES

WIRE INTERGRAL FITTING

45° SAE %=X 3000PSI M= &k
45° SAE FLANGE 3000PSI FOR FOUR-
WIRE INTERGRAL FITTING

e —— & HOSE BORE R DIMENSIONS

e st & HOSE BORE eI DIMENSIONS PART NO. FLANGE SIZE |  /0fRp942 DN | #% S DASH C D L H

PART NO. FLANGE SIZE AFRAEDN | #55 DASH C D L 87342-08-08one piece 1/2" 12 08 30.2 239 7 23

87312-08-08one piece 1/2" 12 08 30.2 239 7 87342-12-120ne piece 3/4 20 12 81 | 317 / 29

87312-12-120ne piece 3/4" 20 12 381 317 7 87342-16-16one piece 1 25 16 444 38 8.2 30

87312-16-160ne piece T > 1 44 28 85 87342-20-200ne piece L4 32 20 508 | 432 8.2 34

§7312.20-200ne piece L1/ 2 >0 5038 132 5o 87342-24-240ne piece 11/2 40 24 60.3 503 8.2 42

87312-24-240ne piece 1.1/2" 40 24 60.3 50.3 82 87342-32-320ne piece 2 >0 32 /14 622 98 49
87312-32-320ne piece 2" 50 32 714 62.2 9.8

165



Ningbo YH Hydraulic Machinery Factory

SAE %2 6000PS| —— & iEsk
SAE FLANGE 6000PSI FOR ONE OR
TWO-WIRE INTERGRAL FITTING

L

L 90° SAE £ 3000PS| —— B iEsL %
90° SAE FLANGE 3000PSI FOR ONE
OR TWO-WIRE INTERGRAL FITTING

1/

=~

I’”’II!TIIII 7z

e 77077707722

D
C re SEERS & HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE A\FRAI4Z DN ¥r = DASH C D L
— 87611-08-080ne piece 1/2" 12 08 31.8 239 7.9
s RERY & HOSE BORE R DIMENSIONS 87611-12-120ne piece 3/4" 20 12 413 317 8.9
PART NO. FLANGE SIZE | L#Rp9#2 DN | #% S DASH c D L H 87611-16-160ne piece 1 25 16 476 38 96
87391-08-08one piece 1/2" 12 08 30.2 239 7 47 87611-20-200ne piece 1.1/4" 32 20 54 43.6 10.4
87391-12-120ne piece 3/4" 20 12 381 317 7 59.2 87611-24-240ne piece 1.1/2" 40 24 63.5 50.8 12.7
87391-16-160ne piece 1 25 16 44.4 38 8.2 735 87611-32-320ne piece 2" 50 32 79.4 66.5 12.7
87391-20-200ne piece 1.1/4" 32 20 50.8 432 8.2 83.5
87391-24-240ne piece 1.1/2" 40 24 60.3 50.3 8.2 97.2
87391-32-320ne piece 2" 50 32 714 62.2 9.8 118 87¢
87! L
- SAE 5= 6000PS| B4 & N = & ik
r = 'h SAE FLANGE 6000PSI FOR SPIRAL HOSE
= | ) i |
_ 1I 5/ . . 7 7z7 FOUR-WIRE INTERGRAL FITTING
L
/ 90° SAE 2 3000PSI MU= &k

. 90° SAE FLANGE 3000PSI FOR SPIRAL
B HOSE FOUR-WIRE INTERGRAL FITTING promy o—— I& HOSE BORE = DIMENSIONS
C | PART NO. FLANGE SIZE | )\fRp942 DN | #% 2 DASH C D L

87612-08-080one piece 1/2" 12 08 318 239 7.9

87612-12-120ne piece 3/4" 20 12 41.3 31.7 8.9

prem, S— Bz HOSE BORE R<F DIMENSIONS 87612-16-160ne p?ece 1" : 25 16 47.6 38 9.6

PART NO. FLANGE SIZE | /\fRW#Z DN | #5 S DASH C D L H 87612-20-200ne piece 1.1/4 32 20 54 43.6 10.4

- - 87612-24-240ne piece 11/2" 40 24 63.5 50.8 12.7

§7392-08-08one piece L2 L2 08 02 | 239 U A7 87612-32-320ne piece 2" 50 32 79.4 66.5 12.7
87392-12-120ne piece 3/4" 20 12 38.1 317 7 59.2
87392-16-160ne piece 1" 25 16 444 38 8.2 735
87392-20-200ne piece 1.1/4" 32 20 50.8 43.2 8.2 83.5
87392-24-240ne piece 1.1/2" 40 24 60.3 50.3 8.2 97.2
87392-32-320ne piece 2" 50 32 714 62.2 9.8 118

167



168

W) EERE

/' Ningbo YH Hydraulic Machinery Factory

45° SAE %2 6000PS| —— B &k
45° SAE FLANGE 6000PSI FOR ONE
OR TWO-WIRE INTERGRAL FITTING

re EE R & HOSE BORE < DIMENSIONS
PART NO. FLANGE SIZE |  7\#Rpg42 DN | 45 S DASH C D L H
87641-08-08one piece 172" 12 08 318 239 7.9 248
87641-12-120ne piece 3/4" 20 12 413 317 8.9 32
87641-16-160ne piece 1 25 16 476 38 9.6 34
87641-20-200ne piece 1.1/4" 32 20 54 43.6 10.4 39.5
87641-24-240ne piece 1.1/2" 40 24 63.5 50.8 12.7 45.2
87641-32-320ne piece 2" 50 32 79.4 66.5 127 52.8
45° SAE %= 6000PSI| L& M
BiEEsL
45° SAE FLANGE 6000PSI FOR
SPIRAL HOSE FOUR-WIRE
INTERGRAL FITTING
re e R & HOSE BORE R~ DIMENSIONS
PART NO FLANGESIZE | \#jpg#2 DN | #5 5 DASH c D L H
87642-08-08one piece 172" 12 08 31.8 239 7.9 24.8
87642-12-120ne piece 3/4" 20 12 413 31.7 8.9 32
87642-16-160ne piece 1 25 16 47.6 38 9.6 34
87642-20-200ne piece 1.1/4" 32 20 54 43.6 10.4 39,5
87642-24-240ne piece 1.1/2" 40 24 63.5 50.8 12.7 45.2
87642-32-320ne piece 2" 50 32 79.4 66.5 12.7 52.8

A W Y A
\ 4
\ V 4

A

) ERERE

/ / £ Ningbo YH Hydraulic Machinery Factory

:

90° SAE A= 6000PSI —Z Ei&EA#Ek

90° SAE FLANGE 6000PSI FOR ONE
OR TWO-WIRE INTERGRAL FITTING

e R Je& HOSE BORE R DIMENSIONS
PART NO. FLANGE SIZE | \#jpg#2 DN | #% 5 DASH C D L H

87691-08-080ne piece 1/2" 12 08 318 239 7.9 49
87691-12-120ne piece 3/4" 20 12 413 317 8.9 639
87691-16-160ne piece 1" 25 16 476 38 9.6 76
87691-20-200ne piece 1.1/4" 32 20 54 436 | 104 | 879
87691-24-240ne piece 1.1/2" 40 24 63.5 508 | 127 | 103
87691-32-320ne piece 2" 50 32 794 665 | 127 | 124

“&7

I

90° SAE %= 6000PS| fE4% I =R & A

90° SAE FLANGE 6000PSI FOR SPIRAL
HOSE FOUR-WIRE INTERGRAL FITTING

C
re sk R & HOSE BORE R} DIMENSIONS

PART NO. FLANGE SIZE | .\#rpgf2 DN | 4% 5 DASH C D L H
87692-08-080one piece 172" 12 08 318 239 7.9 49
87692-12-120ne piece 3/4" 20 12 41.3 317 8.9 63.9
87692-16-160ne piece 1" 25 16 47.6 38 9.6 76
87692-20-200ne piece 1.1/4" 32 20 54 43.6 10.4 87.9
87692-24-240ne piece 1.1/2" 40 24 63.5 50.8 127 103
87692-32-320ne piece 2" 50 32 79.4 66.5 12.7 124

169





